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Direction : (Question No. 1 and 2) In 

the following questions some words are 

given which are in the given order. 

These words have to be arranged in a 

systematic order and then choose the 

correct option from given four options, 

which shows meaningful order of words. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 1    ,oa ,oa ,oa ,oa 2½½½½ fuEu iz’uksa 
esa dqN ‘kCn gSa tks fd vO;ofLFkr Øe esa 
gSaA bu ‘kCnksa dks O;ofLFkr Øe esa ltkuk gS 
rFkk mlds ckn fn, pkj fodYiksa esa ls lgh 
fodYi dks pquuk gS] tks ‘kCnksa dk lkFkZd 
Øe n’kkZ,A 

1. a. Flower, b. Leaf, c. Trunk, 

d. Root, e. Fruit 

(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 

  1. a. Qwy] b. iÙkk] c. ruk] d. tM+] 
e. Qy 

(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 

2. a. District, b. Village, c. Country, 

d. State, e. City 

(1) b→e→a→d→c 

(2) d→c→a→b→e 

(3) b→a→d→e→c 

(4) b→a→e→d→c 

  
2. a. ftyk] b. xk¡o] c. ns’k] d. jkT;] 

e. ‘kgj 

(1) b→e→a→d→c 

(2) d→c→a→b→e 

(3) b→a→d→e→c 

(4) b→a→e→d→c 

3. National Dairy Research Institute 

is situated in which District of 

Haryana ? 

(1) Karnal (2) Kurukshetra 

(3) Bhiwani (4) Rohtak 

  
3. jk”Vªh; Ms;jh vuqla/kku laLFkku 

gfj;k.kk ds fdl ftys esa fLFkr gS \ 
 

(1) djuky (2) dq:{ks= 

(3) fHkokuh (4) jksgrd 

Direction : (Question No. 4 and 5) In 

the following Question, which one of the 

given words options is correct in the 

order of the dictionary ? 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 4    ,,,,ooooaaaa    5½½½½    fuEu iz’uksa 
esa fn, x, ‘kCnksa ds fodYiksa esa ls dkSu&lk 
fodYi ‘kCndks”k esa Øekuqlkj gS \ 

4. 1. Calm, 2. Calcium, 3. Calorie, 

4. Cabe 

(1) 4, 3, 2, 1 (2) 4, 2, 3, 1  

(3) 4, 2, 1, 3 (4) 4, 3, 1, 2 

  
4. 1. Calm, 2. Calcium, 3. Calorie, 

4. Cabe 

(1) 4, 3, 2, 1 (2) 4, 2, 3, 1  

(3) 4, 2, 1, 3 (4) 4, 3, 1, 2 
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5. 1. Exhaust, 2. Excuse, 3. Exhibit, 

4. Exempt  

(1) 4, 2, 3, 1 (2) 2, 4, 1, 3  

(3) 3, 4, 1, 2 (4) 2, 4, 3, 1 

  5. 1. Exhaust, 2. Excuse, 3. Exhibit, 

4. Exempt  

(1) 4, 2, 3, 1 (2) 2, 4, 1, 3  

(3) 3, 4, 1, 2 (4) 2, 4, 3, 1 

6. Who is known as Missile Man ? 

 

(1) Dr. A. P. J. Abdul Kalam 

(2) Abdul Gaffar 

(3) Morarji Desai 

(4) Atal Bihari Vajpai 

  6. felkby eSu ds uke ls fdls tkuk 
tkrk gS \ 
(1) MkW0 ,0 ih0 ts0 vCnqy dyke 
(2) vCnqy x¶Qkj 
(3) eksjkjth nslkbZ 
(4) vVy fcgkjh oktis;h 

7. Match the flora/vegetation and 

fauna/animals : 

a. Bamboo (i) Vegetation 

b. Flowers (ii) Animals 

c. Yak (iii) Flora 

d. Wild goats (iv) Fauna 

(1) a-(iii), b-(i), c-(ii), d-(iv) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

  7. ouLifr@isM+-ikS/ks vkSj tho-tUrq@ 
tkuojksa dk feyku djsa % 
a. ckal  (i) isM+-ikS/ks 
b. Qwy  (ii) tkuojksa 
c. ;kd  (iii) ouLifr 
d. taxyh cdfj;k¡ (iv) tho-tUrq 
(1) a-(iii), b-(i), c-(ii), d-(iv) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

8. Match the following with their 

appropriate relation : 

 Column–A  Column–B 

a. Morni Hills (i) Wild life 

Sancturary 

b. Dhosi Hill (ii) Tourism 

c. Kapal Mochan (iii) Herbs 

d.  Nahar (iv) Cultural 

Heritage 

(1) a-(ii), b-(iii), c-(iv), d-(i) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

  8. fuEufyf[kr dks muds mfpr laca/k ds 
lkFk lqesfyr djsa % 

    LrEHk&vLrEHk&vLrEHk&vLrEHk&v  LrEHk&cLrEHk&cLrEHk&cLrEHk&c    

a. eksjuh dh igkfM;ka (i) oU; tho 
  vH;kj.k 

b. <kslh igkM+h (ii) i;ZVu 

c. diky ekspu (iii) tM+h cwVh 

d. ukgj (iv) lkaLd`frd 
  fojklr 

(1) a-(ii), b-(iii), c-(iv), d-(i) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 
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9. Amitoj and her three friends were 

working with even and odd 

numbers. They observed that 

there are patterns when we add 

even numbers or odd numbers. 

They made the following claims : 

Rama : When we add two odd 

numbers, we always get an odd 

number.  

Amitoj : When we add two odd 

numbers, we may either get an 

odd number or an even number. 

 

Rakhi : When we add two odd 

numbers, we always get an even 

number. 

Shekhar : When we add two odd 

numbers, we always get a prime 

number. 

Whose claims is correct ? 

(1) Rama’s (2) Amitoj’s 

(3) Rakhi’s (4) Shekhar’s 

  9. vferkst vkSj mlds rhu nksLr le 
vkSj fo”ke la[;kvksa ds lkFk dke 
dj jgs FksA mUgksaus ns[kk fd tc os 
le la[;k,¡ ;k fo”ke la[;k,¡ tksM+rs 
gSa] rks dqN iSVuZ fn[krs gSaA mUgkasus 
fuEufyf[kr nkos fd, % 

jek % tc ge nks fo”ke la[;kvksa dks 
tksM+rs gSa] rks ges lnSo ,d fo”ke 
la[;k izkIr gksrh gSA 

vferkst % tc ge nks fo”ke 
la[;kvksa dks tksM+rs gSa] rks gesa ;k rks 
fo”ke la[;k ;k le la[;k izkIr gks 
ldrh gSA  

jk[kh % tc ge nks fo”ke la[;kvksa 
dks tksM+rs gSa] rks gesa ges’kk ,d le 
la[;k izkIr gksrh gSA 

‘ks[kj % tc ge nks fo”ke la[;kvksa 
dks tksM+rs gSa] rks gesa lnSo ,d 
vHkkT; la[;k izkIr gksrh gSA 

fdldk nkok lghlghlghlgh gS \ 

(1) jek dk (2) vferkst dk 

(3) jk[kh dk (4) ‘ks[kj dk 

10. Who was the father of Green 

Revolution ? 

(1) C. V. Raman 

(2) A. P. J. Abdul Kalam 

(3) Rakesh Sharma 

(4) M. S. Swaminathan 

  10. gfjr ØkfUr ds tud dkSu Fks \ 
 

(1) lh0 oh0 jeu  

(2) ,0 ih0 ts0 vCnqy dyke 

(3) jkds’k ‘kekZ 

(4) ,e0 ,l0 LokehukFku 
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Direction : (Question No. 1

In the following questions, some figures 

forming a series are given and from the

alternative, select one such figure

will continue the series. 

11. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

12. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

13. Where is Kalpana Chawla 

Planetarium situated 

(1) Hisar (2) Karnal

(3) Kurukshetra(4) Fatehabad

14. Who was the first women Astronaut 

in India ? 

(1) Kalpana Chawla 

(2) Bachhendri Pal 

(3) Sunita Williams  

(4) Geeta Phogat 

( 6 ) 

 

Direction : (Question No. 11 and 12) 

questions, some figures 

series are given and from the 

one such figure which 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
iz’uksa esa ,d Ük`a[kyk cukrh gqbZ
vkd`fr;k¡ nh xbZ gSa rFkk
esa ls ,d ,slh vkd`fr dk p;u dhft,] 
tks bl Üka`[kyk dks tkjh j[ksaA

 

 

 

  11. iz’u vkd`fr;k¡

(1)

  

(3)

 

 

 

 

  12. iz’u vkd`fr;k¡

(1)

  

(3)

 

Where is Kalpana Chawla 

 ? 

Karnal 

Fatehabad 

  13. dYiuk pkoyk 
gS \ 
(1) fglkj 
(3) dq:{ks= 

Who was the first women Astronaut 

 

 

  14. Hkkjr ns’k dh igyh varfj{k ;k=h 
dkSu Fkh \ 
(1) dYiuk pkoyk
(2) cNsanzh iky
(3) lquhrk fofy;El
(4) xhrk QksxkV

 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 11    ,o,o,o,oaaaa    12½½½½ fuEu 
a[kyk cukrh gqbZ dqN 

vkd`fr;k¡ nh xbZ gSa rFkk oSdfYid vkd`fr;ksa 
vkd`fr dk p;u dhft,] 

a`[kyk dks tkjh j[ksaA 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  
iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  
dYiuk pkoyk IySusVsfj;e dgk¡ fLFkr 

(2) djuky 
(4) Qrsgkckn 

Hkkjr ns’k dh igyh varfj{k ;k=h 

dYiuk pkoyk  
cNsanzh iky 
lquhrk fofy;El 

xkV 
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15. In which year Kalpana Chawla

was selected as an astronaut in

‘NASA’ ? 

(1) 1993  (2) 1994

(3) 1995  (4) 1996

16. If 5th of a month is Friday, then

what day of the week will it be on

15th of that month ? 

(1) Tuesday  (2) Monday

(3) Sunday (4) Wednesday

17. Reena is making 8 Necklaces by

stringing beads together. To make

one Necklace, she will repeat the

pattern of beads four 

(patterns is shown in the picture). 

How many black and white beads

will be needed to make all eight

Necklaces ? 

(1) Black 10 and white 4

(2) Black 40 and white 16

(3) Black 320 and white 128

(4) Black 100 and white 40

18. If Raghav is seventh from the back

in a row of 25 students. What will

be the Raghav’s position from the

front in the row ? 

(1) 19th (2) 18th

(3) 17th (4) 32

19. Which disease is caused by 

polluted water ? 

(1) Hepatitis B 

(2) Lung Cancer 

(3) Asthma 

(4) Pneumonia 

( 7 ) 

 

In which year Kalpana Chawla 

was selected as an astronaut in 

1994 

1996 

  15. dYiuk pkoyk dk 
;k=k ds fy, p;u fdl o”kZ gqvk
 
(1) 1993  

(3) 1995  

If 5th of a month is Friday, then 

what day of the week will it be on 

 

Monday 

Wednesday 

  16. fdlh eghus dh 
gS] rks ml eghus dh 
lIrkg dk dkSu&lk fnu gksxk
(1) eaxyokj 
(3) jfookj 

Reena is making 8 Necklaces by 

stringing beads together. To make 

one Necklace, she will repeat the 

pattern of beads four times 

(patterns is shown in the picture).  

How many black and white beads 

will be needed to make all eight 

 
Black 10 and white 4 

Black 40 and white 16 

Black 320 and white 128 

Black 100 and white 40 

  17. jhuk eksrh fijks
cuk jgh gSA ,d gkj cukus ds fy,
og fp= esa fn[kk, x, vuqlkj]
eksfr;ksa ds iSVuZ dks pkj ckj
nksgjk,xhA lHkh vkB gkj cukus ds
fy, fdrus dkys vkSj lQsn eudks
dh vko’;drk gksxh
 

(1) dkys 10 vkSj lQsn 
(2) dkys 240 
(3) dkys 320 
(4) dkys 100 

If Raghav is seventh from the back 

in a row of 25 students. What will 

be the Raghav’s position from the 

18th 

32nd 

  18. 25 Nk=ksa dh iafDr esa jk?ko dk ihNs
ls 7ok¡ LFkku gS] rks jk?ko dk vkxs
ls dkSu&lk LFkku gksxk
 
(1) 19ok¡ 
(3) 17ok¡ 

Which disease is caused by   19. xans ikuh ls gksus okyh chekjh 
dkSu&lh gS \ 
(1) gsisVkbfVl ch
(2) QsQM+ksa dk dSalj
(3) nek 
(4) fueksfu;k 

A 

P. T. O. 

dYiuk pkoyk dk ^uklk* esa varfj{k 
;k=k ds fy, p;u fdl o”kZ gqvk \ 

(2) 1994 

(4) 1996 

fdlh eghus dh 5 rkjh[k dks ‘kqØokj 
gS] rks ml eghus dh 15 rkjh[k dks 
lIrkg dk dkSu&lk fnu gksxk \ 

 (2) lkseokj 
(4) cq/kokj 

jhuk eksrh fijksdj eksfr;ksa ds 8 gkj 
cuk jgh gSA ,d gkj cukus ds fy, 
og fp= esa fn[kk, x, vuqlkj] 
eksfr;ksa ds iSVuZ dks pkj ckj 

lHkh vkB gkj cukus ds 
fy, fdrus dkys vkSj lQsn eudksa 
dh vko’;drk gksxh \ 

 
vkSj lQsn 4  
 vkSj lQsn 96 
 vkSj lQsn 128 
 vkSj lQsn 40 

Nk=ksa dh iafDr esa jk?ko dk ihNs 
ok¡ LFkku gS] rks jk?ko dk vkxs 

ls dkSu&lk LFkku gksxk \ 

(2) 18ok¡ 
(4) 32ok¡ 

xans ikuh ls gksus okyh chekjh 
 

fVl ch 
QsQM+ksa dk dSalj 
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20. Sohan leaves his house and start

walking towards East. After

walking some distance, he turns

right and starts walking. In which

direction is he going now

(1) North  (2) West

(3) South (4) East

21. Each shape is made up of equal

squares. Area of each square is 

1 cm square. Observe the shapes

carefully and find which of the

statement written below is 

correct ? 

(1) Each shapes has area equal to

6 cm sq. 

(2) Each shape has perimeter

equal to 12 cm. 

(3) Shapes with equal areas have

equal perimeters. 

(4) Shapes with equal areas may

or may not 

perimeters. 

22. A person has 15 cows

chickens. If the number of legs

(cows and chickens) is 84. How

many chickens does he have

(1) 24 (2) 12

(3) 42  (4) 30

( 8 ) 

 

Sohan leaves his house and start 

walking towards East. After 

walking some distance, he turns 

right and starts walking. In which 

direction is he going now ? 

West 

East  

  20. lksgu vius ?kj ls fudydj iwoZ dh
vksj pyuk izkjaHk djrk gSA dqN nwj
pyus ds ckn og nk,¡ eqM+dj pyuk
izkajHk djrk gS
esa tk jgk gS \

(1) mÙkj 

(3) nf{k.k 

Each shape is made up of equal 

each square is 

cm square. Observe the shapes 

carefully and find which of the 

statement written below is 

 

Each shapes has area equal to 

Each shape has perimeter 

Shapes with equal areas have 

 

Shapes with equal areas may 

 have equal 

  21. uhps nh xbZ vkd`fr leku oxks±
cuh gSA izR;sd oxZ dk {ks=Qy 
lseh gSA vkd`fr;ksa dks /;ku ls ns[ks
vkSj Kkr djsa fd uhps fy[ks x,
dFkuksa esa ls dkSu
 

(1) izR;sd vkd`fr dk {ks=Qy 
lseh gSA 

(2) izR;sd vkd`fr dk ifjeki 
lseh gSA 

(3) leku {ks=Qy okyh vkd`fr;ksa ds 
ifjeki leku gksrs gS

(4) leku {ks=Qy okyh vkd`fr;ksa ds
ifjeki leku gks Hkh ldrs gS
vkSj ugha Hkh gks

A person has 15 cows and some 

chickens. If the number of legs 

(cows and chickens) is 84. How 

many chickens does he have ? 

12 

30 

  22. ,d O;fDr ds ikl 
eqxsZ gSaA ;fn iSjksa ¼xk;sa vkSj eqxsZ½ dh
la[;k 84 gS] rks mlds ikl
eqxsZ gSa \ 

(1) 24 

(3) 42  

 

lksgu vius ?kj ls fudydj iwoZ dh 
vksj pyuk izkjaHk djrk gSA dqN nwj 
pyus ds ckn og nk,¡ eqM+dj pyuk 
izkajHk djrk gSA vc og fdl fn’kk 

\ 

(2) if’pe 

(4) iwoZ 

uhps nh xbZ vkd`fr leku oxks± ls 
cuh gSA izR;sd oxZ dk {ks=Qy 1 oxZ 

gSA vkd`fr;ksa dks /;ku ls ns[ksa 
vkSj Kkr djsa fd uhps fy[ks x, 
dFkuksa esa ls dkSu&lk lghlghlghlgh gSa \ 

 
izR;sd vkd`fr dk {ks=Qy 6 oxZ 

izR;sd vkd`fr dk ifjeki 12 

leku {ks=Qy okyh vkd`fr;ksa ds 
leku gksrs gSaA 

leku {ks=Qy okyh vkd`fr;ksa ds 
leku gks Hkh ldrs gSa 

vkSj ugha Hkh gks ldrsA 

,d O;fDr ds ikl 15 xk;sa vkSj dqN 
A ;fn iSjksa ¼xk;sa vkSj eqxsZ½ dh 

gS] rks mlds ikl fdrus 

(2) 12 

(4) 30 



  ( 9 ) A 

MSMSS/6–2023  P. T. O. 

Direction : (Question No. 23 to 26) In 

these questions a number/letter series is 

given. In which one term is missing. 

Find the missing number/letter, which 

when placed at the place of question 

mark (?), will complete the series. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 23 ls ls ls ls 26½½½½ bu iz’uksa 
esa ,d la[;k@v{kj Ük`a[kyk nh xbZ gS 
ftlesa ,d in yqIr gSA yqIr la[;k@v{kj 
Kkr djsa] tks iz’u fpg~u ¼\½ ds LFkku ij 
j[kus ij Ükà[kyk dks iw.kZ djrk gksA 

23. 8, 11, 15, 20, ? 

(1) 25 (2) 26 

(3) 27  (4) 23 

  23. 8, 11, 15, 20, ? 

(1) 25 (2) 26 

(3) 27  (4) 23 

24. 17, 22, 27, 32, ? 

(1) 35 (2) 36 

(3) 38  (4) 37 

  24. 17, 22, 27, 32, ? 

(1) 35 (2) 36 

(3) 38  (4) 37 

25. A, C, F, J, ? 

(1) N (2) O 

(3) M  (4) K 

  25. A, C, F, J, ? 

(1) N (2) O 

(3) M  (4) K 

26. EFG, IJK, MNO 

(1) RST (2) QSR 

(3) QRS  (4) PQR 

  26. EFG, IJK, MNO 

(1) RST (2) QSR 

(3) QRS  (4) PQR 

27. Which place receives the highest 

rainfall in the world ? 

(1) Manali (2) Sikkim 

(3) Shimla (4) Mawsynram 

  27. fo’o esa lcls vf/kd o”kkZ dgk¡ gksrh 
gS \ 

(1) eukyh (2) flfDde 

(3) f’keyk (4) ekSflujke 

28. If FARMER is written as 

REMRAF in a certain code 

language, how will TRACTOR be 

written in that code language ? 

(1) RTOCRAT (2) ROCTATR 

(3) ROTACTR (4) ROTCART 

  28. ;fn fdlh lkadsfrd Hkk”kk esa 
FARMER dks REMRAF fy[kk 
tk,] rks mlh lkadsfrd Hkk”kk esa 
TRACTOR dks dSls fy[kk tk,xk \ 

(1) RTOCRAT (2) ROCTATR 

(3) ROTACTR (4) ROTCART 
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Direction : (Question No. 

The given figure (x) is followed by four

figures (1), (2), (3) and (4) such that (x) is

embedded in one of them. Trace out the

correct alternative. 

29. 

 

         (x) 

(1)

   

(2)

 

(3)

  

(4)

 

30. 

 

       (x) 

(1)

   

(2)

 

(3)

  

(4)

 

( 10 ) 

 

Direction : (Question No. 29 and 30) 

The given figure (x) is followed by four 

figures (1), (2), (3) and (4) such that (x) is 

embedded in one of them. Trace out the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 

fp= (x) pkj fp=ksa (1), (2), (3)

ls ,d dk ifj.kke gS] tks fd buesa ls

fdlh ,d esa fufgr gSA 

igpku djsaA 

 

 

  
29. 

 

         (x) 

(1)

  

(3)

 

 

 

  
30. 

 

       (x) 

(1)

  

(3)

 

 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 29    ,o,o,o,oaaaa    30½½½½ fn;k x;k 

(1), (2), (3) vkSj (4) esa 

ls ,d dk ifj.kke gS] tks fd buesa ls 

fdlh ,d esa fufgr gSA lghlghlghlgh fodYi dh 

 

 

(2)

  

 

(4)

  

 

(2)

  

 

(4)
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31. How many triangles are in the 

given figure ? 

(1) 4 (2) 6

(3) 7 (4) 5

32. Who was the first Law Minister in 

Independent India ? 

(1) Bhimrao Ambedkar

(2) Sardar Vallabhbh

(3) Mani Shankar Aiyar 

(4) Maulana  Abul Kalam

33. Egrets are solitary birds. Which of

the statement(s) is/are 

relation to Egrets ? 

i. They site on buffaloes and

picks out worms from

the hair on their

eating. 

ii. Hang around cattle and are 

very beneficial for cattle

farmers. 

iii. They sleep in water only.

(1) Only ii (2) Only i and ii

(3) All i, ii, iii (4) Only ii and iii

( 11 ) 

 

How many triangles are in the 

 

6 

5 

  31. nh xbZ vkd`fr 
fdruh gS \ 

(1) 4 

(3) 7 

Who was the first Law Minister in 

Bhimrao Ambedkar 

hai Patel 

Mani Shankar Aiyar  

Maulana  Abul Kalam 

  32. LorU= Hkkjr ds izFke dkuwu eU=h 
dkSu Fks \ 

(1) Hkhejko vEcsMdj

(2) ljnkj oYyHk HkkbZ iVsy

(3) ef.k’kadj v¸;j

(4) ekSykuk vcqy dyke

Egrets are solitary birds. Which of 

/are true in 

They site on buffaloes and 

worms from beneath 

the hair on their skin for 

Hang around cattle and are 

beneficial for cattle 

They sleep in water only. 

Only i and ii 

Only ii and iii 

  33. ,xzsV~l ,dkUr esa jgus okyk i{kh gSA 
,xzsV~l ds laca/k esa dkSu
lR;lR;lR;lR; gS \ 

i. os vdlj HkSalks
[kkus ds 
ckyksa ds uhps ls
gSaA 

ii. eosf’k;ksa ds pkjksa vks
i’kqikydksa ds fy, cgqr Qk;nsean
gSaA 

iii. os ikuh esa gh lksrs gSaA

(1) dsoy ii 

(3) lHkh i, ii, iii

A 

P. T. O. 

nh xbZ vkd`fr esa f=Hkqtksa dh la[;k 

 

(2) 6 

(4) 5 

kjr ds izFke dkuwu eU=h 

Hkhejko vEcsMdj 

ljnkj oYyHk HkkbZ iVsy 

ef.k’kadj v¸;j 

ekSykuk vcqy dyke 

~l ,dkUr esa jgus okyk i{kh gSA 
,xzsV~l ds laca/k esa dkSu&lk dFku 

os vdlj HkSalksa ij cSBrs gSa vkSj 
 fy, mudh Ropk ij 

ckyksa ds uhps ls dhM+s fudkyrs 

eosf’k;ksa ds pkjksa vksj ?kwers gSa o 
i’kqikydksa ds fy, cgqr Qk;nsean 

os ikuh esa gh lksrs gSaA 

 (2) dsoy i vkSj ii 

i, ii, iii (4) dsoy ii vkSj iii 
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34. Identify the insectivorous plant

given in the picture and choose the

appropriate option : 

 

(1) Pitcher Plant 

(2) Venus Flytrap 

(3) Amarbel 

(4) Lotus Flower 

35. Which of the following is the main 

reason behind Tsunami

(1) Volcano (2) Earthquake

(3) Cyclone (4) Anticyclone

36. Who discovered the mosquito of 

Malaria ? 

(1) Ronald  Ross  

(2) Kalpana Chawala

(3) Bachendri Pal 

(4) Bhimrao Ambedkar

37. Sahil took a bus at 7:40 a.m. from

Delhi. He reached Haridwar after 

6 hours 25 minutes. At what time

did he reach Haridwar

(1) 1:05 a.m. (2) 2:05 

(3) 2:05 p.m. (4) 1:15 p.m.

( 12 ) 

 

Identify the insectivorous plant 

given in the picture and choose the 

 

  34. fp= esa fn;s x, dhV
igpkudj mfpr fodYi pqus
 

(1) ?kVi.khZ 

(2) ohul ¶ykbZVªSi

(3) vejcsy 

(4) dey dk Qwy

Which of the following is the main 

reason behind Tsunami ? 

Earthquake 

Anticyclone 

  35. fuEufyf[kr esa ls lqukeh dk eq[; 
dkj.k dkSu&lk gS

(1) Tokykeq[kh 

(3) pØokr 

Who discovered the mosquito of 

Kalpana Chawala 

Bhimrao Ambedkar 

  36. eysfj;k ds ePNj dh [kkst fdlus 
dh Fkh \ 

(1) jksukYM jkWl

(2) dYiuk pkoyk

(3) cNsanzh iky

(4) Hkhejko vEcsMdj

Sahil took a bus at 7:40 a.m. from 

He reached Haridwar after 

hours 25 minutes. At what time 

did he reach Haridwar ? 

2:05 a.m. 

1:15 p.m. 

  37. lkfgy us izkr% 
cl yhA 6 ?kaVs 
gfj}kj igq¡pkA og fdrus cts
gfj}kj igq¡pk 

(1) 1:05 a.m. 

(3) 2:05 p.m. 

 

fp= esa fn;s x, dhVHk{kh ikS/ks dks 
igpkudj mfpr fodYi pqusa % 

 

ohul ¶ykbZVªSi 

dey dk Qwy 

fuEufyf[kr esa ls lqukeh dk eq[; 
lk gS \ 

 (2) HkwdEi 

(4) izfrpØokr 

ds ePNj dh [kkst fdlus 

jksukYM jkWl 

dYiuk pkoyk 

cNsanzh iky 

Hkhejko vEcsMdj 

lkfgy us izkr% 7:40 ij fnYyh ls 
?kaVs 25 feuV ds ckn og 
pkA og fdrus cts 
 \ 

 (2) 2:05 a.m. 

 (4) 1:15 p.m. 
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38. Observe the pattern and fill in the 

blank : 

(1) 19 (2) 21

(3) 25 (4) 33

39. Najma’s mother used her own

method of multiplication to

multiply 18 by 5 and told 

broke 18 into 10 and 8. Now

multiplying 8 by 5, I got 40 and

10 × 5 = 50. Then I added 50 and

40 and got 90. 

Which of the following pictures 

represents the way she did it

(1)
   

(2)

  

(3)

  

(4)

  

40. In which year was Dr. Bhimrao 

Ambedkar Born ? 

(1) 14 May, 1891 AD 

(2) 14 June, 1891 AD 

(3) 14 April, 1891 AD

(4) 14 July, 1891 AD 

( 13 ) 

 

Observe the pattern and fill in the 

 
21 

33 

  
38. fn, x, iSVuZ dks ns[krs gq, fjDr 

LFkku Hkfj, % 

(1) 19 

(3) 25 

Najma’s mother used her own 

method of multiplication to 

multiply 18 by 5 and told – “First I 

broke 18 into 10 and 8. Now 

I got 40 and 

50. Then I added 50 and 

following pictures 

way she did it ? 

 

 

 

  39. utek dh ekrk th us 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k &
ßigys eSaus 18 
vc 8 dks 5 
40 vkSj 10 ×

vkSj 40 dks tksM+ fn;k] rks 
buesa ls dkSu
fd;s x, rjhds dks n’kkZ jgk gS

(1)
 

(2)

 

(3)

 

(4)

 

was Dr. Bhimrao 

 

 

1891 AD 

 

  40. MkW0 Hkhejko vEcsMdj dk tUe fdl
o”kZ gqvk \ 
(1) 14 ebZ] 1891
(2) 14 twu] 1891
(3) 14 vizSy] 
(4) 14 tqykbZ]

A 

P. T. O. 

fn, x, iSVuZ dks ns[krs gq, fjDr 
 

 
(2) 21 

(4) 33 
utek dh ekrk th us 18 dks 5 ls 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 

 dks 10 vkSj 8 esa rksM+k 
 ls xq.kk fd;k] rks vk;k 
× 5 = 50, fQj eSaus 50 

dks tksM+ fn;k] rks 90 vk;kA  
buesa ls dkSu&lk fp= muds }kjk 
fd;s x, rjhds dks n’kkZ jgk gS \ 

  

 

 

 
Hkhejko vEcsMdj dk tUe fdl 

1891 bZ0 
1891 bZ0 
 1891 bZ0 
] 1891 bZ0 



A  

MSMSS/6–2023 

Direction : (Question No. 

the following questions a 

number is given. Select the 

resembles the mirror image

question figure/word/number.

41. 

 

(1)
   

(2)
 

(3)
  

(4)
 

42. 

 

(1)
   

(2)
  

(3)
  

(4)
  

43. 

 

(1)

   

(2)

 

(3)

  

(4)

 

( 14 ) 

 

Direction : (Question No. 41 to 44) In 

 figure/word/ 

 option which 

resembles the mirror image of the 

question figure/word/number. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa vkd`fr@
gSA vki ml fodYi dk p;u djsa tks iz’u
vkd`fr@‘kCn@la[;k ds niZ.k izfrfcac
fn[krk gSA 

 

 

  41. 

(1)
  

(3)
 

  42. 

(1)
  

(2)
 

(3)
 

(4)
 

 

 

  43. 

(1)

  

(3)

 

 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 41    lslslsls    44½½½½ fuEu fn, 
vkd`fr@ ’kCn@la[;k nh xbZ 
fodYi dk p;u djsa tks iz’u 

vkd`fr@‘kCn@la[;k ds niZ.k izfrfcac tSlk 

 

 
(2)

  

 
(4)

  

 

 

 

 

 

 

 

(2)

  

 

(4)
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44. 

 

(1)

   

(2)

 

(3)

  

(4)

 

45. How many cubes are there in the 

given figure ? 

(1) 24 (2) 46

(3) 48 (4) 28

46. Shama has 5 coins with her. The

coins are either of ` 1, 

She has each type of the three 

coins denominations. What is the

amount of money that she cannot

have ? 

(1) ` 15 (2) `

(3) ` 10 (4) `

( 15 ) 

 

 

 

  44. 

(1)

  

(3)

 

How many cubes are there in the 

 

46 

28 

  45. nh xbZ vkd`fr esa fdrus ?ku gSa
 

(1) 24 

(3) 48 

Shama has 5 coins with her. The 

1, ` 2 or ` 5. 

has each type of the three 

denominations. What is the 

amount of money that she cannot 

` 12 

` 13 

  46. ‘kek ds ikl 
#i;s] 2 #i;s ;k 
mlds ikl rhuks
bues ls dkSu&lh jkf’k mlds ikl
ugha gks ldrh 
 

(1) ` 15 

(3) ` 10 

A 

P. T. O. 

 

 

(2)

  

 

(4)

  

nh xbZ vkd`fr esa fdrus ?ku gSa \ 

 

(2) 46 

(4) 28 

‘kek ds ikl 5 flDds gSaA flDds 1 
#i;s ;k 5 #i;s ds gSaA 

mlds ikl rhuksa ewY; okys flDds gSaA 
bues ls dkSu&lh jkf’k mlds ikl 

 \ 

(2) ` 12 

(4) ` 13 
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Direction : (Question No. 

the following questions, a

relationship is established 

first figure and the second figure of the

question figure. The same relation is

established in the third figure and

the alternative figures. 

alternative figure. 

47. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

48. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

49. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

( 16 ) 

 

Direction : (Question No. 47 to 49) In 

, a special 

 between the 

second figure of the 

figure. The same relation is 

established in the third figure and one of 

 Select this 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa iz’u vkd`fr
rFkk nwljh vkd`fr 
LFkkfir gSA ;gh lEcU/k rhljh vkd`fr rFkk
oSdfYid vkd`fr;ksa esa ls ,d esa LFkkfir gSA
bl oSdfYid vkd`fr dk p;u

 

 

 

  47. iz’u vkd`fr;k¡

(1)

   

(3)

  

 

 

 

  48. iz’u vkd`fr;k¡

(1)

   

(3)

  

 

 

 

  49. iz’u vkd`fr;k¡

(1)

   

(3)

 

 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 47    lslslsls    49½½½½ fuEu fn, 
iz’uksa esa iz’u vkd`fr dh igyh vkd`fr 

 esa ,d fo’ks”k lEca/k 
lEcU/k rhljh vkd`fr rFkk 

vkd`fr;ksa esa ls ,d esa LFkkfir gSA 
bl oSdfYid vkd`fr dk p;u dhft,A 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  
iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  
iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)
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50. Fill in the following blank by 

choosing the appropriate option

The Dolphin found in the ocean is 

a/an .............. . 

(1) Animal from reptile family

(2) Animal from fish family

(3) Child – bearing animal

(4) Animal from bird family

Direction : (Question No. 

Select the water image of 

figure/word. 

51. 

 

(1)

   

(2)

 

(3)

  

(4) 

52. 

 

(1)
   

(2)
 

(3)
  

(4)
 

53. Which bird can rotate 

360° ? 

(1) Peacock (2) Owl

(3) Sparrow (4) Parrot

( 17 ) 

 

in the following blank by 

choosing the appropriate option : 

The Dolphin found in the ocean is 

Animal from reptile family 

Animal from fish family 

bearing animal 

Animal from bird family 

  50. fuEu [kkyh LFkku dks
pqudj Hkjsa % 

leqnz esa ik;h tkus okyh Mk
.............. gSA 
(1) ljhl`i dh tkfr dk tho
(2) eNfy;ksa dh tkfr dk tho
(3) cPps iSnk djus okyk tho
(4) if{k;ksa dh tkfr dk tho

Direction : (Question No. 51 and 52) 

Select the water image of the given 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
vkd`fr@‘kCn dk ty izfrfcac pqfu,A

 

 

  51. 

(1)

  

(3)

 

 

 

  52. 

(1)
   

(3)
  

Which bird can rotate its head by 

Owl 

Parrot 

  53. dkSu&lk i{kh viuk flj 
?kqek ldrk gS 

(1) eksj  

(3) xkSjS;k 

A 

P. T. O. 

fuEu [kkyh LFkku dks mfpr fodYi 

nz esa ik;h tkus okyh MkWfYQu ,d 
 

ljhl`i dh tkfr dk tho 
eNfy;ksa dh tkfr dk tho 
cPps iSnk djus okyk tho 
if{k;ksa dh tkfr dk tho 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 51    ,o,o,o,oaaaa    52½½½½ nh xbZ 
vkd`fr@‘kCn dk ty izfrfcac pqfu,A 

 

 

(2)

  

 

(4) 

 

 

 
(2)

 
 

 
(4)

  

lk i{kh viuk flj 360° rd 
?kqek ldrk gS \ 

(2) mYyw 

(4) rksrk 



A  ( 18 ) 
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54. In Braille language, with how 

many dots, alphabets are formed ? 

 

(1) Five (2) Six 

(3) Eight (4) Four 

  54. czsy fyfi esa fdrus fcanqvksa }kjk o.kks± 
dh vkd`fr;ksa dk fuekZ.k fd;k tkrk 
gS \ 
(1) ik¡p  (2) N% 
(3) vkB (4) pkj 

55. Which plant can  be grown 

without seed ? 

(1) Potato (2) Orange 

(3) Peas (4) Rice 

  55. buesa ls dkSu&lk ikS/kk cht ds fcuk 
mxk;k tk ldrk gS \ 
(1) vkyw (2) larjk 
(3) eVj (4) pkoy 

56. Select those things from the 

following which can be dried and 

preserved for a long time : 

Bread, Khichdi, Cereals, Ripe 

Fruits, Pulses, Green Spinach, 

Coriander and Chilies 

(1) Roti, Khichdi, Green Spinach 

and Chilies 

(2) Cereals, Ripe Fruits, Pulses, 

Green Spinach and Chilies 

(3) Cereals, Pulses, Coriander and 

Chilies 

(4) Khichdi, Cereals, Ripe Fruits 

and Coriander 

  56. fuEu esa ls mu phtksa dks Nk¡fV, 
ftUgsa lq[kkdj vf/kd le; rd 
lajf{kr fd;k tk ldrk gS % 
jksVh] f[kpM+h] vukt] ids Qy] nkysa] 
gjk ikyd] /kfu;k vkSj fepZ 
 
(1) jksVh] f[kpM+h] gjk ikyd vkSj 

fepZ 
(2) vukt] ids Qy] nkysa] gjk 

ikyd vkSj fepZ 
(3) vukt] nkysa] /kfu;k vkSj fepZ  

 
(4) f[kpM+h] vukt] ids Qy vkSj 

/kfu;k 

57. What change do you feel in the 

taste of a piece of bread when you 

chew it excessively ? 

(1) The bread starts to taste a 

little sour when chewed 

excessively. 

(2) The bread stats to taste a little 

sweet when chewed 

excessively. 

(3) The bread starts to taste a 

little bitter when chewed 

excessively. 

(4) The bread becomes tasteless 

when chewed excessively. 

  57. ,d jksVh ds VqdM+s dks vf/kd pckus 
ij mlds Lokn esa vki D;k ifjorZu 
eglwl djrs gSa \ 
(1) vf/kd pckus ij jksVh FkksM+h 

[kV~Vh yxus yxrh gSA 
 

(2) vf/kd pckus ij jksVh FkksM+h 
ehBh yxus yxrh gSA 
 

(3) vf/kd pckus ij jksVh FkksM+h 
dM+oh yxus yxrh gSA 
 

(4) vf/kd pckus ij jksVh FkksM+h 
Qhdh yxus yxrh gSA 
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58. In which country were the first 

Olympic games held ?

(1) Greece (2) France

(3) Germany (4) England

59. Where did Gandhi Ji break the

Salt law ? 

(1) Dandi (2) Kattak

(3) Delhi  (4) Assam

60. Which Vitamin is present in

abundance in Amla ? 

(1) Vitamin A (2) Vitamin D

(3) Vitamin B (4) Vitamin C

61. In which direction Pole

always found ? 

(1) East (2) West

(3) North (4) South

Direction : (Question No. 

In each of the following figures

are written according to some patterns. 

One number is missing. Find the 

missing number that replace the 

question mark (?). 

62. 

 

(1) 36 (2) 27

(3) 26 (4) 32

( 19 ) 

 

In which country were the first 

Olympic games held ? 

France 

England 

  58. izFke vksyafid [ksyksa dk vk;kstu 
fdl ns’k esa gqvk Fkk

(1) ;wuku 

(3) teZuh 

Where did Gandhi Ji break the 

Kattak 

Assam 

  59. xk¡/kh th us fdl LFkku ij tkdj 
ued dkuwu dks rksM+k

(1) MkaMh  

(3) fnYyh 

Which Vitamin is present in 

 

Vitamin D 

Vitamin C 

  60. vk¡oyk esa dkSu
ek=k esa ik;k tkrk gS

(1) foVkfeu A

(3) foVkfeu B

In which direction Pole-star is 

West 

South 

  61. /kzqorkjk ges’kk fdl fn’kk esa gksrk 
gS \ 

(1) iwoZ  

(3) mÙkj 

Direction : (Question No. 62 and 63) 

figures number 

some patterns. 

missing. Find the 

that replace the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
xbZ izR;sd vkd`fr esa ,d fuf’pr
vuqlkj dqN la[;k,¡ fy[kh xbZ
,d la[;k yqIr gSA yqIr
tks iz’u fpg~u ¼\½ 
gksA 

27 

32 

  62. 

(1) 36 

(3) 26 

A 

P. T. O. 

izFke vksyafid [ksyksa dk vk;kstu 
fdl ns’k esa gqvk Fkk \ 

(2) Ýkal 

(4) baXySaM 

xk¡/kh th us fdl LFkku ij tkdj 
ued dkuwu dks rksM+k \ 

(2) dVd 

(4) vle 

oyk esa dkSu&lk foVkfeu izpqj  
ek=k esa ik;k tkrk gS \ 

A (2) foVkfeu D 

B (4) foVkfeu C 

/kzqorkjk ges’kk fdl fn’kk esa gksrk 

(2) if’pe 

(4) nf{k.k 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 62    ,oa,oa,oa,oa    63½½½½ uhps nh 
xbZ izR;sd vkd`fr esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls 
,d la[;k yqIr gSA yqIr la[;k Kkr djsa] 

 ds LFkku ij mi;qDr 

 

(2) 27 

(4) 32 



A  
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63. 

 
(1) 15 (2) 19

(3) 4 (4) 18

Direction : (Question No. 

the following question, which answer

figure complete the question figure

64. Question Figures : 

 

(1)

   

(2)

 

(3)

  

(4)

 

65. Question Figures : 

 

(1)

  

(2)

 

(3)

 

(4)

 

( 20 ) 

 

19 

18 

  63. 

(1) 15 

(3) 4 

Direction : (Question No. 64 to 66) In 

, which answer 

figure complete the question figure ? 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa dkSu&lh mÙkj vkd`fr iz’u
vkd`fr dks iw.kZ djrh gS

 

 

  64. iz’u vkd`fr % 

(1)

  

(3)

 

 

 

  65. iz’u vkd`fr % 

(1)

  

(3)

 

 

 
(2) 19 

(4) 18 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 64    lslslsls    66½½½½ fuEu fn, 
x, iz’uksa esa dkSu&lh mÙkj vkd`fr iz’u 

djrh gS \ 

 

 

 

(2)

  

 

(4)

  

 

 

(2)

  

(4)
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66. Question Figures : 

 

(1)

   

(2)

 

(3)

  

(4)

 

67. How many such pairs of letters are

there in the word CONFIRM each

of which has as many letters

missing between them as there are

in the English alphabet

(1) 3 (2) 1

(3) 4 (4) 2

68. In a sludge tank, the gas mainly 

produced, is : 

(1) Nitrogen 

(2) Hydrogen 

(3) Carbon dioxide 

(4) Oxygen 

( 21 ) 

 

 

 

  66. iz’u vkd`fr % 

(1)

  

(3)

 

pairs of letters are 

there in the word CONFIRM each 

of which has as many letters 

missing between them as there are 

in the English alphabet ? 

1 

2 

  67. ‘kCn CONFIRM

;qXe gSa ftuesa ls izR;sd ds chp mrus

gh v{kj yqIr 

chp vaxzsth o.kZekyk esa gksrs gSa

 

(1) 3 

(3) 4 

In a sludge tank, the gas mainly   68. ,d dhpM+ VSad esa eq[; :i ls 

mRikfnr xSl gksrh gS

(1) ukbVªkstu 

(2) gkbMªkstu 

(3) dkcZu MkbvkWDlkbM

(4) vkWDlhtu 

A 

P. T. O. 

 

 

 

(2)

  

 

(4)

  

CONFIRM esa ,sls fdrus v{kj 

;qXe gSa ftuesa ls izR;sd ds chp mrus 

gh v{kj yqIr gSa ftrus fd muds 

chp vaxzsth o.kZekyk esa gksrs gSa \ 

(2) 1 

(4) 2 

,d dhpM+ VSad esa eq[; :i ls 

mRikfnr xSl gksrh gS % 

 

 

dkcZu MkbvkWDlkbM 

 



A  
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69. Mintu, the frog is hungry. Mintu

sitting on the 3rd step. Suddenly,

he saw Chintu, the grasshopper,

sitting on the 12th step. He

planned to eat the grasshopper

and started jumping three 

a time. Chintu was also alert. He

tried to avoid Mintu. So, he

started jumping two steps at a

time. At which step, Mintu can

catch Chintu ? 

(1) 24 (2) 20

(3) 16 (4) 14

70. Which instrument is used to 

measure the intensity of 

Earthquake ? 

(1) Seismograph 

(2) Odometer 

(3) Barometer  

(4) Thermometer 
 

( 22 ) 

 

Mintu, the frog is hungry. Mintu is 

sitting on the 3rd step. Suddenly, 

he saw Chintu, the grasshopper, 

sitting on the 12th step. He 

planned to eat the grasshopper 

and started jumping three steps at 

a time. Chintu was also alert. He 

tried to avoid Mintu. So, he 

started jumping two steps at a 

time. At which step, Mintu can 

 

20 

14 

  69. feaVw esa<d dks Hkw[k yxh gSA feaVw

rhljs [kkus esa cSBk gSA rHkh mldh

utj 12osa [kkus ij cSBs fVM~Ms ij

iM+hA mlus fVM~Ms dks [kkus dh

;kstuk cukbZ vkSj rhu&rhu [kkuksa dh

Nykax yxkuh ‘kq: dhA fpaVw Hkh

lpsr Fkk mlus feaVw 

fy,] nks&nks [kkuksa dh Nykax yxkuh

‘kq: dhA buesa ls dkSu

igq¡p dj feaVw] fpaVw

gS \ 

(1) 24 

(3) 16 

Which instrument is used to 

measure the intensity of 

  70. Hkwdai dh rhozrk dk irk yxkus ds 

fy, fdl ;a= dk iz;ksx fd;k tkrk 

gS \ 

(1) flLeksxzkQ 

(2) vksMksehVj 

(3) cSjksehVj 

(4) FkekZehVj 

 

feaVw esa<d dks Hkw[k yxh gSA feaVw 

rhljs [kkus esa cSBk gSA rHkh mldh 

osa [kkus ij cSBs fVM~Ms ij 

iM+hA mlus fVM~Ms dks [kkus dh 

;kstuk cukbZ vkSj rhu&rhu [kkuksa dh 

Nykax yxkuh ‘kq: dhA fpaVw Hkh 

lpsr Fkk mlus feaVw ls cpus ds 

fy,] nks&nks [kkuksa dh Nykax yxkuh 

‘kq: dhA buesa ls dkSu&ls [kkus ij 

igq¡p dj feaVw] fpaVw dks idM+ ldrk 

 

(2) 20 

(4) 14 

Hkwdai dh rhozrk dk irk yxkus ds 

fy, fdl ;a= dk iz;ksx fd;k tkrk 

  

 

  



( 23 ) 

jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, / FOR ROUGH WORK 



  

    

5. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd 
uhps fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn 
mÙkj okys [kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk 
mÙkj xyr ekuk tk,xkA 

        5. Answers   to  questions  in answer sheet are  to  be  
given by darkening complete circle using black ball 
point pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as given 
below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z iz'u iqfLrdk esa bl iz;kstu ds fy, nh xbZ 
[kkyh txg ij gh djsaA 

        6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy mÙkj i=d (OMR) ij gh vafdr 
djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus 
gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

        7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, mÙkj i=d (OMR) ij dsoy ,d gh 
o`Ùk dks iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA ,d 
ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk 
ldrk gSA 

        8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed 

to be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u 
tk,  ,oa ml ij dksbZ vU; fu’kku u yxk,¡A 
vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr 
LFkku ds vfrfjDr vU;= u fy[ksaA 

        9. The candidate should ensure that the Answer Sheet is 

not folded. Do not make any stray mark on Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. iz'u iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] 
D;ksafd fdlh Hkh ifjfLFkfr esa ¼dsoy iz'u iqfLrdk ,oa 
mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ 
nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA 

        10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of 

Test Booklet will not be provided. 

11. iz'u iqfLrdk@mÙkj i=d esa fn, x, Øekad dks 
vH;FkhZ lgh rjhds ls gkftjh i= esa fy[ksaA 

        11. The candidate will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds 
vfrfjDr fdlh izdkj dh ikB~; lkexzh] eqfnzr ;k 
gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby Qksu] 
bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh 
dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

        12. Candidate is not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. fujh{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk 
izos’k&i= ¼jksy ua0½ fn[kk,¡A 

        13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k fujh{kd dh fo’ks"k vuqefr ds fcuk 
dksbZ vH;FkhZ viuk LFkku u NksMa+sA 

        14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA         15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa iz'u&iqfLrdk ,oa mÙkj&i=d dk dksbZ 
Hkkx vyx u djsaA 

        16. No part of test Booklet and Answer-sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ ijh{kk d{k@gkWy 
NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; 
lkSai nsaA vH;FkhZ vius lkFk iz'u iqfLrdk dks ys tk 
ldrs gSaA 

        17. On completion of the test, candidate must hand over the 

Answer Sheet to the Invigilator in the Room/Hall. The 

candidate is allowed to take away this Test Booklet with 

them. 
 

� � 
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vks0,e0vkj0 Øekad 
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(For Class 6th)  

SET : B 

 
vu qØe kad ¼vadksa e sa½ %  
Roll No. (In Figures)     

vu qØe kad ¼' kC nksa esa½ %    

Roll No. (In Words)     

ijh {k k dsUnz dk u k e  %      
Name of Examination Centre    

vH;Fkh Z dk  u k e  %       v H;Fk h Zv H;Fk h Zv H;Fk h Zv H;Fk h Z     ds gL r k{kj  %ds gL r k{kj  %ds gL r k{kj  %ds gL r k{kj  % 
Name of Candidate                          Signature of the Candidate  

bl  iz 'u-iqfLrdk  e s a i`" Bk sa  d h l a [;k 
No. of Pages in this Question Booklet    24    

iz 'u ks a  d h l a [;k 
No. of Questions    70 

l e; 
Time    2½ hours    

                            f u jh { kd ds gL r k{ kj@f u jh { kd ds gL r k{ kj@f u jh { kd ds gL r k{ kj@f u jh { kd ds gL r k{ kj@Signature of the Invigilator : 

vH ; Fk h ZvH ; Fk h ZvH ; Fk h ZvH ; Fk h Z     dks dks dks dks 10 f euV  dk le;  i z'uf euV  dk le;  i z'uf euV  dk le;  i z'uf euV  dk le;  i z'u-i qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'ui qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'ui qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'ui qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'u-i = c qdy sV  e sa i = c qdy sV  e sa i = c qdy sV  e sa i = c qdy sV  e sa f n ,  x ,  f n ,  x ,  f n ,  x ,  f n ,  x ,  iz'u k sa d s lhf j ; y uEc j  psiz'u k sa d s lhf j ; y uEc j  psiz'u k sa d s lhf j ; y uEc j  psiz'u k sa d s lhf j ; y uEc j  ps d  dj u sd  dj u sd  dj u sd  dj u s ]]]]     C ; kSj k  Hk j u s ds fy,C ; kSj k  Hk j u s ds fy,C ; kSj k  Hk j u s ds fy,C ; kSj k  Hk j u s ds fy,     , o a , o a , o a , o a 
c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  misprint    psd  dj u s ds f y,psd  dj u s ds f y,psd  dj u s ds f y,psd  dj u s ds f y,     fn ; k tk, xk A fn ; k tk, xk A fn ; k tk, xk A fn ; k tk, xk A ; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S aa aa ] i `"B ] i `"B ] i `"B ] i `"B miss    
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1.  mÙkj i=d  (OMR) bl  iz 'u iq f Lrd k d s  vUnj j[kk  
gS A t c vk id ks  iz 'u iq f Lrd k [k ks y us  d ks  d gk  tk,] rk s  
mÙkj i=d  f ud k y d j /;ku l s  d s oy  dky s  ckW y Iokba V 
is u l s  f ooj.k Hk js a A 

  1. The OMR Answer Sheet is inside this Test Booklet. 

When you are directed to open the Test Booklet, take out 

the Answer Sheet and fill the particulars carefully with 

black ball point pen only. 

2. ijh{k k dh  vof/ k 2½ ? ka Vs  ? ka Vs  ? ka Vs  ? ka Vs  gS  ,oa  iz 'u  iq fLrd k  es a 70 iz ’u 
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  2.  The test is of 2½ hours duration and consists of 

70 questions. Each question carries one mark.  There is no 

negative marking.    

3. bl  i`" B ij fooj .k va fd r d jus  ,oa  mÙk j i=d  ij  
f u’k ku yxk us  ds  f y, d s oy  d kys  ck W y Iokba V is u d k 
iz ;ks x d js a A     vH;Fk hZ  iz 'u-iq fLrd k  d k mi;ks x d ju s  , oa  
mÙkj i=d  d ks  Hk jus  es a  l ko/k ku h cjrs a A nw l jh iz 'unw l jh iz 'unw l jh iz 'unw l jh iz 'u-

iq fLrd k  liq fLrd k  liq fLrd k  liq fLrd k  l ss ss V ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhA 

  3. Use Black Ball Point Pen only for writing particulars on 

this page/marking responses in the Answer Sheet. The 

candidate should remain careful in handling  the question 

paper and in marking the answers on the answer sheet. 

Another booklet set will not be given.    

4. ;g Hk h l q fuf’p r d j ys a  fd  iz 'u iq fLrd k  Ø e kad  vk S j 
mÙkj i=d  Ø e kad  ,d  gh gS a A vxj ;g fHk Uu gks a ;k  
iz 'u iq f Lrd k e s a  d ks bZ  i"̀ B Miss ;k Misprint gks rks  
vH;Fkh Z  nw l jh iz ’u-iq fLrdk  vkS j mÙkj i=d  y s us  d s  
f y, f ujh {kd  d ks  rq jU r voxr d jok,A 

  4. Also ensure that your Test Booklet Serial No. and 

Answer Sheet Serial No. are the same. In case of 

discrepancy or any page is Miss or Misprint in test 

booklet, the candidate should immediately report the 

matter to the Invigilator for replacement of both the Test 

Booklet and the Answer Sheet.    
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  Note : Read other remaining instructions given on the last 

page of this Booklet.    
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1. In which year was Dr. Bhimrao 

Ambedkar Born ? 

(1) 14 May, 1891 AD 

(2) 14 June, 1891 AD 

(3) 14 April, 1891 AD 

(4) 14 July, 1891 AD 

  1. MkW0 Hkhejko vEcsMdj dk tUe fdl 
o”kZ gqvk \ 

(1) 14 ebZ] 1891 bZ0 

(2) 14 twu] 1891 bZ0 

(3) 14 vizSy] 1891 bZ0 

(4) 14 tqykbZ] 1891 bZ0 

2. Which disease is caused by 

polluted water ? 

(1) Hepatitis B 

(2) Lung Cancer 

(3) Asthma 

(4) Pneumonia 

  2. xans ikuh ls gksus okyh chekjh 
dkSu&lh gS \ 

(1) gsisVkbfVl ch 

(2) QsQM+ksa dk dSalj 

(3) nek 

(4) fueksfu;k 

3. Which instrument is used to 

measure the intensity of 

Earthquake ? 

(1) Seismograph 

(2) Odometer 

(3) Barometer 

(4) Thermometer 

  3. Hkwdai dh rhozrk dk irk yxkus ds 
fy, fdl ;a= dk iz;ksx fd;k tkrk 
gS \ 

(1) flLeksxzkQ 

(2) vksMksehVj 

(3) cSjksehVj 

(4) FkekZehVj 

Direction : (Question No. 4 and 5) In 

the following questions some words are 

given which are in the given order. 

These words have to be arranged in a 

systematic order and then choose the 

correct option from given four options, 

which shows meaningful order of words. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 4    ,oa ,oa ,oa ,oa 5½½½½ fuEu iz’uksa 
esa dqN ‘kCn gSa tks fd vO;ofLFkr Øe esa 
gSaA bu ‘kCnksa dks O;ofLFkr Øe esa ltkuk gS 
rFkk mlds ckn fn, pkj fodYiksa esa ls lgh 
fodYi dks pquuk gS] tks ‘kCnksa dk lkFkZd 
Øe n’kkZ,A 

4. a. Flower, b. Leaf, c. Trunk, 

d. Root, e. Fruit 

(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 

  4. a. Qwy] b. iÙkk] c. ruk] d. tM+] 
e. Qy 
(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 
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5. a. District, b. Village, c

d. State, e. City 

(1) b→e→a→d→c 

(2) d→c→a→b→e 

(3) b→a→d→e→c 

(4) b→a→e→d→c 

Direction : (Question No. 6 

the following questions a 

number is given. Select the 

resembles the mirror image

question figure/word/number.

6. 

 

(1)
   

(2)
 

(3)
  

(4)
 

7. 

 

(1)
   

(2)
  

(3)
  

(4)
  

( 4 ) 

 

Village, c. Country,   5. a. ftyk] b. 
e. ‘kgj 

(1) b→e→a→

(2) d→c→a→

(3) b→a→d→

(4) b→a→e→

Direction : (Question No. 6 to 9) In 

 figure/word/ 

 option which 

resembles the mirror image of the 

question figure/word/number. 

   funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
fn, x, iz’uksa esa
’kCn@la[;k nh xbZ gSA vki ml
fodYi dk p;u djsa tks 
vkd`fr@‘kCn@la[;k ds niZ.k izfrfcac
tSlk fn[krk gSA

 

 

  6. 

(1)
  

(3)
 

  7. 

(1)
  

(2)
 

(3)
 

(4)
 

 

 xk¡o] c. ns’k] d. jkT;] 

→d→c 

→b→e 

→e→c 

→d→c 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 6    lslslsls    9½½½½ fuEu 
fn, x, iz’uksa esa vkd`fr@ 
’kCn@la[;k nh xbZ gSA vki ml 
fodYi dk p;u djsa tks iz’u 
vkd`fr@‘kCn@la[;k ds niZ.k izfrfcac 
tSlk fn[krk gSA 

 

 
(2)

  

 
(4)
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8. 

 

(1)

   

(2)

 

(3)

  

(4)

 

9. 

 

(1)

   

(2)

 

(3)

  

(4)

 

10. Which bird can rotate its head by 

360° ? 

(1) Peacock (2) Owl

(3) Sparrow (4) Parrot

11. Sahil took a bus at 7:40 a.m. from

Delhi. He reached Haridwar after 

6 hours 25 minutes. At what time

did he reach Haridwar

(1) 1:05 a.m. (2) 2:05 a.m.

(3) 2:05 p.m. (4) 1:15 p.m.

( 5 ) 

 

 

 

  8. 

(1)

  

(3)

 

 

 

  9. 

(1)

  

(3)

 

Which bird can rotate its head by 

Owl 

Parrot 

  10. dkSu&lk i{kh viuk flj 
?kqek ldrk gS 

(1) eksj  

(3) xkSjS;k 

at 7:40 a.m. from 

He reached Haridwar after 

hours 25 minutes. At what time 

did he reach Haridwar ? 

2:05 a.m. 

1:15 p.m. 

  11. lkfgy us izkr% 
cl yhA 6 ?kaVs 
gfj}kj igq¡pkA og fd
gfj}kj igq¡pk 

(1) 1:05 a.m. 

(3) 2:05 p.m. 

B 

P. T. O. 

 

 

(2)

  

 

(4)

  

 

 

(2)

  

 

(4)

  

lk i{kh viuk flj 360° rd 
?kqek ldrk gS \ 

(2) mYyw 

(4) rksrk 

lkfgy us izkr% 7:40 ij fnYyh ls 
?kaVs 25 feuV ds ckn og 
pkA og fdrus cts 
 \ 

 (2) 2:05 a.m. 

 (4) 1:15 p.m. 
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12. How many cubes are there in the 

given figure ? 

(1) 24 (2) 46

(3) 48 (4) 28

13. Where did Gandhi Ji break the

Salt law ? 

(1) Dandi (2) Kattak

(3) Delhi  (4) Assam

Direction : (Question No. 

In the following Question, 

the given words options is correct in the 

order of the dictionary ? 

14. 1. Calm, 2. Calcium,

4. Cabe 

(1) 4, 3, 2, 1 (2) 4, 2, 3,

(3) 4, 2, 1, 3 (4) 4

15. 1. Exhaust, 2. Excuse, 3. Exhibit, 

4. Exempt  

(1) 4, 2, 3, 1 (2) 2

(3) 3, 4, 1, 2 (4) 2, 4, 3,

16. How many such pairs of letters are

there in the word CONFIRM each

of which has as many letters

missing between them as there are

in the English alphabet

(1) 3 (2) 1

(3) 4 (4) 2

( 6 ) 

 

How many cubes are there in the 

 
46 

28 

  12. nh xbZ vkd`fr esa fdrus ?ku gSa
 

(1) 24 

(3) 48 

Ji break the 

Kattak 

Assam 

  13. xk¡/kh th us fdl LFkku ij tkdj 
ued dkuwu dks rksM+k
(1) MkaMh  
(3) fnYyh 

Direction : (Question No. 14 and 15) 

 which one of 

options is correct in the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
iz’uksa esa fn, x, ‘kCnksa ds
dkSu&lk fodYi ‘kCndks”k esa Øekuqlkj gS

Calcium, 3. Calorie, 

4, 2, 3, 1  

4, 3, 1, 2 

  14. 1. Calm, 2. 

4. Cabe 

(1) 4, 3, 2, 1 

(3) 4, 2, 1, 3 

Excuse, 3. Exhibit, 

2, 4, 1, 3  

2, 4, 3, 1 

  15. 1. Exhaust, 2

4. Exempt  

(1) 4, 2, 3, 1 

(3) 3, 4, 1, 2 

How many such pairs of letters are 

there in the word CONFIRM each 

of which has as many letters 

missing between them as there are 

English alphabet ? 

1 

2 

  16. ‘kCn CONFIRM
;qXe gSa ftuesa ls izR;sd ds chp mrus
gh v{kj yqIr gSa ftrus fd muds
chp vaxzsth o.kZekyk esa gksrs gSa
 
(1) 3 

(3) 4 

 

nh xbZ vkd`fr esa fdrus ?ku gSa \ 

 
(2) 46 

(4) 28 

xk¡/kh th us fdl LFkku ij tkdj 
ued dkuwu dks rksM+k \ 

(2) dVd 
(4) vle 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 14    ,,,,ooooaaaa    15½½½½    fuEu 
iz’uksa esa fn, x, ‘kCnksa ds fodYiksa esa ls 

‘kCndks”k esa Øekuqlkj gS \ 

 Calcium, 3. Calorie, 

 (2) 4, 2, 3, 1  

 (4) 4, 3, 1, 2 

1. Exhaust, 2. Excuse, 3. Exhibit, 

 (2) 2, 4, 1, 3  

 (4) 2, 4, 3, 1 

CONFIRM esa ,sls fdrus v{kj 
;qXe gSa ftuesa ls izR;sd ds chp mrus 
gh v{kj yqIr gSa ftrus fd muds 
chp vaxzsth o.kZekyk esa gksrs gSa \ 

(2) 1 

(4) 2 
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Direction : (Question No. 

Select the water image of the given 

figure/word. 

17. 

 

(1)

   

(2)

 

(3)

  

(4) 

18. 

 
(1)

   
(2)

 
(3)

  
(4)

 
Direction : (Question No. 1

In the following questions, some figures 

forming a series are given and from the

alternative , select one such figure

will continue the series. 

19. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

( 7 ) 

 

Direction : (Question No. 17 and 18) 

Select the water image of the given 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
vkd`fr@‘kCn dk ty izfrfcac pqfu,A

 

 

  
17. 

(1)

  

(3)

 

 

 

  
18. 

(1)
   

(3)
  

Direction : (Question No. 19 and 20) 

questions, some figures 

series are given and from the 

alternative , select one such figure which 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
iz’uksa es ,d Ük`a[kyk cukrh 
vkd`fr;k¡ nh xbZ gSa rFkk
esa ls ,d ,slh vkd`fr dk p;u dhft,] 
tks bl Üka`[kyk dks tkjh j[ksaA

 

 

 

  19. iz’u vkd`fr;k¡

(1)

  

(3)

 

B 

P. T. O. 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 17    ,o,o,o,oaaaa    18½½½½ nh xbZ 
vkd`fr@‘kCn dk ty izfrfcac pqfu,A 

 

 

(2)

  

 

(4) 

 

 

 
(2)

 
 

 
(4)

  
funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 19    ,o,o,o,oaaaa    20½½½½ fuEu 

a[kyk cukrh gqbZ dqN 
vkd`fr;k¡ nh xbZ gSa rFkk oSdfYid vkd`fr;ksa 

vkd`fr dk p;u dhft,] 
a`[kyk dks tkjh j[ksaA 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)
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20. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

21. Sohan leaves his house and start

walking towards East. After

walking some distance, he turns

right and starts walking. In which

direction is he going now

(1) North  (2) West

(3) South (4) East

22. If Raghav is seventh from the back

in a row of 25 students. What will

be the Raghav’s position from the

front in the row ? 

(1) 19th (2) 18th

(3) 17th (4) 32

23. In which direction Pole

always found ? 

(1) East (2) West

(3) North (4) South

24. If FARMER is written as

REMRAF in a certain code

language, how will TRACTOR be

written in that code language

(1) RTOCRAT (2) ROCTATR

(3) ROTACTR (4) ROTCART

( 8 ) 

 

 

 

 

  20. iz’u vkd`fr;k¡

(1)

  

(3)

 

Sohan leaves his house and start 

walking towards East. After 

walking some distance, he turns 

right and starts walking. In which 

direction is he going now ? 

West 

East  

  21. lksgu vius ?kj ls fudydj iwoZ dh
vksj pyuk izkjaHk djrk gSA dqN nwj
pyus ds ckn og nk,¡ eqM+dj pyuk
izkajHk djrk gS
esa tk jgk gS \

(1) mÙkj 

(3) nf{k.k 

If Raghav is seventh from the back 

row of 25 students. What will 

be the Raghav’s position from the 

18th 

32nd 

  22. 25 Nk=ksa dh iafDr esa jk?ko dk ihNs
ls 7ok¡ LFkku gS] rks jk?ko dk vkxs
ls dkSu&lk LFkku gksxk
 

(1) 19ok¡ 

(3) 17ok¡ 

In which direction Pole-star is 

West 

South 

  23. /kzqorkjk ges’kk fdl fn’kk esa gksrk 
gS \ 

(1) iwoZ  

(3) mÙkj 

If FARMER is written as 

REMRAF in a certain code 

will TRACTOR be 

written in that code language ? 

ROCTATR 

ROTCART 

  24. ;fn fdlh lkadsfrd Hkk”kk esa
FARMER dks 
tk,] rks mlh lkadsfrd Hkk”kk esa
TRACTOR dks dSls fy[kk tk,xk

(1) RTOCRAT

(3) ROTACTR

 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  

lksgu vius ?kj ls fudydj iwoZ dh 
vksj pyuk izkjaHk djrk gSA dqN nwj 
pyus ds ckn og nk,¡ eqM+dj pyuk 
izkajHk djrk gSA vc og fdl fn’kk 

\ 

(2) if’pe 

(4) iwoZ 

Nk=ksa dh iafDr esa jk?ko dk ihNs 
ok¡ LFkku gS] rks jk?ko dk vkxs 

ls dkSu&lk LFkku gksxk \ 

(2) 18ok¡ 

(4) 32ok¡ 

/kzqorkjk ges’kk fdl fn’kk esa gksrk 

(2) if’pe 

(4) nf{k.k 

;fn fdlh lkadsfrd Hkk”kk esa 
dks REMRAF fy[kk 

tk,] rks mlh lkadsfrd Hkk”kk esa 
dks dSls fy[kk tk,xk \ 

RTOCRAT (2) ROCTATR 

ROTACTR (4) ROTCART 
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Direction : (Question No. 

In each of the following figures

are written according to some patterns. 

One number is missing. Find the 

missing number that replace the 

question mark (?). 

25. 

 
(1) 36 (2) 27

(3) 26 (4) 32

26. 

 
(1) 15 (2) 19

(3) 4 (4) 18

Direction : (Question No. 

the following question, which answer

figure complete the question figure

27. Question Figure : 

 

(1)

   

(2)

 

(3)

  

(4)

 

( 9 ) 

 

Direction : (Question No. 25 and 26) 

In each of the following figures number 

some patterns. 

missing. Find the 

that replace the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
xbZ izR;sd vkdf̀r esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls 
,d la[;k yqIr gSA yqIr la[;k Kkr djsa] tks 
iz’u fpg~u ¼\½ ds LFkku ij mi;qDr gksA

27 

32 

  25. 

(1) 36 

(3) 26 

19 

18 

  26. 

(1) 15 

(3) 4 

Direction : (Question No. 27 to 29) In 

, which answer 

figure complete the question figure ? 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa dkSu&lh mÙkj vkd`fr iz’u
vkd`fr dks iw.kZ djrh gS

 

 

  27. iz’u vkd`fr % 

(1)

  

(3)

 

B 

P. T. O. 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 25    ,oa ,oa ,oa ,oa 26½½½½ uhps nh 
xbZ izR;sd vkdf̀r esa ,d fuf’pr Øe 
vuqlkj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls 
,d la[;k yqIr gSA yqIr la[;k Kkr djsa] tks 

½ ds LFkku ij mi;qDr gksA 

 
(2) 27 

(4) 32 

 
(2) 19 

(4) 18 
funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 27    lslslsls    29½½½½ fuEu fn, 
x, iz’uksa esa dkSu&lh mÙkj vkd`fr iz’u 

djrh gS \ 
 

 

 

(2)

  

 

(4)
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28. Question Figure : 

 

(1)

  

(2)

 

(3)

 

(4)

 

29. Question Figure : 

 

(1)

   

(2)

 

(3)

  

(4)

 

30. Who is known as Missile Man

 

(1) Dr. A. P. J. Abdul Kalam

(2) Abdul Gaffar 

(3) Morarji Desai 

(4) Atal Bihari Vajpai

( 10 ) 

 

 

 

  28. iz’u vkd`fr % 

(1)

  

(3)

 

 

 

  29. iz’u vkd`fr % 

(1)

  

(3)

 

Who is known as Missile Man ? 

J. Abdul Kalam 

Atal Bihari Vajpai 

  30. felkby eSu 
tkrk gS \ 

(1) MkW0 ,0 ih

(2) vCnqy x¶

(3) eksjkjth nslkbZ

(4) vVy fcgkjh oktis;h

 

 

 

(2)

  

(4)

  

 

 

 

(2)

  

 

(4)

  

felkby eSu ds uke ls fdls tkuk 

ih0 ts0 vCnqy dyke 

¶Qkj 

eksjkjth nslkbZ 

vVy fcgkjh oktis;h 



  ( 11 ) B 

MSMSS/6–2023  P. T. O. 

Direction : (Question No. 31 to 34) In 

these questions a number/letter series is 

given. In which one term is missing. 

Find the missing number/letter, which 

when placed at the place of question 

mark (?), will complete the series. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 31 ls ls ls ls 34½½½½ bu iz’uksa 
esa ,d la[;k@v{kj Ük`a[kyk nh xbZ gS 
ftlesa ,d in yqIr gSA yqIr la[;k@v{kj 
Kkr djsa] tks iz’u fpg~u ¼\½ ds LFkku ij 
j[kus ij Ükà[kyk dks iw.kZ djrk gksA 

31. 8, 11, 15, 20, ? 

(1) 25 (2) 26 

(3) 27  (4) 23 

  31. 8, 11, 15, 20, ? 

(1) 25 (2) 26 

(3) 27  (4) 23 

32. 17, 22, 27, 32, ? 

(1) 35 (2) 36 

(3) 38  (4) 37 

  32. 17, 22, 27, 32, ? 

(1) 35 (2) 36 

(3) 38  (4) 37 

33. A, C, F, J, ? 

(1) N (2) O 

(3) M  (4) K 

  33. A, C, F, J, ? 

(1) N (2) O 

(3) M  (4) K 

34. EFG, IJK, MNO 

(1) RST (2) QSR 

(3) QRS  (4) PQR 

  34. EFG, IJK, MNO 

(1) RST (2) QSR 

(3) QRS  (4) PQR 

35. Fill in the following blank by 

choosing the appropriate option : 

The Dolphin found in the ocean is 

a/an .............. . 

(1) Animal from reptile family 

(2) Animal from fish family 

(3) Child – bearing animal 

(4) Animal from bird family 

  35. fuEu [kkyh LFkku dks mfpr fodYi 
pqudj Hkjsa % 

leqnz esa ik;h tkus okyh MkWfYQu ,d 
.............. gSA 

(1) ljhl`i dh tkfr dk tho 

(2) eNfy;ksa dh tkfr dk tho 

(3) cPps iSnk djus okyk tho 

(4) if{k;ksa dh tkfr dk tho 
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36. Each shape is made up of equal

squares. Area of each square is 

1 cm square. Observe the shapes

carefully and find which of the

statement written below is 

correct ? 

(1) Each shapes has area equal to

6 cm sq. 

(2) Each shape has perimeter

equal to 12 cm. 

(3) Shapes with equal areas have

equal perimeters. 

(4) Shapes with equal areas may

or may not 

perimeters. 

37. Which plant can  be grown 

without seed ? 

(1) Potato (2) Orange

(3) Peas (4) Rice

38. What change do you feel in the

taste of a piece of bread when you

chew it excessively ? 

(1) The bread starts to taste a

little sour when chewed

excessively. 

(2) The bread stats to taste a little

sweet when 

excessively. 

(3) The bread starts to taste a

little bitter when chewed

excessively. 

(4) The bread becomes tasteless

when chewed excessively.

( 12 ) 

 

Each shape is made up of equal 

squares. Area of each square is 

cm square. Observe the shapes 

carefully and find which of the 

statement written below is 

 
Each shapes has area equal to 

Each shape has perimeter 

Shapes with equal areas have 

 

Shapes with equal areas may 

 have equal 

  36. uhps nh xbZ vkd`fr leku oxks±
cuh gSA izR;sd oxZ dk {ks=Qy 
lseh gSA vkd`fr;ksa dks /;ku ls ns[ks
vkSj Kkr djsa fd uhps fy[ks x,
dFkuksa esa ls dkSu
 

(1) izR;sd vkd`fr dk {ks=Qy 
lseh gSA 

(2) izR;sd vkd`fr dk ifjeki 
lseh gSA 

(3) leku {ks=Qy okyh vkd`fr;ksa 
ifjeki leku gksrs gS

(4) leku {ks=Qy okyh vkd`fr;ksa ds
ifjeki leku gks Hkh ldrs gS
vkSj ugha Hkh gks

Which plant can  be grown 

Orange 

Rice 

  37. buesa ls dkSu&
mxk;k tk ldrk 
(1) vkyw 
(3) eVj 

What change do you feel in the 

taste of a piece of bread when you 

The bread starts to taste a 

little sour when chewed 

The bread stats to taste a little 

when chewed 

The bread starts to taste a 

when chewed 

The bread becomes tasteless 

chewed excessively. 

  38. ,d jksVh ds VqdM+s dks vf/kd pckus 
ij mlds Lokn es
eglwl djrs gSa 
(1) vf/kd pckus 

[kV~Vh yxus
 

(2) vf/kd pckus ij jksVh FkksM+h 
ehBh yxus
 

(3) vf/kd pckus ij jksVh FkksM+h 
dM+oh yxus
 

(4) vf/kd pckus ij jksVh FkksM+h 
Qhdh yxus

 

uhps nh xbZ vkd`fr leku oxks± ls 
cuh gSA izR;sd oxZ dk {ks=Qy 1 oxZ 

gSA vkd`fr;ksa dks /;ku ls ns[ksa 
vkSj Kkr djsa fd uhps fy[ks x, 
dFkuksa esa ls dkSu&lk lghlghlghlgh gSa \ 

 
izR;sd vkd`fr dk {ks=Qy 6 oxZ 

izR;sd vkd`fr dk ifjeki 12 

leku {ks=Qy okyh vkd`fr;ksa ds 
leku gksrs gSaA 

leku {ks=Qy okyh vkd`fr;ksa ds 
leku gks Hkh ldrs gSa 

vkSj ugha Hkh gks ldrsA 

&lk ikS/kk cht ds fcuk 
mxk;k tk ldrk gS \ 

(2) larjk 
(4) pkoy 

,d jksVh ds VqdM+s dks vf/kd pckus 
ij mlds Lokn esa vki D;k ifjorZu 
eglwl djrs gSa \ 

vf/kd pckus ij jksVh FkksM+h 
[kV~Vh yxus yxrh gSA 

vf/kd pckus ij jksVh FkksM+h 
ehBh yxus yxrh gSA 

vf/kd pckus ij jksVh FkksM+h 
dM+oh yxus yxrh gSA 

vf/kd pckus ij jksVh FkksM+h 
Qhdh yxus yxrh gSA 
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39. Select those things from the

following which can be 

preserved for a long time

Bread, Khichdi, Cereals, Ripe

Fruits, Pulses, Green Spinach,

Coriander and Chilies

(1) Roti, Khichdi, Green Spinach 

and Chilies 

(2) Cereals, Ripe Fruits

Green Spinach and Chilies

(3) Cereals, Pulses, Coriander

Chilies 

(4) Khichdi, Cereals,

and Coriander 

40. Mintu, the frog is hungry. Mintu

sitting on the 3rd step. Suddenly,

he saw Chintu, the grasshopper,

sitting on the 12th step. He

planned to eat the grasshopper

and started jumping three steps at

a time. Chintu was also alert. He

tried to avoid Mintu. So, he

started jumping two steps at a

time. At which step, Mintu can

catch Chintu ? 

(1) 24 (2) 20

(3) 16 (4) 14

41. Where is Kalpana Chawla 

Planetarium situated 

(1) Hisar (2) 

(3) Kurukshetra (4) 

( 13 ) 

 

Select those things from the 

following which can be dried and 

preserved for a long time : 

, Cereals, Ripe 

, Pulses, Green Spinach, 

Coriander and Chilies 

Roti, Khichdi, Green Spinach 

Cereals, Ripe Fruits, Pulses, 

Green Spinach and Chilies 

Cereals, Pulses, Coriander and 

Khichdi, Cereals, Ripe Fruits 

  39. fuEu esa ls mu phtksa dks Nk¡
ftUgsa lq[kkdj vf/kd le; rd
lajf{kr fd;k tk ldrk gS
jksVh] f[kpM+h] vukt] ids Qy] nkysa] 
gjk ikyd] /kfu;k vkSj fepZ
 
(1) jksVh] f[kpM+h] gjk ikyd vkSj 

fepZ 
(2) vukt] ids Qy] nkysa] gjk

ikyd vkSj
(3) vukt] nkysa] /kfu;k vkSj fepZ

 
(4) f[kpM+h] vukt] ids Qy vkSj

/kfu;k 

Mintu, the frog is hungry. Mintu is 

sitting on the 3rd step. Suddenly, 

he saw Chintu, the grasshopper, 

sitting on the 12th step. He 

planned to eat the grasshopper 

and started jumping three steps at 

a time. Chintu was also alert. He 

tried to avoid Mintu. So, he 

started jumping two steps at a 

time. At which step, Mintu can 

 

20 

14 

  40. feaVw esa<d dks Hkw[k yxh gSA feaVw
rhljs [kkus esa cSBk gSA rHkh mldh
utj 12osa [kkus ij cSBs fVM~Ms ij
iM+hA mlus fVM~Ms dks [kkus dh
;kstuk cukbZ vkSj rhu&rhu [kkuksa dh
Nykax yxkuh ‘kq: dhA fpaVw Hkh
lpsr Fkk mlus feaVw 
fy,] nks&nks [kkuksa dh Nykax yxk
‘kq: dhA buesa ls dkSu
igq¡p dj feaVw] fpaVw dks idM+ ldrk
gS \ 

(1) 24 

(3) 16 

Where is Kalpana Chawla 

 ? 

 Karnal 

 Fatehabad 

  41. dYiuk pkoyk 
gS \ 

(1) fglkj 

(3) dq:{ks= 

B 

P. T. O. 

fuEu esa ls mu phtksa dks Nk¡fV, 
ftUgsa lq[kkdj vf/kd le; rd 
lajf{kr fd;k tk ldrk gS % 
jksVh] f[kpM+h] vukt] ids Qy] nkysa] 
gjk ikyd] /kfu;k vkSj fepZ 

jksVh] f[kpM+h] gjk ikyd vkSj 

vukt] ids Qy] nkysa] gjk 
ikyd vkSj fepZ 
vukt] nkysa] /kfu;k vkSj fepZ  

f[kpM+h] vukt] ids Qy vkSj 

dks Hkw[k yxh gSA feaVw 
rhljs [kkus esa cSBk gSA rHkh mldh 

osa [kkus ij cSBs fVM~Ms ij 
iM+hA mlus fVM~Ms dks [kkus dh 
;kstuk cukbZ vkSj rhu&rhu [kkuksa dh 
Nykax yxkuh ‘kq: dhA fpaVw Hkh 
lpsr Fkk mlus feaVw ls cpus ds 
fy,] nks&nks [kkuksa dh Nykax yxkuh 
‘kq: dhA buesa ls dkSu&ls [kkus ij 
igq¡p dj feaVw] fpaVw dks idM+ ldrk 

 

(2) 20 

(4) 14 

dYiuk pkoyk IySusVsfj;e dgk¡ fLFkr 

(2) djuky 

(4) Qrsgkckn 
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42. Who was the first women Astronaut 

in India ? 

(1) Kalpana Chawla 

(2) Bachhendri Pal 

(3) Sunita Williams  

(4) Geeta Phogat 

Direction : (Question No. 

The given figure (x) is followed by four

figures (1), (2), (3) and (4) such that (x) is

embedded in one of them. Trace out the

correct alternative. 

43. 

 
         (x) 

(1)

   

(2)

 

(3)

  

(4)

 

44. 

 
       (x) 

(1)

   

(2)

 

(3)

  

(4)

 

( 14 ) 

 

Who was the first women Astronaut 

 

 

  
42. Hkkjr ns’k dh igyh varfj{k ;k=h 

dkSu Fkh \ 
(1) dYiuk pkoyk
(2) cNsanzh iky
(3) lquhrk fofy;El
(4) xhrk QksxkV

Direction : (Question No. 43 and 44) 

The given figure (x) is followed by four 

figures (1), (2), (3) and (4) such that (x) is 

embedded in one of them. Trace out the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
fp= (x) pkj fp=ksa (1), (2), (3)
ls ,d dk ifj.kke gS] tks fd buesa ls
fdlh ,d esa fufgr gSA 
igpku djsaA 

 

 

  
43. 

 
         (x) 

(1)

  

(3)

 

 

 

  
44. 

 
       (x) 

(1)

  

(3)

 

 

Hkkjr ns’k dh igyh varfj{k ;k=h 

dYiuk pkoyk  
cNsanzh iky 
lquhrk fofy;El 

xkV 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 43    ,o,o,o,oaaaa    44½½½½ fn;k x;k 
(1), (2), (3) vkSj (4) esa 

ls ,d dk ifj.kke gS] tks fd buesa ls 
fdlh ,d esa fufgr gSA lghlghlghlgh fodYi dh 

 

 

(2)

  

 

(4)

  

 

(2)

  

 

(4)
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45. Observe the pattern and fill in the 

blank : 

(1) 19 (2) 21

(3) 25 (4) 33

46. Najma’s mother used her own

method of multiplication to

multiply 18 by 5 and told 

broke 18 into 10 and 8. Now

multiplying 8 by 5, I got 40 and

10 × 5 = 50. Then I added 50 and

40 and got 90. 

Which of the following pictures 

represents the way she did it

(1)
   

(2)

  

(3)

  

(4)

  

( 15 ) 

 

Observe the pattern and fill in the 

 

21 

33 

  45. fn, x, iSVuZ dks ns[krs gq, fjDr 
LFkku Hkfj, % 

(1) 19 

(3) 25 

Najma’s mother used her own 

method of multiplication to 

multiply 18 by 5 and told – “First I 

broke 18 into 10 and 8. Now 

multiplying 8 by 5, I got 40 and 

50. Then I added 50 and 

following pictures 

way she did it ? 

 

 

 

  46. utek dh ekrk th us 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 
ßigys eSaus 18 
vc 8 dks 5 
40 vkSj 10 ×

vkSj 40 dks tksM+ fn;k] rks 

buesa ls dkSu
fd;s x, rjhds dks n’kkZ jgk gS

(1)
 

(2)

 

(3)

 

(4)

 

B 

P. T. O. 

fn, x, iSVuZ dks ns[krs gq, fjDr 
 

 

(2) 21 

(4) 33 

utek dh ekrk th us 18 dks 5 ls 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 

 dks 10 vkSj 8 esa rksM+k 
 ls xq.kk fd;k] rks vk;k 
× 5 = 50, fQj eSaus 50 

dks tksM+ fn;k] rks 90 vk;kA  

buesa ls dkSu&lk fp= muds }kjk 
fd;s x, rjhds dks n’kkZ jgk gS \ 
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47. Amitoj and her three friends were

working with even and odd

numbers. They observed that
there are patterns when we add

even numbers or odd numbers.

They made the following claims
Rama : When we add two odd

numbers, we always get an odd

number.  
Amitoj : When we add

numbers, we may either

odd number or an even
 

Rakhi : When we add two odd

numbers, we always get an even
number. 
Shekhar : When we add two odd

numbers, we always get a prime
number. 

Whose claims is correct

(1) Rama’s (2) Amitoj’s
(3) Rakhi’s (4) Shekhar’s

48. National Dairy Research Institute

is situated in which District of
Haryana ? 
(1) Karnal (2) Kuruksh

(3) Bhiwani (4) Rohtak

49. Identify the insectivorous plant

given in the picture and choose the

appropriate option : 

 
(1) Pitcher Plant 

(2) Venus Flytrap 

(3) Amarbel 

(4) Lotus Flower 

( 16 ) 

 

Amitoj and her three friends were 

working with even and odd 

numbers. They observed that 
there are patterns when we add 

even numbers or odd numbers. 

following claims : 
: When we add two odd 

numbers, we always get an odd 

Amitoj : When we add two odd 

numbers, we may either get an 

odd number or an even number. 

Rakhi : When we add two odd 

numbers, we always get an even 

we add two odd 

numbers, we always get a prime 

correct ? 

Amitoj’s 
Shekhar’s 

  47. vferkst vkSj mlds rhu nksLr le
vkSj fo”ke la[;kvksa ds lkFk dke
dj jgs FksA mUgksaus ns[kk fd tc os
le la[;k,¡ ;k fo”ke
gSa] rks dqN iSVuZ fn[krs gS
fuEufyf[kr nkos fd,
jek % tc ge nks fo”ke la[;kvksa dks
tksM+rs gSa] rks ges lnSo ,d fo”ke
la[;k izkIr gksrh gSA
vferkst % tc ge nks fo”ke
la[;kvksa dks tksM+rs gS
fo”ke la[;k ;k 
ldrh gSA  
jk[kh % tc ge nks fo”ke
dks tksM+rs gSa] 
la[;k izkIr gksrh gSA
‘ks[kj % tc ge nks fo”ke la[;kvksa
dks tksM+rs gSa
vHkkT; la[;k izkIr gksrh gSA
fdldk nkok lghlghlghlgh
(1) jek dk 
(3) jk[kh dk 

National Dairy Research Institute 

is situated in which District of 

Kurukshetra 

Rohtak 

  48. jk”Vªh; Ms;jh vuqla/kku laLFkku 
gfj;k.kk ds fdl ftys esa fLFkr gS
 
(1) djuky 
(3) fHkokuh 

Identify the insectivorous plant 

given in the picture and choose the 

 

  49. fp= esa fn;s x, dhV
igpkudj mfpr 
 

(1) ?kVi.khZ 
(2) ohul ¶ykbZVªSi
(3) vejcsy 
(4) dey dk Qwy

 

vferkst vkSj mlds rhu nksLr le 
vkSj fo”ke la[;kvksa ds lkFk dke 
dj jgs FksA mUgksaus ns[kk fd tc os 
le la[;k,¡ ;k fo”ke la[;k,¡ tksM+rs 

rks dqN iSVuZ fn[krs gSaA mUgkasus 
fuEufyf[kr nkos fd, % 
jek % tc ge nks fo”ke la[;kvksa dks 

] rks ges lnSo ,d fo”ke 
la[;k izkIr gksrh gSA 
vferkst % tc ge nks fo”ke 
la[;kvksa dks tksM+rs gSa] rks gesa ;k rks 
fo”ke la[;k ;k le la[;k izkIr gks 

jk[kh % tc ge nks fo”ke la[;kvksa 
 rks gesa ges’kk ,d le 

la[;k izkIr gksrh gSA 
‘ks[kj % tc ge nks fo”ke la[;kvksa 
dks tksM+rs gSa] rks gesa lnSo ,d 
vHkkT; la[;k izkIr gksrh gSA 

lghlghlghlgh gS \ 
(2) vferkst dk 

 (4) ‘ks[kj dk 
jk”Vªh; Ms;jh vuqla/kku laLFkku 
gfj;k.kk ds fdl ftys esa fLFkr gS \ 

(2) dq:{ks= 
(4) jksgrd 

fp= esa fn;s x, dhVHk{kh ikS/ks dks 
igpkudj mfpr fodYi pqusa % 

 

ohul ¶ykbZVªSi 

dey dk Qwy 
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50. Which place receives the highest 

rainfall in the world ? 

(1) Manali (2) Sikkim

(3) Shimla (4) Mawsynram

51. Shama has 5 coins with her. The

coins are either of ` 1, 

She has each type of the three 

coins denominations. What is the

amount of money that she cannot

have ? 

(1) ` 15 (2) `

(3) ` 10 (4) `

52. How many triangles are in the 

given figure ? 

(1) 4 (2) 6

(3) 7 (4) 5

53. Which of the following is the main 

reason behind Tsunami

(1) Volcano  

(2) Earthquake 

(3) Cyclone  

(4) Anticyclone 

( 17 ) 

 

Which place receives the highest 

 

Sikkim 

Mawsynram 

  50. fo’o esa lcls vf/kd o”kkZ dgk¡ gksrh 

gS \ 

(1) eukyh 

(3) f’keyk 

Shama has 5 coins with her. The 

1, ` 2 or ` 5. 

has each type of the three 

denominations. What is the 

amount of money that she cannot 

` 12 

` 13 

  51. ‘kek ds ikl 
#i;s] 2 #i;s ;k 
mlds ikl rhuks
bues ls dkSu&lh jkf’k mlds ikl

ugha gks ldrh 
 

(1) ` 15 

(3) ` 10 

How many triangles are in the 

 

6 

5 

  52. nh xbZ vkd`fr esa f=Hkqtksa dh la[;k 
fdruh gS \ 

(1) 4 

(3) 7 

Which of the following is the main 

reason behind Tsunami ? 

  53. fuEufyf[kr esa ls lqukeh dk eq[; 
dkj.k dkSu&lk gS

(1) Tokykeq[kh 

(2) HkwdEi 

(3) pØokr 

(4) izfrpØokr

B 

P. T. O. 

fo’o esa lcls vf/kd o”kkZ dgk¡ gksrh 

(2) flfDde 

(4) ekSflujke 

‘kek ds ikl 5 flDds gSaA flDds 1 
#i;s ;k 5 #i;s ds gSaA 

mlds ikl rhuksa ewY; okys flDds gSaA 
bues ls dkSu&lh jkf’k mlds ikl 

 \ 

(2) ` 12 

(4) ` 13 

xbZ vkd`fr esa f=Hkqtksa dh la[;k 

 

(2) 6 

(4) 5 

fuEufyf[kr esa ls lqukeh dk eq[; 
lk gS \ 

  

 

izfrpØokr 
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54. Who was the first Law Minister in 

Independent India ? 

(1) Bhimrao Ambedkar 

(2) Sardar Vallabhbhai Patel 

(3) Mani Shankar Aiyar  

(4) Maulana  Abul Kalam 

  54. LorU= Hkkjr ds izFke dkuwu eU=h 
dkSu Fks \ 
(1) Hkhejko vEcsMdj 
(2) ljnkj oYyHk HkkbZ iVsy 
(3) ef.k’kadj v¸;j 
(4) ekSykuk vcqy dyke 

55. Egrets are solitary birds. Which of 

the statement(s) is/are true in 

relation to Egrets ? 

i. They site on buffaloes and 

picks out worms from beneath 

the hair on their skin for 

eating. 

ii. Hang around cattle and are 

very beneficial for cattle 

farmers. 

iii. They sleep in water only. 

(1) Only ii (2) Only i and ii 

(3) All i, ii, iii (4) Only ii and iii 

  55. ,xzsV~l ,dkUr esa jgus okyk i{kh gSA 
,xzsV~l ds laca/k esa dkSu&lk dFku 
lR;lR;lR;lR; gS \ 
i. os vdlj HkSalksa ij cSBrs gSa vkSj 

[kkus ds fy, mudh Ropk ij 
ckyksa ds uhps ls dhM+s fudkyrs 
gSaA 

ii. eosf’k;ksa ds pkjksa vksj ?kwers gSa o 
i’kqikydksa ds fy, cgqr Qk;nsean 
gSaA 

iii. os ikuh esa gh lksrs gSaA 
(1) dsoy ii (2) dsoy i vkSj ii 
(3) lHkh i, ii, iii (4) dsoy ii vkSj iii 

56. A person has 15 cows and some 

chickens. If the number of legs 

(cows and chickens) is 84. How 

many chickens does he have ? 

(1) 24 (2) 12 

(3) 42  (4) 30 

  56. ,d O;fDr ds ikl 15 xk;sa vkSj dqN 
eqxsZ gSaA ;fn iSjksa ¼xk;sa vkSj eqxsZ½ dh 
la[;k 84 gS] rks mlds ikl fdrus 
eqxsZ gSa \ 
(1) 24 (2) 12 

(3) 42  (4) 30 

57. If 5th of a month is Friday, then 

what day of the week will it be on 

15th of that month ? 

(1) Tuesday  (2) Monday 

(3) Sunday (4) Wednesday 

  57. fdlh eghus dh 5 rkjh[k dks ‘kqØokj 
gS] rks ml eghus dh 15 rkjh[k dks 
lIrkg dk dkSu&lk fnu gksxk \ 
(1) eaxyokj (2) lkseokj 
(3) jfookj (4) cq/kokj 

58. In which year Kalpana Chawla 

was selected as an astronaut in 

‘NASA’ ? 

(1) 1993  (2) 1994 

(3) 1995  (4) 1996 

  58. dYiuk pkoyk dk ^uklk* esa varfj{k 
;k=k ds fy, p;u fdl o”kZ gqvk \ 
 
(1) 1993  (2) 1994 

(3) 1995  (4) 1996 
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59. Who discovered the mosquito of 

Malaria ? 

(1) Ronald  Ross  

(2) Kalpana Chawala

(3) Bachendri Pal 

(4) Bhimrao Ambedkar

60. In which country were the first 

Olympic games held ?

(1) Greece (2) France

(3) Germany (4) England

Direction : (Question No. 

the following questions, a

relationship is established 

first figure and the second figure of the

question figure. The same 

established in the third figure and

the alternative figures. 

alternative figure. 

61. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)
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Who discovered the mosquito of 

Kalpana Chawala 

Bhimrao Ambedkar 

  59. eysfj;k ds ePNj dh [kkst fdlus 

dh Fkh \ 

(1) jksukYM jkWl

(2) dYiuk pkoyk

(3) cNsanzh iky

(4) Hkhejko vEcsMdj

In which country were the first 

Olympic games held ? 

France 

England 

  60. izFke vksyafid [ksyksa dk vk;kstu
fdl ns’k esa gqvk Fkk

(1) ;wuku 

(3) teZuh 

Direction : (Question No. 61 to 63) In 

, a special 

 between the 

second figure of the 

figure. The same relation is 

established in the third figure and one of 

 Select this 

  
funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa iz’u vkd`fr
rFkk nwljh vkd`fr 

LFkkfir gSA ;gh lEcU/k rhljh vkd`fr rFkk
oSdfYid vkd`fr;ksa esa ls ,d esa LFkkfir gSA

bl oSdfYid vkd`fr dk p;u

 

 

 

  
61. iz’u vkd`fr;k¡

(1)

   

(3)

  

B 

P. T. O. 

eysfj;k ds ePNj dh [kkst fdlus 

jksukYM jkWl 

dYiuk pkoyk 

cNsanzh iky 

Hkhejko vEcsMdj 

izFke vksyafid [ksyksa dk vk;kstu 
fdl ns’k esa gqvk Fkk \ 

(2) Ýkal 

(4) baXySaM 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 61    lslslsls    63½½½½ fuEu fn, 
x, iz’uksa esa iz’u vkd`fr dh igyh vkd`fr 

 esa ,d fo’ks”k lEca/k 

lEcU/k rhljh vkd`fr rFkk 
vkd`fr;ksa esa ls ,d esa LFkkfir gSA 

bl oSdfYid vkd`fr dk p;u dhft,A 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)
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62. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

63. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

64. In Braille language, with how

many dots, alphabets are formed

 

(1) Five (2) Six

(3) Eight (4) Four

65. In a sludge tank, the gas mainly 

produced, is : 

(1) Nitrogen 

(2) Hydrogen 

(3) Carbon dioxide 

(4) Oxygen 

( 20 ) 

 

 

 

 

  62. iz’u vkd`fr;k¡

(1)

   

(3)

  

 

 

 

  63. iz’u vkd`fr;k¡

(1)

   

(3)

 

In Braille language, with how 

many dots, alphabets are formed ? 

Six 

Four 

  64. czsy fyfi esa fdrus fcanqvksa }kjk o.kks± 
dh vkd`fr;ksa dk fuekZ.k fd;k tkrk
gS \ 

(1) ik¡p  

(3) vkB 

In a sludge tank, the gas mainly   65. ,d dhpM+ VSad esa 
mRikfnr xSl gksrh gS

(1) ukbVªkstu 

(2) gkbMªkstu 

(3) dkcZu MkbvkWDlkbM

(4) vkWDlhtu 

 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  

esa fdrus fcanqvksa }kjk o.kks± 
dh vkd`fr;ksa dk fuekZ.k fd;k tkrk 

(2) N% 

(4) pkj 

,d dhpM+ VSad esa eq[; :i ls 
mRikfnr xSl gksrh gS % 

 

 

dkcZu MkbvkWDlkbM 
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66. Who was the father of Green 

Revolution ? 

(1) C. V. Raman 

(2) A. P. J. Abdul Kalam

(3) Rakesh Sharma 

(4) M. S. Swaminathan

67. Reena is making 8 Necklaces by

stringing beads together. To make

one Necklace, she will repeat the

pattern of beads four times

(patterns is shown in the picture). 

How many black and white beads

will be needed to make all eight

Necklaces ? 

(1) Black 10 and white 4

(2) Black 40 and white 16

(3) Black 320 and white 128

(4) Black 100 and white 40

68. Match the flora/vegetation and 

fauna/animals : 

a. Bamboo (i) Vegetation

b. Flowers (ii) Animals

c. Yak (iii) Flora

d. Wild goats (iv) Fauna

(1) a-(iii), b-(i), c-(ii), d

(2) a-(ii), b-(iii), c-(i), d

(3) a-(iv), b-(iii), c-(i), 

(4) a-(iv), b-(ii), c-(i), d

( 21 ) 

 

Who was the father of Green 

Abdul Kalam 

Swaminathan 

  66. gfjr ØkfUr ds tud dkSu Fks
 

(1) lh0 oh0 

(2) ,0 ih0 ts0

(3) jkds’k ‘kekZ

(4) ,e0 ,l0

Reena is making 8 Necklaces by 

stringing beads together. To make 

one Necklace, she will repeat the 

pattern of beads four times 

(patterns is shown in the picture).  

How many black and white beads 

will be needed to make all eight 

 

Black 10 and white 4 

Black 40 and white 16 

Black 320 and white 128 

Black 100 and white 40 

  67. jhuk eksrh fijks
cuk jgh gSA ,d gkj cukus ds 
og fp= esa fn[kk, x, vuqlkj]
eksfr;ksa ds iSVuZ dks pkj ckj
nksgjk,xhA lHkh vkB gkj cukus ds
fy, fdrus dkys vkSj lQsn eudks
dh vko’;drk gksxh
 

(1) dkys 10 vkSj lQsn 

(2) dkys 240 

(3) dkys 320 

(4) dkys 100 

Match the flora/vegetation and 

Vegetation 

Animals 

Flora 

Fauna 

d-(iv) 

d-(iv) 

(i), d-(ii) 

d-(iii) 

  68. ouLifr@isM+-ikS/ks
tkuojksa dk feyku djsa

a. ckal 

b. Qwy 

c. ;kd 

d. taxyh cdfj;k

(1) a-(iii), b-(i), 

(2) a-(ii), b-(iii), 

(3) a-(iv), b-(iii), 

(4) a-(iv), b-(ii), 

B 

P. T. O. 

gfjr ØkfUr ds tud dkSu Fks \ 

 jeu  

ts0 vCnqy dyke 

jkds’k ‘kekZ 

0 LokehukFku 

jhuk eksrh fijksdj eksfr;ksa ds 8 gkj 
cuk jgh gSA ,d gkj cukus ds fy, 
og fp= esa fn[kk, x, vuqlkj] 
eksfr;ksa ds iSVuZ dks pkj ckj 

lHkh vkB gkj cukus ds 
fy, fdrus dkys vkSj lQsn eudksa 
dh vko’;drk gksxh \ 

 

vkSj lQsn 4  

 vkSj lQsn 96 

 vkSj lQsn 128 

 vkSj lQsn 40 

ikS/ks vkSj tho-tUrq@ 
tkuojksa dk feyku djsa % 

 (i) isM+-ikS/ks 

 (ii) tkuojksa 

 (iii) ouLifr 

taxyh cdfj;k¡ (iv) tho-tUrq 

(i), c-(ii), d-(iv) 

(iii), c-(i), d-(iv) 

(iii), c-(i), d-(ii) 

(ii), c-(i), d-(iii) 
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69. Match the following with their 

appropriate relation : 

 Column–A  Column–B 

a. Morni Hills (i) Wild life 

Sancturary 

b. Dhosi Hill (ii) Tourism 

c. Kapal Mochan (iii) Herbs 

d.  Nahar (iv) Cultural 

Heritage 

(1) a-(ii), b-(iii), c-(iv), d-(i) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

  69. fuEufyf[kr dks muds mfpr laca/k ds 
lkFk lqesfyr djsa % 

    LrEHk&vLrEHk&vLrEHk&vLrEHk&v  LrEHk&cLrEHk&cLrEHk&cLrEHk&c    

a. eksjuh dh igkfM;ka (i) oU; tho 
  vH;kj.k 

b. <kslh igkM+h (ii) i;ZVu 

c. diky ekspu (iii) tM+h cwVh 

d. ukgj (iv) lkaLd`frd 
 fojklr 

(1) a-(ii), b-(iii), c-(iv), d-(i) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

70. Which Vitamin is present in 

abundance in Amla ? 

(1) Vitamin A  

(2) Vitamin D 

(3) Vitamin B  

(4) Vitamin C 

  70. vk¡oyk esa dkSu&lk foVkfeu izpqj  
ek=k esa ik;k tkrk gS \ 

(1) foVkfeu A  

(2) foVkfeu D 

(3) foVkfeu B  

(4) foVkfeu C 
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jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, / FOR ROUGH WORK 



  

    

5. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd 
uhps fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn 
mÙkj okys [kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk 
mÙkj xyr ekuk tk,xkA 

        5. Answers   to  questions  in answer sheet are  to  be  
given by darkening complete circle using black ball 
point pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as given 
below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z iz'u iqfLrdk esa bl iz;kstu ds fy, nh xbZ 
[kkyh txg ij gh djsaA 

        6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy mÙkj i=d (OMR) ij gh vafdr 
djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus 
gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

        7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, mÙkj i=d (OMR) ij dsoy ,d gh 
o`Ùk dks iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA ,d 
ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk 
ldrk gSA 

        8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed 

to be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u 
tk,  ,oa ml ij dksbZ vU; fu’kku u yxk,¡A 
vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr 
LFkku ds vfrfjDr vU;= u fy[ksaA 

        9. The candidate should ensure that the Answer Sheet is 

not folded. Do not make any stray mark on Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. iz'u iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] 
D;ksafd fdlh Hkh ifjfLFkfr esa ¼dsoy iz'u iqfLrdk ,oa 
mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ 
nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA 

        10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of 

Test Booklet will not be provided. 

11. iz'u iqfLrdk@mÙkj i=d esa fn, x, Øekad dks 
vH;FkhZ lgh rjhds ls gkftjh i= esa fy[ksaA 

        11. The candidate will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds 
vfrfjDr fdlh izdkj dh ikB~; lkexzh] eqfnzr ;k 
gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby Qksu] 
bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh 
dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

        12. Candidate is not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. fujh{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk 
izos’k&i= ¼jksy ua0½ fn[kk,¡A 

        13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k fujh{kd dh fo’ks"k vuqefr ds fcuk 
dksbZ vH;FkhZ viuk LFkku u NksMa+sA 

        14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA         15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa iz'u&iqfLrdk ,oa mÙkj&i=d dk dksbZ 
Hkkx vyx u djsaA 

        16. No part of test Booklet and Answer-sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ ijh{kk d{k@gkWy 
NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; 
lkSai nsaA vH;FkhZ vius lkFk iz'u iqfLrdk dks ys tk 
ldrs gSaA 

        17. On completion of the test, candidate must hand over the 

Answer Sheet to the Invigilator in the Room/Hall. The 

candidate is allowed to take away this Test Booklet with 

them. 
 

� � 
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n k o k L o hd k j  ug ha f d; k tk , x kA n k o k L o hd k j  ug ha f d; k tk , x kA n k o k L o hd k j  ug ha f d; k tk , x kA n k o k L o hd k j  ug ha f d; k tk , x kA b u b u b u b u 10 feuV k sa ds v f r fj D r ]  feuV k sa ds v f r fj D r ]  feuV k sa ds v f r fj D r ]  feuV k sa ds v f r fj D r ]  iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s 2½ ? k aV s d k  le;  fn ; k  tk, x k A? k aV s d k  le;  fn ; k  tk, x k A? k aV s d k  le;  fn ; k  tk, x k A? k aV s d k  le;  fn ; k  tk, x k A         

 v H;v H;v H;v H; f FkZ ;ks a  ds  fy , f uns Z 'kf FkZ ;ks a  ds  fy , f uns Z 'kf FkZ ;ks a  ds  fy , f uns Z 'kf FkZ ;ks a  ds  fy , f uns Z 'k     %%%%          INSTRUCTIONS FOR THE CANDIDATES :    

1.  mÙkj i=d  (OMR) bl  iz 'u iq f Lrd k d s  vUnj j[kk  
gS A t c vk id ks  iz 'u iq f Lrd k [k ks y us  d ks  d gk  tk,] rk s  
mÙkj i=d  f ud k y d j /;ku l s  d s oy  dky s  ckW y Iokba V 
is u l s  f ooj.k Hk js a A 

  1. The OMR Answer Sheet is inside this Test Booklet. 

When you are directed to open the Test Booklet, take out 

the Answer Sheet and fill the particulars carefully with 

black ball point pen only. 

2. ijh{k k dh  vof/ k 2½ ? ka Vs  ? ka Vs  ? ka Vs  ? ka Vs  gS  ,oa  iz 'u  iq fLrd k  es a 70 iz ’u 
gS a A iz R ;sd  iz 'u ,d  v a d  d k gS A d k s bZ  _ .k kR ed  va d u d k s bZ  _ .k kR ed  va d u d k s bZ  _ .k kR ed  va d u d k s bZ  _ .k kR ed  va d u 

u gh a  gS Au gh a  gS Au gh a  gS Au gh a  gS A 

  2.  The test is of 2½ hours duration and consists of 

70 questions. Each question carries one mark.  There is no 

negative marking.    

3. bl  i`" B ij fooj .k va fd r d jus  ,oa  mÙk j i=d  ij  
f u’k ku yxk us  ds  f y, d s oy  d kys  ck W y Iokba V is u d k 
iz ;ks x d js a A     vH;Fk hZ  iz 'u-iq fLrd k  d k mi;ks x d ju s  , oa  
mÙkj i=d  d ks  Hk jus  es a  l ko/k ku h cjrs a A nw l jh iz 'unw l jh iz 'unw l jh iz 'unw l jh iz 'u-

iq fLrd k  liq fLrd k  liq fLrd k  liq fLrd k  l ss ss V ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhA 

  3. Use Black Ball Point Pen only for writing particulars on 

this page/marking responses in the Answer Sheet. The 

candidate should remain careful in handling  the question 

paper and in marking the answers on the answer sheet. 

Another booklet set will not be given.    

4. ;g Hk h l q fuf’p r d j ys a  fd  iz 'u iq fLrd k  Ø e kad  vk S j 
mÙkj i=d  Ø e kad  ,d  gh gS a A vxj ;g fHk Uu gks a ;k  
iz 'u iq f Lrd k e s a  d ks bZ  i"̀ B Miss ;k Misprint gks rks  
vH;Fkh Z  nw l jh iz ’u-iq fLrdk  vkS j mÙkj i=d  y s us  d s  
f y, f ujh {kd  d ks  rq jU r voxr d jok,A 

  4. Also ensure that your Test Booklet Serial No. and 

Answer Sheet Serial No. are the same. In case of 

discrepancy or any page is Miss or Misprint in test 

booklet, the candidate should immediately report the 

matter to the Invigilator for replacement of both the Test 

Booklet and the Answer Sheet.    

u ks Vu ks Vu ks Vu ks V     %%%%     bl  iq f Lrd k d s  vUr  e s a  f n,bl  iq f Lrd k d s  vUr  e s a  f n,bl  iq f Lrd k d s  vUr  e s a  f n,bl  iq f Lrd k d s  vUr  e s a  f n,     x ,  'ks" k f uns Z 'kk sa  d k s  x ,  'ks" k f uns Z 'kk sa  d k s  x ,  'ks" k f uns Z 'kk sa  d k s  x ,  'ks" k f uns Z 'kk sa  d k s  
i <+ s a Ai <+ s a Ai <+ s a Ai <+ s a A 

  Note : Read other remaining instructions given on the last 

page of this Booklet.    
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Direction : (Question No. 

the following questions a 

number is given. Select the 

resembles the mirror image

question figure/word/number.

1. 

 

(1)
   

(2)
 

(3)
  

(4)
 

2. 

 

(1)
   

(2)
  

(3)
  

(4)
  

3. 

 

(1)

   

(2)

 

(3)

  

(4)

 

( 3 ) 

 

Direction : (Question No. 1 to 4) In 

 figure/word/ 

 option which 

resembles the mirror image of the 

question figure/word/number. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa vkd`fr@
gSA vki ml fodYi dk p;u djsa tks iz’u
vkd`fr@‘kCn@la[;k ds niZ.k izfrfcac
fn[krk gSA 

 

 

  1. 

(1)
  

(3)
 

  2. 

(1)
  

(2)
 

(3)
 

(4)
 

 

 

  3. 

(1)

  

(3)

 

C 

P. T. O. 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 1    lslslsls    4½½½½ fuEu fn, 
vkd`fr@ ’kCn@la[;k nh xbZ 
fodYi dk p;u djsa tks iz’u 

vkd`fr@‘kCn@la[;k ds niZ.k izfrfcac tSlk 

 

 
(2)

  

 
(4)

  

 

 

 

 

 

 

 

(2)

  

 

(4)
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4. 

 

(1)

   

(2)

 

(3)

  

(4)

 

5. Sohan leaves his house and start

walking towards East. After

walking some distance, he

right and starts walking. In which

direction is he going now

(1) North  (2) West

(3) South (4) East

Direction : (Question No. 

these questions a number/letter

given. In which one term

Find the missing number/letter, which 

when placed at the place of question 

mark (?), will complete the series.

6. 8, 11, 15, 20, ? 

(1) 25 (2) 26

(3) 27  (4) 23

7. 17, 22, 27, 32, ? 

(1) 35 (2) 36

(3) 38  (4) 37

8. A, C, F, J, ? 

(1) N (2) O

(3) M  (4) K

( 4 ) 

 

 

 

  4. 

(1)

  

(3)

 

Sohan leaves his house and start 

walking towards East. After 

walking some distance, he turns 

right and starts walking. In which 

direction is he going now ? 

West 

East  

  5. lksgu vius ?kj ls fudydj iwoZ dh
vksj pyuk izkjaHk djrk gSA dqN nwj
pyus ds ckn og nk,¡ eqM+dj pyuk
izkajHk djrk gS
esa tk jgk gS \

(1) mÙkj 

(3) nf{k.k 

Direction : (Question No. 6 to 9) In 

these questions a number/letter series is 

given. In which one term is missing. 

number/letter, which 

at the place of question 

complete the series. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
,d la[;k@v{kj Ükà[kyk nh
,d in yqIr gSA yqIr
djsa] tks iz’u fpg~u ¼
ij Ük`a[kyk dks iw.kZ djrk gksA

26 

23 

  6. 8, 11, 15, 20, ?

(1) 25 

(3) 27  

36 

37 

  7. 17, 22, 27, 32, ?

(1) 35 

(3) 38  

O 

K 

  8. A, C, F, J, ? 

(1) N 

(3) M  

 

 

 

(2)

  

 

(4)

  

lksgu vius ?kj ls fudydj iwoZ dh 
vksj pyuk izkjaHk djrk gSA dqN nwj 
pyus ds ckn og nk,¡ eqM+dj pyuk 
izkajHk djrk gSA vc og fdl fn’kk 

\ 

(2) if’pe 

(4) iwoZ 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 6 ls ls ls ls 9½½½½ bu iz’uksa esa 
Ükà[kyk nh xbZ gS ftlesa 

,d in yqIr gSA yqIr la[;k@v{kj Kkr 
fpg~u ¼\½ ds LFkku ij j[kus 

djrk gksA 

8, 11, 15, 20, ? 

(2) 26 

(4) 23 

17, 22, 27, 32, ? 

(2) 36 

(4) 37 

(2) O 

(4) K 
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9. EFG, IJK, MNO 

(1) RST (2) QSR

(3) QRS  (4) PQR

Direction : (Question No. 

the following questions, a

relationship is established 

first figure and the second figure of the

question figure. The same relation is

established in the third figure and

the alternative figures. 

alternative figure. 

10. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

11. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

( 5 ) 

 

QSR 

PQR 

  9. EFG, IJK, MNO

(1) RST 

(3) QRS  

Direction : (Question No. 10 to 12) In 

, a special 

 between the 

second figure of the 

figure. The same relation is 

established in the third figure and one of 

 Select this 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa iz’u vkd`fr
rFkk nwljh vkd`fr 
LFkkfir gSA ;gh lEcU/k rhljh vkd`fr rFkk
oSdfYid vkd`fr;ksa esa ls ,d esa LFkkfir gSA
bl oSdfYid vkd`fr dk p;u

 

 

 

  10. iz’u vkd`fr;k¡

(1)

   

(3)

  

 

 

 

  11. iz’u vkd`fr;k¡

(1)

   

(3)

  

C 

P. T. O. 

EFG, IJK, MNO 

(2) QSR 

(4) PQR 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 10    lslslsls    12½½½½ fuEu fn, 
x, iz’uksa esa iz’u vkd`fr dh igyh vkd`fr 

 esa ,d fo’ks”k lEca/k 
lEcU/k rhljh vkd`fr rFkk 

vkd`fr;ksa esa ls ,d esa LFkkfir gSA 
bl oSdfYid vkd`fr dk p;u dhft,A 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)
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12. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

13. If Raghav is seventh from the back

in a row of 25 students. What will

be the Raghav’s position from the

front in the row ? 

(1) 19th (2) 18th

(3) 17th (4) 32

14. If 5th of a month is 

what day of the week will it be on

15th of that month ? 

(1) Tuesday  (2) Monday

(3) Sunday (4) Wednesday

15. Sahil took a bus at 7:40 a.m. from

Delhi. He reached Haridwar after 

6 hours 25 minutes. At what time

did he reach Haridwar

(1) 1:05 a.m. (2) 2:05 a.m.

(3) 2:05 p.m. (4) 1:15 p.m.

( 6 ) 

 

 

 

 

  12. iz’u vkd`fr;k¡

(1)

   

(3)

 

If Raghav is seventh from the back 

in a row of 25 students. What will 

Raghav’s position from the 

18th 

32nd 

  13. 25 Nk=ksa dh iafDr esa jk?ko dk ihNs

ls 7ok¡ LFkku gS] rks jk?ko dk vkxs

ls dkSu&lk LFkku gksxk

 

(1) 19ok¡ 

(3) 17ok¡ 

If 5th of a month is Friday, then 

what day of the week will it be on 

 

Monday 

Wednesday 

  14. fdlh eghus dh 

gS] rks ml eghus dh 

lIrkg dk dkSu&lk fnu gksxk

(1) eaxyokj 

(3) jfookj 

Sahil took a bus at 7:40 a.m. from 

He reached Haridwar after 

hours 25 minutes. At what time 

did he reach Haridwar ? 

2:05 a.m. 

1:15 p.m. 

  15. lkfgy us izkr% 

cl yhA 6 ?kaVs 

gfj}kj igq¡pkA og fdrus cts

gfj}kj igq¡pk 

(1) 1:05 a.m. 

(3) 2:05 p.m. 

 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  

Nk=ksa dh iafDr esa jk?ko dk ihNs 

ok¡ LFkku gS] rks jk?ko dk vkxs 

ls dkSu&lk LFkku gksxk \ 

(2) 18ok¡ 

(4) 32ok¡ 

fdlh eghus dh 5 rkjh[k dks ‘kqØokj 

gS] rks ml eghus dh 15 rkjh[k dks 

lIrkg dk dkSu&lk fnu gksxk \ 

 (2) lkseokj 

(4) cq/kokj 

lkfgy us izkr% 7:40 ij fnYyh ls 

?kaVs 25 feuV ds ckn og 

pkA og fdrus cts 

 \ 

 (2) 2:05 a.m. 

 (4) 1:15 p.m. 
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Direction : (Question No. 

The given figure (x) is followed by four

figures (1), (2), (3) and (4) such that (x) is

embedded in one of them. Trace out the

correct alternative. 

16. 

 

         (x) 

(1)

   

(2)

 

(3)

  

(4)

 

17. 

 

       (x) 

(1)

   

(2)

 

(3)

  

(4)

 

( 7 ) 

 

Direction : (Question No. 16 and 17) 

The given figure (x) is followed by four 

figures (1), (2), (3) and (4) such that (x) is 

one of them. Trace out the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 

fp= (x) pkj fp=ksa (1), (2), (3)

ls ,d dk ifj.kke gS] tks fd buesa ls

fdlh ,d esa fufgr gSA 

igpku djsaA 

 

 

  16. 

 

         (x) 

(1)

  

(3)

 

 

 

  17. 

 

       (x) 

(1)

  

(3)

 

C 

P. T. O. 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 16    ,o,o,o,oaaaa    17½½½½ fn;k x;k 

(1), (2), (3) vkSj (4) esa 

ls ,d dk ifj.kke gS] tks fd buesa ls 

fdlh ,d esa fufgr gSA lghlghlghlgh fodYi dh 

 

 

(2)

  

 

(4)

  

 

(2)

  

 

(4)
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Direction : (Question No. 18 and 19) 

In the following questions some words 

are given which are in the given order. 

These words have to be arranged in a 

systematic order and then choose the 

correct option from given four options, 

which shows meaningful order of words. 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 18    ,oa ,oa ,oa ,oa 19½½½½ fuEu 
iz’uksa esa dqN ‘kCn gSa tks fd vO;ofLFkr 
Øe esa gSaA bu ‘kCnksa dks O;ofLFkr Øe esa 
ltkuk gS rFkk mlds ckn fn, pkj fodYiksa 
esa ls lgh fodYi dks pquuk gS] tks ‘kCnksa 
dk lkFkZd Øe n’kkZ,A 

18. a. Flower, b. Leaf, c. Trunk, 

d. Root, e. Fruit 

(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 

  18. a. Qwy] b. iÙkk] c. ruk] d. tM+] 
e. Qy 
(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 

19. a. District, b. Village, c. Country, 

d. State, e. City 

(1) b→e→a→d→c 

(2) d→c→a→b→e 

(3) b→a→d→e→c 

(4) b→a→e→d→c 

  19. a. ftyk] b. xk¡o] c. ns’k] d. jkT;] 
e. ‘kgj 
(1) b→e→a→d→c 

(2) d→c→a→b→e 

(3) b→a→d→e→c 

(4) b→a→e→d→c 

20. How many such pairs of letters are 

there in the word CONFIRM each 

of which has as many letters 

missing between them as there are 

in the English alphabet ? 

(1) 3 (2) 1 

(3) 4 (4) 2 

  20. ‘kCn CONFIRM esa ,sls fdrus v{kj 
;qXe gSa ftuesa ls izR;sd ds chp mrus 
gh v{kj yqIr gSa ftrus fd muds 
chp vaxzsth o.kZekyk esa gksrs gSa \ 
 
(1) 3 (2) 1 

(3) 4 (4) 2 

21. Match the flora/vegetation and 

fauna/animals : 

a. Bamboo (i) Vegetation 

b. Flowers (ii) Animals 

c. Yak (iii) Flora 

d. Wild goats (iv) Fauna 

(1) a-(iii), b-(i), c-(ii), d-(iv) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

  21. ouLifr@isM+-ikS/ks vkSj tho-tUrq@ 
tkuojksa dk feyku djsa % 
a. ckal  (i) isM+-ikS/ks 
b. Qwy  (ii) tkuojksa 
c. ;kd  (iii) ouLifr 
d. taxyh cdfj;k¡ (iv) tho-tUrq 
(1) a-(iii), b-(i), c-(ii), d-(iv) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 
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Direction : (Question No. 

In each of the following figures

are written according to some patterns. 

One number is missing. Find the 

missing number that replace the 

question mark (?). 

22. 

 

(1) 36 (2) 27

(3) 26 (4) 32

23. 

 

(1) 15 (2) 19

(3) 4 (4) 18

24. Which Vitamin is present in

abundance in Amla ? 

(1) Vitamin A (2) Vitamin D

(3) Vitamin B (4) Vitamin C

25. Which instrument is used to 

measure the intensity of 

Earthquake ? 

(1) Seismograph 

(2) Odometer 

(3) Barometer  

(4) Thermometer 

( 9 ) 

 

Direction : (Question No. 22 and 23) 

In each of the following figures number 

some patterns. 

missing. Find the 

that replace the 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
xbZ izR;sd vkd`fr esa ,d fuf’pr
vuqlkj dqN la[;k,¡ fy[kh xbZ
,d la[;k yqIr gSA yqIr
tks iz’u fpg~u ¼\½ 
gksA 

27 

32 

  22. 

(1) 36 

(3) 26 

19 

18 

  23. 

(1) 15 

(3) 4 

Which Vitamin is present in 

 

Vitamin D 

Vitamin C 

  24. vk¡oyk esa dkSu
ek=k esa ik;k tkrk gS

(1) foVkfeu A

(3) foVkfeu B

instrument is used to 

measure the intensity of 

  25. Hkwdai dh rhozrk dk irk yxkus ds 
fy, fdl ;a= dk iz;ksx fd;k tkrk 
gS \ 
(1) flLeksxzkQ 
(2) vksMksehVj 
(3) cSjksehVj 
(4) FkekZehVj 

C 

P. T. O. 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 22    ,oa,oa,oa,oa    23½½½½ uhps nh 
xbZ izR;sd vkd`fr esa ,d fuf’pr Øe 

kj dqN la[;k,¡ fy[kh xbZ gSaA buesa ls 
,d la[;k yqIr gSA yqIr la[;k Kkr djsa] 

 ds LFkku ij mi;qDr 

 

(2) 27 

(4) 32 

 

(2) 19 

(4) 18 

oyk esa dkSu&lk foVkfeu izpqj  
ek=k esa ik;k tkrk gS \ 

A (2) foVkfeu D 

B (4) foVkfeu C 

Hkwdai dh rhozrk dk irk yxkus ds 
fy, fdl ;a= dk iz;ksx fd;k tkrk 
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26. Egrets are solitary birds. Which of 

the statement(s) is/are true in 

relation to Egrets ? 

i. They site on buffaloes and 

picks out worms from beneath 

the hair on their skin for 

eating. 

ii. Hang around cattle and are 

very beneficial for cattle 

farmers. 

iii. They sleep in water only. 

(1) Only ii (2) Only i and ii 

(3) All i, ii, iii (4) Only ii and iii 

  26. ,xzsV~l ,dkUr esa jgus okyk i{kh gSA 
,xzsV~l ds laca/k esa dkSu&lk dFku 
lR;lR;lR;lR; gS \ 

i. os vdlj HkSalksa ij cSBrs gSa vkSj 
[kkus ds fy, mudh Ropk ij 
ckyksa ds uhps ls dhM+s fudkyrs 
gSaA 

ii. eosf’k;ksa ds pkjksa vksj ?kwers gSa o 
i’kqikydksa ds fy, cgqr Qk;nsean 
gSaA 

iii. os ikuh esa gh lksrs gSaA 

(1) dsoy ii (2) dsoy i vkSj ii 

(3) lHkh i, ii, iii (4) dsoy ii vkSj iii 

27. Which bird can rotate its head by 

360° ? 

(1) Peacock (2) Owl 

(3) Sparrow (4) Parrot 

  27. dkSu&lk i{kh viuk flj 360° rd 
?kqek ldrk gS \ 

(1) eksj  (2) mYyw 

(3) xkSjS;k (4) rksrk 

28. In which country were the first 

Olympic games held ? 

(1) Greece (2) France 

(3) Germany (4) England 

  28. izFke vksyafid [ksyksa dk vk;kstu 
fdl ns’k esa gqvk Fkk \ 

(1) ;wuku (2) Ýkal 

(3) teZuh (4) baXySaM 

29. Who is known as Missile Man ? 

 

(1) Dr. A. P. J. Abdul Kalam 

(2) Abdul Gaffar 

(3) Morarji Desai 

(4) Atal Bihari Vajpai 

  29. felkby eSu ds uke ls fdls tkuk 
tkrk gS \ 

(1) MkW0 ,0 ih0 ts0 vCnqy dyke 

(2) vCnqy x¶Qkj 

(3) eksjkjth nslkbZ 

(4) vVy fcgkjh oktis;h 

30. In which direction Pole-star is 

always found ? 

(1) East (2) West 

(3) North (4) South 

  30. /kzqorkjk ges’kk fdl fn’kk esa gksrk 
gS \ 

(1) iwoZ  (2) if’pe 

(3) mÙkj (4) nf{k.k 
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31. Match the following with their 

appropriate relation : 

 Column–A  

a. Morni Hills (i) 

b. Dhosi Hill (ii) 

c. Kapal Mochan (iii) 

d.  Nahar (iv) 

(1) a-(ii), b-(iii), c-(iv), 

(2) a-(ii), b-(iii), c-(i), d

(3) a-(iv), b-(iii), c-(i), 

(4) a-(iv), b-(ii), c-(i), d

32. Which disease is caused

polluted water ? 

(1) Hepatitis B 

(2) Lung Cancer 

(3) Asthma 

(4) Pneumonia 

33. How many cubes are there in the 

given figure ? 

(1) 24 (2) 46

(3) 48 (4) 28

( 11 ) 

 

Match the following with their 

 

Column–B 

 Wild life 

Sancturary 

 Tourism 

 Herbs 

 Cultural 

Heritage 

(iv), d-(i) 

d-(iv) 

(i), d-(ii) 

d-(iii) 

  31. fuEufyf[kr dks muds mfpr laca/k ds 
lkFk lqesfyr djsa

    LrEHk&vLrEHk&vLrEHk&vLrEHk&v 

a. eksjuh dh igkfM;ka

b. <kslh igkM+h

c. diky ekspu

d. ukgj 

(1) a-(ii), b-(iii), 

(2) a-(ii), b-(iii), 

(3) a-(iv), b-(iii), 

(4) a-(iv), b-(ii), 

Which disease is caused by   32. xans ikuh ls gksus okyh chekjh 
dkSu&lh gS \ 

(1) gsisVkbfVl ch

(2) QsQM+ksa dk dSalj

(3) nek 

(4) fueksfu;k 

How many cubes are there in the 

 

46 

28 

  33. nh xbZ vkd`fr esa fdrus ?ku gSa
 

(1) 24 

(3) 48 

C 

P. T. O. 

fuEufyf[kr dks muds mfpr laca/k ds 
lkFk lqesfyr djsa % 

  LrEHk&cLrEHk&cLrEHk&cLrEHk&c    

eksjuh dh igkfM;ka (i) oU; tho 
 vH;kj.k 

<kslh igkM+h (ii) i;ZVu 

diky ekspu (iii) tM+h cwVh 

(iv) lkaLd`frd 
 fojklr 

(iii), c-(iv), d-(i) 

(iii), c-(i), d-(iv) 

(iii), c-(i), d-(ii) 

(ii), c-(i), d-(iii) 

xans ikuh ls gksus okyh chekjh 
 

fVl ch 

QsQM+ksa dk dSalj 

nh xbZ vkd`fr esa fdrus ?ku gSa \ 

 

(2) 46 

(4) 28 
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34. Select those things from the

following which can be dried and

preserved for a long time

Bread, Khichdi, Cereals, Ripe

Fruits, Pulses, Green Spinach,

Coriander and Chilies

(1) Roti, Khichdi, Green Spinach 

and Chilies 

(2) Cereals, Ripe Fruits

Green Spinach and Chilies

(3) Cereals, Pulses, Coriander

Chilies 

(4) Khichdi, Cereals,

and Coriander 

35. Which place receives the highest 

rainfall in the world ? 

(1) Manali (2) Sikkim

(3) Shimla (4) Mawsynram

36. Identify the insectivorous plant

given in the picture and choose the

appropriate option : 

 

(1) Pitcher Plant 

(2) Venus Flytrap 

(3) Amarbel 

(4) Lotus Flower 

( 12 ) 

 

Select those things from the 

following which can be dried and 

preserved for a long time : 

, Cereals, Ripe 

, Pulses, Green Spinach, 

and Chilies 

Roti, Khichdi, Green Spinach 

Cereals, Ripe Fruits, Pulses, 

Green Spinach and Chilies 

Cereals, Pulses, Coriander and 

Khichdi, Cereals, Ripe Fruits 

  
34. fuEu esa ls mu phtksa dks Nk¡

ftUgsa lq[kkdj vf/kd le; rd
lajf{kr fd;k tk ldrk gS

jksVh] f[kpM+h] vukt] ids Qy] nkysa] 
gjk ikyd] /kfu;k vkSj fepZ
 

(1) jksVh] f[kpM+h] gjk ikyd vkSj 
fepZ 

(2) vukt] ids Qy] nkysa] gjk
ikyd vkSj

(3) vukt] nkysa] /kfu;k vkSj fepZ
 

(4) f[kpM+h] vukt] ids Qy v
/kfu;k 

Which place receives the highest 

 

Sikkim 

Mawsynram 

  
35. fo’o esa lcls vf/kd o”kkZ dgk¡ gksrh 

gS \ 

(1) eukyh 

(3) f’keyk 

Identify the insectivorous plant 

given in the picture and choose the 

 

  
36. fp= esa fn;s x, dhV

igpkudj mfpr fodYi pqus
 

(1) ?kVi.khZ 
(2) ohul ¶ykbZVªSi
(3) vejcsy 
(4) dey dk Qwy

 

fuEu esa ls mu phtksa dks Nk¡fV, 
[kkdj vf/kd le; rd 

lajf{kr fd;k tk ldrk gS % 

jksVh] f[kpM+h] vukt] ids Qy] nkysa] 
gjk ikyd] /kfu;k vkSj fepZ 

jksVh] f[kpM+h] gjk ikyd vkSj 

vukt] ids Qy] nkysa] gjk 
ikyd vkSj fepZ 

vukt] nkysa] /kfu;k vkSj fepZ  

f[kpM+h] vukt] ids Qy vkSj 

fo’o esa lcls vf/kd o”kkZ dgk¡ gksrh 

(2) flfDde 

(4) ekSflujke 

fp= esa fn;s x, dhVHk{kh ikS/ks dks 
igpkudj mfpr fodYi pqusa % 

 

ohul ¶ykbZVªSi 

dey dk Qwy 



  

MSMSS/6–2023 

37. Who was the first women Astronaut 

in India ? 

(1) Kalpana Chawla 

(2) Bachhendri Pal 

(3) Sunita Williams  

(4) Geeta Phogat 

Direction : (Question No. 

Select the water image of the given 

figure/word. 

38. 

 

(1)

   

(2)

 

(3)

  

(4) 

39. 

 

(1)
   

(2)
 

(3)
  

(4)
 

( 13 ) 

 

Who was the first women Astronaut 

 

 

  
37. Hkkjr ns’k dh igyh varfj{k ;k=h 

dkSu Fkh \ 

(1) dYiuk pkoyk

(2) cNsanzh iky

(3) lquhrk fofy;El

(4) xhrk QksxkV

Direction : (Question No. 38 and 39) 

Select the water image of the given 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
vkd`fr@‘kCn dk ty izfrfcac pqfu,A

 

 

  38. 

(1)

  

(3)

 

 

 

  39. 

(1)
   

(3)
  

C 

P. T. O. 

Hkkjr ns’k dh igyh varfj{k ;k=h 

dYiuk pkoyk  

cNsanzh iky 

lquhrk fofy;El 

xkV 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 38    ,o,o,o,oaaaa    39½½½½ nh xbZ 
vkd`fr@‘kCn dk ty izfrfcac pqfu,A 

 

 

(2)

  

 

(4) 

 

 

 
(2)

 
 

 
(4)
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40. Each shape is made up of equal

squares. Area of each square is 

1 cm square. Observe the shapes

carefully and find which of the

statement written below is 

correct ? 

(1) Each shapes has area equal to

6 cm sq. 

(2) Each shape has perimeter

equal to 12 cm. 

(3) Shapes with equal areas have

equal perimeters. 

(4) Shapes with equal areas may

or may not 

perimeters. 

41. Observe the pattern and fill in the 

blank : 

(1) 19 (2) 21

(3) 25 (4) 33

42. In Braille language, with how

many dots, alphabets are formed

 

(1) Five (2) Six

(3) Eight (4) Four

( 14 ) 

 

Each shape is made up of equal 

squares. Area of each square is 

cm square. Observe the shapes 

carefully and find which of the 

statement written below is 

 

Each shapes has area equal to 

Each shape has perimeter 

Shapes with equal areas have 

 

Shapes with equal areas may 

 have equal 

  40. uhps nh xbZ vkd`fr leku oxks±
cuh gSA izR;sd oxZ dk {ks=Qy 
lseh gSA vkd`fr;ksa dks 
vkSj Kkr djsa fd uhps fy[ks x,
dFkuksa esa ls dkSu
 

(1) izR;sd vkd`fr dk {ks=Qy 
lseh gSA 

(2) izR;sd vkd`fr dk ifjeki 
lseh gSA 

(3) leku {ks=Qy okyh vkd`fr;ksa ds 
ifjeki leku gksrs gS

(4) leku {ks=Qy okyh vkd`fr;ksa 
ifjeki leku gks Hkh ldrs gS
vkSj ugha Hkh gks

Observe the pattern and fill in the 

 

21 

33 

  41. fn, x, iSVuZ dks ns[krs gq, fjDr 
LFkku Hkfj, % 

(1) 19 

(3) 25 

In Braille language, with how 

many dots, alphabets are formed ? 

Six 

Four 

  42. czsy fyfi esa fdrus fcanqvksa }kjk o.kks± 
dh vkd`fr;ksa dk fuekZ.k fd;k tkrk
gS \ 

(1) ik¡p  

(3) vkB 

 

uhps nh xbZ vkd`fr leku oxks± ls 
cuh gSA izR;sd oxZ dk {ks=Qy 1 oxZ 

gSA vkd`fr;ksa dks /;ku ls ns[ksa 
vkSj Kkr djsa fd uhps fy[ks x, 
dFkuksa esa ls dkSu&lk lghlghlghlgh gSa \ 

 

izR;sd vkd`fr dk {ks=Qy 6 oxZ 

izR;sd vkd`fr dk ifjeki 12 

leku {ks=Qy okyh vkd`fr;ksa ds 
leku gksrs gSaA 

leku {ks=Qy okyh vkd`fr;ksa ds 
leku gks Hkh ldrs gSa 

vkSj ugha Hkh gks ldrsA 

fn, x, iSVuZ dks ns[krs gq, fjDr 
 

 

(2) 21 

(4) 33 

esa fdrus fcanqvksa }kjk o.kks± 
dh vkd`fr;ksa dk fuekZ.k fd;k tkrk 

(2) N% 

(4) pkj 
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43. Najma’s mother used her own

method of multiplication to

multiply 18 by 5 and told 

broke 18 into 10 and 8. Now

multiplying 8 by 5, I got 40 and

10 × 5 = 50. Then I added 50 and

40 and got 90. 

Which of the following pictures 

represents the way she did it

(1)
   

(2)

  

(3)

  

(4)

  

44. Fill in the following blank by 

choosing the appropriate option

The Dolphin found in the ocean is 

a/an .............. . 

(1) Animal from reptile family

(2) Animal from fish family

(3) Child – bearing animal

(4) Animal from bird family

45. Which of the following is the main 

reason behind Tsunami

(1) Volcano (2) Earthquake

(3) Cyclone (4) Anticyclone

( 15 ) 

 

Najma’s mother used her own 

method of multiplication to 

multiply 18 by 5 and told – “First I 

broke 18 into 10 and 8. Now 

multiplying 8 by 5, I got 40 and 

50. Then I added 50 and 

following pictures 

way she did it ? 

 

 

 

  43. utek dh ekrk th us 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 
ßigys eSaus 18 
vc 8 dks 5 
40 vkSj 10 ×

vkSj 40 dks tksM+ fn;k] rks 

buesa ls dkSu
fd;s x, rjhds dks n’kkZ jgk gS

(1)
 

(2)

 

(3)

 

(4)

 

Fill in the following blank by 

choosing the appropriate option : 

The Dolphin found in the ocean is 

Animal from reptile family 

family 

bearing animal 

Animal from bird family 

  44. fuEu [kkyh LFkku dks mfpr fodY
pqudj Hkjsa % 

leqnz esa ik;h tkus okyh Mk
.............. gSA 
(1) ljhl`i dh tkfr dk tho
(2) eNfy;ksa dh tkfr dk tho
(3) cPps iSnk djus okyk tho
(4) if{k;ksa dh tkfr dk tho

Which of the following is the main 

reason behind Tsunami ? 

Earthquake 

Anticyclone 

  45. fuEufyf[kr esa ls lqukeh dk eq[; 
dkj.k dkSu&lk gS

(1) Tokykeq[kh 

(3) pØokr 

C 

P. T. O. 

utek dh ekrk th us 18 dks 5 ls 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 

 dks 10 vkSj 8 esa rksM+k 
 ls xq.kk fd;k] rks vk;k 
× 5 = 50, fQj eSaus 50 

dks tksM+ fn;k] rks 90 vk;kA  

buesa ls dkSu&lk fp= muds }kjk 
fd;s x, rjhds dks n’kkZ jgk gS \ 

  

 

 

 

fuEu [kkyh LFkku dks mfpr fodYi 

nz esa ik;h tkus okyh MkWfYQu ,d 
 

ljhl`i dh tkfr dk tho 
eNfy;ksa dh tkfr dk tho 
cPps iSnk djus okyk tho 
if{k;ksa dh tkfr dk tho 

fuEufyf[kr esa ls lqukeh dk eq[; 
lk gS \ 

 (2) HkwdEi 

(4) izfrpØokr 
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46. Reena is making 8 Necklaces by

stringing beads together. To make

one Necklace, she will repeat the

pattern of beads four times

(patterns is shown in the picture). 

How many black and white beads

will be needed to make all eight

Necklaces ? 

(1) Black 10 and white 4

(2) Black 40 and white 16

(3) Black 320 and white 128

(4) Black 100 and white 40

47. Who was the first Law Minister in 

Independent India ? 

(1) Bhimrao Ambedkar

(2) Sardar Vallabhbh

(3) Mani Shankar Aiyar 

(4) Maulana  Abul Kalam

48. A person has 15 cows and some

chickens. If the number of legs

(cows and chickens) is 84. How

many chickens does he have

(1) 24 (2) 12

(3) 42  (4) 30

49. In which year Kalpana Chawla

was selected as an astronaut in

‘NASA’ ? 

(1) 1993  (2) 1994

(3) 1995  (4) 1996

( 16 ) 

 

Reena is making 8 Necklaces by 

stringing beads together. To make 

one Necklace, she will repeat the 

pattern of beads four times 

(patterns is shown in the picture).  

How many black and white beads 

will be needed to make all eight 

 

nd white 4 

Black 40 and white 16 

Black 320 and white 128 

Black 100 and white 40 

  46. jhuk eksrh fijks
cuk jgh gSA ,d gkj cukus ds fy,
og fp= esa fn[kk, x, vuqlkj]
eksfr;ksa ds iSVuZ dks pkj ckj
nksgjk,xhA lHkh vkB gkj 
fy, fdrus dkys vkSj lQsn eudks
dh vko’;drk gksxh
 

(1) dkys 10 vkSj lQsn 

(2) dkys 240 

(3) dkys 320 

(4) dkys 100 

Who was the first Law Minister in 

Bhimrao Ambedkar 

hai Patel 

Mani Shankar Aiyar  

Maulana  Abul Kalam 

  47. LorU= Hkkjr ds izFke dkuwu eU=h 
dkSu Fks \ 

(1) Hkhejko vEcsMdj

(2) ljnkj oYyHk HkkbZ iVsy

(3) ef.k’kadj v¸;j

(4) ekSykuk vcqy dyke

A person has 15 cows and some 

If the number of legs 

(cows and chickens) is 84. How 

many chickens does he have ? 

12 

30 

  48. ,d O;fDr ds ikl 
eqxsZ gSaA ;fn iSjksa ¼xk;sa vkSj eqxsZ½ dh
la[;k 84 gS] rks mlds ikl
eqxsZ gSa \ 

(1) 24 

(3) 42  

In which year Kalpana Chawla 

was selected as an astronaut in 

1994 

1996 

  49. dYiuk pkoyk dk 
;k=k ds fy, p;u fdl o”kZ gqvk
 

(1) 1993  

(3) 1995  

 

jhuk eksrh fijksdj eksfr;ksa ds 8 gkj 
cuk jgh gSA ,d gkj cukus ds fy, 
og fp= esa fn[kk, x, vuqlkj] 
eksfr;ksa ds iSVuZ dks pkj ckj 

lHkh vkB gkj cukus ds 
fy, fdrus dkys vkSj lQsn eudksa 
dh vko’;drk gksxh \ 

 
vkSj lQsn 4  

 vkSj lQsn 96 

 vkSj lQsn 128 

 vkSj lQsn 40 

kjr ds izFke dkuwu eU=h 

Hkhejko vEcsMdj 

ljnkj oYyHk HkkbZ iVsy 

ef.k’kadj v¸;j 

ekSykuk vcqy dyke 

,d O;fDr ds ikl 15 xk;sa vkSj dqN 
A ;fn iSjksa ¼xk;sa vkSj eqxsZ½ dh 

gS] rks mlds ikl fdrus 

(2) 12 

(4) 30 

dYiuk pkoyk dk ^uklk* esa varfj{k 
;k=k ds fy, p;u fdl o”kZ gqvk \ 

(2) 1994 

(4) 1996 



  ( 17 ) C 

MSMSS/6–2023  P. T. O. 

50. What change do you feel in the 

taste of a piece of bread when you 

chew it excessively ? 

(1) The bread starts to taste a 

little sour when chewed 

excessively. 

(2) The bread stats to taste a little 

sweet when chewed 

excessively. 

(3) The bread starts to taste a 

little bitter when chewed 

excessively. 

(4) The bread becomes tasteless 

when chewed excessively. 

  50. ,d jksVh ds VqdM+s dks vf/kd pckus 
ij mlds Lokn esa vki D;k ifjorZu 
eglwl djrs gSa \ 
(1) vf/kd pckus ij jksVh FkksM+h 

[kV~Vh yxus yxrh gSA 
 

(2) vf/kd pckus ij jksVh FkksM+h 
ehBh yxus yxrh gSA 
 

(3) vf/kd pckus ij jksVh FkksM+h 
dM+oh yxus yxrh gSA 
 

(4) vf/kd pckus ij jksVh FkksM+h 
Qhdh yxus yxrh gSA 

Direction : (Question No. 51 and 52) 

In the following Question, which one of 

the given words options is correct in the 

order of the dictionary ? 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 51    ,,,,ooooaaaa    52½½½½    fuEu 
iz’uksa esa fn, x, ‘kCnksa ds fodYiksa esa ls 
dkSu&lk fodYi ‘kCndks”k esa Øekuqlkj gS \ 

51. 1. Calm, 2. Calcium, 3. Calorie, 

4. Cabe 

(1) 4, 3, 2, 1 (2) 4, 2, 3, 1  

(3) 4, 2, 1, 3 (4) 4, 3, 1, 2 

  51. 1. Calm, 2. Calcium, 3. Calorie, 

4. Cabe 

(1) 4, 3, 2, 1 (2) 4, 2, 3, 1  

(3) 4, 2, 1, 3 (4) 4, 3, 1, 2 

52. 1. Exhaust, 2. Excuse, 3. Exhibit, 

4. Exempt  

(1) 4, 2, 3, 1 (2) 2, 4, 1, 3  

(3) 3, 4, 1, 2 (4) 2, 4, 3, 1 

  52. 1. Exhaust, 2. Excuse, 3. Exhibit, 

4. Exempt  

(1) 4, 2, 3, 1 (2) 2, 4, 1, 3  

(3) 3, 4, 1, 2 (4) 2, 4, 3, 1 

53. National Dairy Research Institute 

is situated in which District of 

Haryana ? 

(1) Karnal (2) Kurukshetra 

(3) Bhiwani (4) Rohtak 

  53. jk”Vªh; Ms;jh vuqla/kku laLFkku 
gfj;k.kk ds fdl ftys esa fLFkr gS \ 
 
(1) djuky (2) dq:{ks= 
(3) fHkokuh (4) jksgrd 

54. Who discovered the mosquito of 

Malaria ? 

(1) Ronald  Ross  

(2) Kalpana Chawala 

(3) Bachendri Pal 

(4) Bhimrao Ambedkar 

  54. eysfj;k ds ePNj dh [kkst fdlus 
dh Fkh \ 
(1) jksukYM jkWl 
(2) dYiuk pkoyk 
(3) cNsanzh iky 
(4) Hkhejko vEcsMdj 



C  ( 18 ) 
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55. Amitoj and her three friends were 

working with even and odd 

numbers. They observed that 

there are patterns when we add 

even numbers or odd numbers. 

They made the following claims : 

Rama : When we add two odd 

numbers, we always get an odd 

number.  

Amitoj : When we add two odd 

numbers, we may either get an 

odd number or an even number. 

 

Rakhi : When we add two odd 

numbers, we always get an even 

number. 

Shekhar : When we add two odd 

numbers, we always get a prime 

number. 

Whose claims is correct ? 

(1) Rama’s (2) Amitoj’s 

(3) Rakhi’s (4) Shekhar’s 

  55. vferkst vkSj mlds rhu nksLr le 
vkSj fo”ke la[;kvksa ds lkFk dke 
dj jgs FksA mUgksaus ns[kk fd tc os 
le la[;k,¡ ;k fo”ke la[;k,¡ tksM+rs 
gSa] rks dqN iSVuZ fn[krs gSaA mUgkasus 
fuEufyf[kr nkos fd, % 

jek % tc ge nks fo”ke la[;kvksa dks 
tksM+rs gSa] rks ges lnSo ,d fo”ke 
la[;k izkIr gksrh gSA 

vferkst % tc ge nks fo”ke 
la[;kvksa dks tksM+rs gSa] rks gesa ;k rks 
fo”ke la[;k ;k le la[;k izkIr gks 
ldrh gSA  

jk[kh % tc ge nks fo”ke la[;kvksa 
dks tksM+rs gSa] rks gesa ges’kk ,d le 
la[;k izkIr gksrh gSA 

‘ks[kj % tc ge nks fo”ke la[;kvksa 
dks tksM+rs gSa] rks gesa lnSo ,d 
vHkkT; la[;k izkIr gksrh gSA 

fdldk nkok lghlghlghlgh gS \ 
(1) jek dk (2) vferkst dk 

(3) jk[kh dk (4) ‘ks[kj dk 

56. In which year was Dr. Bhimrao 

Ambedkar Born ? 

(1) 14 May, 1891 AD 

(2) 14 June, 1891 AD 

(3) 14 April, 1891 AD 

(4) 14 July, 1891 AD 

  56. MkW0 Hkhejko vEcsMdj dk tUe fdl 
o”kZ gqvk \ 

(1) 14 ebZ] 1891 bZ0 

(2) 14 twu] 1891 bZ0 

(3) 14 vizSy] 1891 bZ0 

(4) 14 tqykbZ] 1891 bZ0 

57. Mintu, the frog is hungry. Mintu is 

sitting on the 3rd step. Suddenly, 
he saw Chintu, the grasshopper, 

sitting on the 12th step. He 
planned to eat the grasshopper 
and started jumping three steps at 

a time. Chintu was also alert. He 

tried to avoid Mintu. So, he 

  57. feaVw esa<d dks Hkw[k yxh gSA feaVw 
rhljs [kkus esa cSBk gSA rHkh mldh 
utj 12osa [kkus ij cSBs fVM~Ms ij 
iM+hA mlus fVM~Ms dks [kkus dh ;kstuk 
cukbZ vkSj rhu&rhu [kkuksa dh Nykax 
yxkuh ‘kq: dhA fpaVw Hkh lpsr Fkk 
mlus feaVw ls cpus ds fy,] nks&nks 
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started jumping two steps at a

time. At which step, Mintu can

catch Chintu ? 

(1) 24 (2) 20

(3) 16 (4) 14

58. Who was the father of Green 

Revolution ? 

(1) C. V. Raman 

(2) A. P. J. Abdul Kalam

(3) Rakesh Sharma 

(4) M. S. Swaminathan

59. Which plant can  be grown 

without seed ? 

(1) Potato (2) Orange

(3) Peas (4) Rice

60. Where is Kalpana Chawla 

Planetarium situated 

(1) Hisar (2) 

(3) Kurukshetra (4) 

61. How many triangles are in the 

given figure ? 

(1) 4 (2) 6

(3) 7 (4) 5

( 19 ) 

 

started jumping two steps at a 

time. At which step, Mintu can 

 

20 

14 

[kkuksa dh Nykax yxkuh ‘kq: dhA buesa 
ls dkSu&ls [kkus ij igq¡p dj feaVw] 
fpaVw dks idM+ ldrk gS 

(1) 24 

(3) 16 

Who was the father of Green 

Abdul Kalam 

Swaminathan 

  58. gfjr ØkfUr ds tud dkSu Fks
 
(1) lh0 oh0 
(2) ,0 ih0 ts0
(3) jkds’k ‘kekZ
(4) ,e0 ,l0

Which plant can  be grown 

Orange 

Rice 

  59. buesa ls dkSu&
mxk;k tk ldrk gS
(1) vkyw 
(3) eVj 

Where is Kalpana Chawla 

 ? 

 Karnal 

 Fatehabad 

  60. dYiuk pkoyk 
gS \ 
(1) fglkj 
(3) dq:{ks= 

How many triangles are in the 

 
6 

5 

  61. nh xbZ vkd`fr esa f=Hkqtksa dh la[;k 
fdruh gS \ 

(1) 4 

(3) 7 

C 

P. T. O. 

[kkuksa dh Nykax yxkuh ‘kq: dhA buesa 
ls dkSu&ls [kkus ij igq¡p dj feaVw] 

dM+ ldrk gS \ 

 

(2) 20 

(4) 14 

gfjr ØkfUr ds tud dkSu Fks \ 

 jeu  
ts0 vCnqy dyke 

jkds’k ‘kekZ 
0 LokehukFku 

&lk ikS/kk cht ds fcuk 
mxk;k tk ldrk gS \ 

(2) larjk 
(4) pkoy 

dYiuk pkoyk IySusVsfj;e dgk¡ fLFkr 

(2) djuky 
(4) Qrsgkckn 

vkd`fr esa f=Hkqtksa dh la[;k 

 
(2) 6 

(4) 5 
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62. If FARMER is written as

REMRAF in a certain code

language, how will TRACTOR be

written in that code language

(1) RTOCRAT (2) ROCTATR

(3) ROTACTR (4) ROTCART

Direction : (Question No. 

the following question, which answer

figure complete the question 

63. Question Figure : 

 

(1)

   

(2)

 

(3)

  

(4)

 

64. Question Figure : 

 

(1)

  

(2)

 

(3)

 

(4)

 

( 20 ) 

 

If FARMER is written as 

REMRAF in a certain code 

language, how will TRACTOR be 

written in that code language ? 

ROCTATR 

ROTCART 

  62. ;fn fdlh lkadsfrd 
FARMER dks 
tk,] rks mlh lkadsfrd Hkk”kk esa
TRACTOR dks dSls fy[kk tk,xk

(1) RTOCRAT

(3) ROTACTR

Direction : (Question No. 63 to 65) In 

, which answer 

figure complete the question figure ? 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
x, iz’uksa esa dkSu&lh mÙkj vkd`fr iz’u
vkd`fr dks iw.kZ djrh gS

 

 

  63. iz’u vkd`fr % 

(1)

  

(3)

 

 

 

  64. iz’u vkd`fr % 

(1)

  

(3)

 

 

;fn fdlh lkadsfrd Hkk”kk esa 
dks REMRAF fy[kk 

tk,] rks mlh lkadsfrd Hkk”kk esa 
dks dSls fy[kk tk,xk \ 

RTOCRAT (2) ROCTATR 

ROTACTR (4) ROTCART 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 63    lslslsls    65½½½½ fuEu fn, 
x, iz’uksa esa dkSu&lh mÙkj vkd`fr iz’u 

djrh gS \ 

 

 

 

(2)

  

 

(4)

  

 

 

(2)

  

(4)
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65. Question Figure : 

 

(1)

   

(2)

 

(3)

  

(4)

 

66. Where did Gandhi Ji break the

Salt law ? 

(1) Dandi (2) Kattak

(3) Delhi  (4) Assam

Direction : (Question No. 

In the following questions, some figures 

forming a series are given and from the

alternative, select one such figure

will continue the series. 

67. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

( 21 ) 

 

 

 

  65. iz’u vkd`fr % 

(1)

  

(3)

 

Where did Gandhi Ji break the 

Kattak 

Assam 

  66. xk¡/kh th us 
ued dkuwu dks rksM+k

(1) MkaMh  

(3) fnYyh 

Direction : (Question No. 67 and 68) 

questions, some figures 

series are given and from the 

, select one such figure which 

  funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 
iz’uksa esa ,d Ük`a[kyk cukrh gqbZ
vkd`fr;k¡ nh xbZ gSa rFkk
esa ls ,d ,slh vkd`fr dk p;u dhft,] 
tks bl Üka`[kyk dks tkjh j[ksaA

 

 

 

  67. iz’u vkd`fr;k¡

(1)

  

(3)

 

C 

P. T. O. 

 

 

 

(2)

  

 

(4)

  

 fdl LFkku ij tkdj 
ued dkuwu dks rksM+k \ 

(2) dVd 

(4) vle 

funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k funsZ’k % ¼iz’u la[;k 67    ,o,o,o,oaaaa    68½½½½ fuEu 
a[kyk cukrh gqbZ dqN 

vkd`fr;k¡ nh xbZ gSa rFkk oSdfYid vkd`fr;ksa 
vkd`fr dk p;u dhft,] 

a`[kyk dks tkjh j[ksaA 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)
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68. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

69. In a sludge tank, the gas mainly 

produced, is : 

(1) Nitrogen 

(2) Hydrogen 

(3) Carbon dioxide 

(4) Oxygen 

70. Shama has 5 coins with her. The

coins are either of ` 1, 

She has each type of the three 

coins denominations. 

amount of money that she cannot

have ? 

(1) ` 15 (2) `

(3) ` 10 (4) `
 

( 22 ) 

 

 

 

 

  68. iz’u vkd`fr;k¡

(1)

  

(3)

 

In a sludge tank, the gas mainly   69. ,d dhpM+ VSad esa eq[; :i ls 
mRikfnr xSl gksrh gS

(1) ukbVªkstu 

(2) gkbMªkstu 

(3) dkcZu MkbvkWDlkbM

(4) vkWDlhtu 

Shama has 5 coins with her. The 

1, ` 2 or ` 5. 

has each type of the three 

denominations. What is the 

amount of money that she cannot 

` 12 

` 13 

  70. ‘kek ds ikl 
#i;s] 2 #i;s ;k 
mlds ikl rhuks
bues ls dkSu&lh jkf’k mlds ikl
ugha gks ldrh 
 

(1) ` 15 

(3) ` 10 

 

iz’u vkd`fr;k¡ % 

 

 

(2)

  

 

(4)

  

,d dhpM+ VSad esa eq[; :i ls 
mRikfnr xSl gksrh gS % 

 

 

dkcZu MkbvkWDlkbM 

 

‘kek ds ikl 5 flDds gSaA flDds 1 
#i;s ;k 5 #i;s ds gSaA 

mlds ikl rhuksa ewY; okys flDds gSaA 
bues ls dkSu&lh jkf’k mlds ikl 

 \ 

(2) ` 12 

(4) ` 13 



( 23 ) 

jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, / FOR ROUGH WORK 



  

    

5. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd 
uhps fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn 
mÙkj okys [kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk 
mÙkj xyr ekuk tk,xkA 

        5. Answers   to  questions  in answer sheet are  to  be  
given by darkening complete circle using black ball 
point pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as given 
below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z iz'u iqfLrdk esa bl iz;kstu ds fy, nh xbZ 
[kkyh txg ij gh djsaA 

        6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy mÙkj i=d (OMR) ij gh vafdr 
djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus 
gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

        7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, mÙkj i=d (OMR) ij dsoy ,d gh 
o`Ùk dks iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA ,d 
ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk 
ldrk gSA 

        8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed 

to be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u 
tk,  ,oa ml ij dksbZ vU; fu’kku u yxk,¡A 
vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr 
LFkku ds vfrfjDr vU;= u fy[ksaA 

        9. The candidate should ensure that the Answer Sheet is 

not folded. Do not make any stray mark on Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. iz'u iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] 
D;ksafd fdlh Hkh ifjfLFkfr esa ¼dsoy iz'u iqfLrdk ,oa 
mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ 
nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA 

        10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of 

Test Booklet will not be provided. 

11. iz'u iqfLrdk@mÙkj i=d esa fn, x, Øekad dks 
vH;FkhZ lgh rjhds ls gkftjh i= esa fy[ksaA 

        11. The candidate will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds 
vfrfjDr fdlh izdkj dh ikB~; lkexzh] eqfnzr ;k 
gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby Qksu] 
bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh 
dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

        12. Candidate is not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. fujh{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk 
izos’k&i= ¼jksy ua0½ fn[kk,¡A 

        13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k fujh{kd dh fo’ks"k vuqefr ds fcuk 
dksbZ vH;FkhZ viuk LFkku u NksMa+sA 

        14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA         15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa iz'u&iqfLrdk ,oa mÙkj&i=d dk dksbZ 
Hkkx vyx u djsaA 

        16. No part of test Booklet and Answer-sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ ijh{kk d{k@gkWy 
NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; 
lkSai nsaA vH;FkhZ vius lkFk iz'u iqfLrdk dks ys tk 
ldrs gSaA 

        17. On completion of the test, candidate must hand over the 

Answer Sheet to the Invigilator in the Room/Hall. The 

candidate is allowed to take away this Test Booklet with 

them. 
 

� � 
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SET : D 

 
vu qØe kad ¼vadksa e sa½ %  
Roll No. (In Figures)     

vu qØe kad ¼' kC nksa esa½ %    

Roll No. (In Words)     

ijh {k k dsUnz dk u k e  %      
Name of Examination Centre    

vH;Fkh Z dk  u k e  %       v H;Fk h Zv H;Fk h Zv H;Fk h Zv H;Fk h Z     ds gL r k{kj  %ds gL r k{kj  %ds gL r k{kj  %ds gL r k{kj  % 
Name of Candidate                          Signature of the Candidate  

bl  iz 'u-iqfLrdk  e s a i`" Bk sa  d h l a [;k 
No. of Pages in this Question Booklet    24    

iz 'u ks a  d h l a [;k 
No. of Questions    70 

l e; 
Time    2½ hours    

                            f u jh { kd ds gL r k{ kj@f u jh { kd ds gL r k{ kj@f u jh { kd ds gL r k{ kj@f u jh { kd ds gL r k{ kj@Signature of the Invigilator : 

vH ; Fk h ZvH ; Fk h ZvH ; Fk h ZvH ; Fk h Z     dks dks dks dks 10 f euV  dk le;  i z'uf euV  dk le;  i z'uf euV  dk le;  i z'uf euV  dk le;  i z'u-i qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'ui qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'ui qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'ui qfL r dk  i j  N is f un sZ' k k sa dk s i < +u s]  i z'u-i = c qdy sV  e sa i = c qdy sV  e sa i = c qdy sV  e sa i = c qdy sV  e sa f n ,  x ,  f n ,  x ,  f n ,  x ,  f n ,  x ,  iz'u k sa d s lhf j ; y uEc j  psiz'u k sa d s lhf j ; y uEc j  psiz'u k sa d s lhf j ; y uEc j  psiz'u k sa d s lhf j ; y uEc j  ps d  dj u sd  dj u sd  dj u sd  dj u s ]]]]     C ; kSj k  Hk j u s ds fy,C ; kSj k  Hk j u s ds fy,C ; kSj k  Hk j u s ds fy,C ; kSj k  Hk j u s ds fy,     , o a , o a , o a , o a 
c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  c qdy sV  d s lH k h i `" B ksa d k  vo yk sdu dj u s]  misprint    psd  dj u s ds f y,psd  dj u s ds f y,psd  dj u s ds f y,psd  dj u s ds f y,     fn ; k tk, xk A fn ; k tk, xk A fn ; k tk, xk A fn ; k tk, xk A ; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S; f n  i z'u&i = c qdy sV  e sa i z'u k sa ds lh f j ; y uE c j  x yr  N is g S aa aa ] i `"B ] i `"B ] i `"B ] i `"B miss    

g S ; k dk sb Zg S ; k dk sb Zg S ; k dk sb Zg S ; k dk sb Z     i `"Bi `"Bi `"Bi `"B     misprint    g S r ksg S r ksg S r ksg S r ks     r qj U r dsUn z v /k h{ k d l s fuo sn u dj d s i z'ur qj U r dsUn z v /k h{ k d l s fuo sn u dj d s i z'ur qj U r dsUn z v /k h{ k d l s fuo sn u dj d s i z'ur qj U r dsUn z v /k h{ k d l s fuo sn u dj d s i z'u-i= c qdysV  c n y y saAi= c qdysV  c n y y saAi= c qdysV  c n y y saAi= c qdysV  c n y y saA     b u b u b u b u 10    f euV  ds i ' pk r ~ ; kf euV  ds i ' pk r ~ ; kf euV  ds i ' pk r ~ ; kf euV  ds i ' pk r ~ ; k     i j h{ kk  le k I r  g ksu s ds i 'pk r ~ dk sb Z i j h{ kk  le k I r  g ksu s ds i 'pk r ~ dk sb Z i j h{ kk  le k I r  g ksu s ds i 'pk r ~ dk sb Z i j h{ kk  le k I r  g ksu s ds i 'pk r ~ dk sb Z 
n k o k L o hd k j  ug ha f d; k tk , x kA n k o k L o hd k j  ug ha f d; k tk , x kA n k o k L o hd k j  ug ha f d; k tk , x kA n k o k L o hd k j  ug ha f d; k tk , x kA b u b u b u b u 10 feuV k sa ds v f r fj D r ]  feuV k sa ds v f r fj D r ]  feuV k sa ds v f r fj D r ]  feuV k sa ds v f r fj D r ]  iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s iz'u k sa ds m Ù kj  n su s o  v af dr  dj u s ds f y,  i wj s 2½ ? k aV s d k  le;  fn ; k  tk, x k A? k aV s d k  le;  fn ; k  tk, x k A? k aV s d k  le;  fn ; k  tk, x k A? k aV s d k  le;  fn ; k  tk, x k A         

 v H;v H;v H;v H; f FkZ ;ks a  ds  fy , f uns Z 'kf FkZ ;ks a  ds  fy , f uns Z 'kf FkZ ;ks a  ds  fy , f uns Z 'kf FkZ ;ks a  ds  fy , f uns Z 'k     %%%%          INSTRUCTIONS FOR THE CANDIDATES :    

1.  mÙkj i=d  (OMR) bl  iz 'u iq f Lrd k d s  vUnj j[kk  
gS A t c vk id ks  iz 'u iq f Lrd k [k ks y us  d ks  d gk  tk,] rk s  
mÙkj i=d  f ud k y d j /;ku l s  d s oy  dky s  ckW y Iokba V 
is u l s  f ooj.k Hk js a A 

  1. The OMR Answer Sheet is inside this Test Booklet. 

When you are directed to open the Test Booklet, take out 

the Answer Sheet and fill the particulars carefully with 

black ball point pen only. 

2. ijh{k k dh  vof/ k 2½ ? ka Vs  ? ka Vs  ? ka Vs  ? ka Vs  gS  ,oa  iz 'u  iq fLrd k  es a 70 iz ’u 
gS a A iz R ;sd  iz 'u ,d  v a d  d k gS A d k s bZ  _ .k kR ed  va d u d k s bZ  _ .k kR ed  va d u d k s bZ  _ .k kR ed  va d u d k s bZ  _ .k kR ed  va d u 

u gh a  gS Au gh a  gS Au gh a  gS Au gh a  gS A 

  2.  The test is of 2½ hours duration and consists of 

70 questions. Each question carries one mark.  There is no 

negative marking.    

3. bl  i`" B ij fooj .k va fd r d jus  ,oa  mÙk j i=d  ij  
f u’k ku yxk us  ds  f y, d s oy  d kys  ck W y Iokba V is u d k 
iz ;ks x d js a A     vH;Fk hZ  iz 'u-iq fLrd k  d k mi;ks x d ju s  , oa  
mÙkj i=d  d ks  Hk jus  es a  l ko/k ku h cjrs a A nw l jh iz 'unw l jh iz 'unw l jh iz 'unw l jh iz 'u-

iq fLrd k  liq fLrd k  liq fLrd k  liq fLrd k  l ss ss V ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhAV ç nku ugha  dh  tk ,xhA 

  3. Use Black Ball Point Pen only for writing particulars on 

this page/marking responses in the Answer Sheet. The 

candidate should remain careful in handling  the question 

paper and in marking the answers on the answer sheet. 

Another booklet set will not be given.    

4. ;g Hk h l q fuf’p r d j ys a  fd  iz 'u iq fLrd k  Ø e kad  vk S j 
mÙkj i=d  Ø e kad  ,d  gh gS a A vxj ;g fHk Uu gks a ;k  
iz 'u iq f Lrd k e s a  d ks bZ  i"̀ B Miss ;k Misprint gks rks  
vH;Fkh Z  nw l jh iz ’u-iq fLrdk  vkS j mÙkj i=d  y s us  d s  
f y, f ujh {kd  d ks  rq jU r voxr d jok,A 

  4. Also ensure that your Test Booklet Serial No. and 

Answer Sheet Serial No. are the same. In case of 

discrepancy or any page is Miss or Misprint in test 

booklet, the candidate should immediately report the 

matter to the Invigilator for replacement of both the Test 

Booklet and the Answer Sheet.    

u ks Vu ks Vu ks Vu ks V     %%%%     bl  iq f Lrd k d s  vUr  e s a  f n,bl  iq f Lrd k d s  vUr  e s a  f n,bl  iq f Lrd k d s  vUr  e s a  f n,bl  iq f Lrd k d s  vUr  e s a  f n,     x ,  'ks" k f uns Z 'kk sa  d k s  x ,  'ks" k f uns Z 'kk sa  d k s  x ,  'ks" k f uns Z 'kk sa  d k s  x ,  'ks" k f uns Z 'kk sa  d k s  
i <+ s a Ai <+ s a Ai <+ s a Ai <+ s a A 

  Note : Read other remaining instructions given on the last 

page of this Booklet.    
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1. Match the following with their 

appropriate relation : 

 Column–A  

a. Morni Hills (i) 

b. Dhosi Hill (ii) 

c. Kapal Mochan (iii) 

d.  Nahar (iv) 

(1) a-(ii), b-(iii), c-(iv), 

(2) a-(ii), b-(iii), c-(i), d

(3) a-(iv), b-(iii), c-(i), 

(4) a-(iv), b-(ii), c-(i), d

Direction : (Question No. 2 to 

the following questions, a

relationship is established 

first figure and the second figure of the

question figure. The same relation is

established in the third figure and

the alternative figures. 

alternative figure. 

2. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

( 3 ) 

 

Match the following with their 

 

Column–B 

 Wild life 

Sancturary 

 Tourism 

 Herbs 

 Cultural 

Heritage 

(iv), d-(i) 

d-(iv) 

(i), d-(ii) 

d-(iii) 

  1. f uEufy f [kr  dks muds m fp r laca/ k ds 
lk F k lqe sfyr djsa

    LrEHk& vLrEHk& vLrEHk& vLrEHk& v 

a. e ksju h  dh  
 

b. < ksl h  igk M +h

c. dik y e kspu

d. u kgj 
 

(1) a-(ii), b-(iii), 

(2) a-(ii), b-(iii), 

(3) a-(iv), b-(iii), 

(4) a-(iv), b-(ii), 

Direction : (Question No. 2 to 4) In 

, a special 

 between the 

second figure of the 

figure. The same relation is 

established in the third figure and one of 

 Select this 

  fun sZ’k %  ¼i z’u la[; k fun sZ’k %  ¼i z’u la[; k fun sZ’k %  ¼i z’u la[; k fun sZ’k %  ¼i z’u la[; k 
x,  iz’u k sa e sa i z’u v kd`fr
rF kk  n wljh v kd`fr 
L F kkfi r g SA ;g h lEc U/ k rh ljh vk d`fr rF kk
oSdfYi d vkd`fr;k sa e sa ls , d e sa L F kk fir  g SA
b l oSdfYi d v kd`fr dk p; u

 

 

 

  2. i z’u v kd`fr;k¡

(1)

   

(3)

  

D 

P. T. O. 

fu Eufy f[ kr dks mu ds mfp r laca/ k ds 
lkF k  lqesfy r djsa % 

   LrEHk&cLrEHk&cLrEHk&cLrEHk&c     

e ksju h dh igkfM ;ka (i) oU;  tho  
 vH; kj.k  

< ksl h igkM +h (ii) i;ZV u 

diky e k spu (iii) tM +h cwV h 

(iv) l kaLd`frd 
 fo jklr 

(iii), c-(iv), d-(i) 

(iii), c-(i), d-(iv) 

(iii), c-(i), d-(ii) 

(ii), c-(i), d-(iii) 

fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k 2    ls ls ls ls 4½½½½ fuE u fn, 
x, iz’u ksa e sa i z’u  vk d`fr dh  ig yh v kd`fr 

 e sa ,d fo’ks”k lE ca/ k 
lEcU/ k rhlj h v kd`fr rF kk 

vk d`f r;ksa e sa ls ,d e sa L F kkfir gSA 
oSdfYi d vk d`fr dk  p;u dhft, A 

i z’u v kd`fr; k¡ % 

 

 

(2)

  

 

(4)

  



D  

MSMSS/6–2023 

3. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

4. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

5. Who is known as Missile Man

 

(1) Dr. A. P. J. Abdul Kalam

(2) Abdul Gaffar 

(3) Morarji Desai 

(4) Atal Bihari Vajpai

6. How many such pairs of letters are

there in the word CONFIRM each

of which has as many letters

missing between them as there are

in the English alphabet

(1) 3 (2) 1

(3) 4 (4) 2

( 4 ) 

 

 

 

 

  3. i z’u v kd`fr;k¡

(1)

   

(3)

  

 

 

 

  4. i z’u v kd`fr;k¡

(1)

   

(3)

 

Who is known as Missile Man ? 

J. Abdul Kalam 

Atal Bihari Vajpai 

  5. f elkb y eSu 
tk rk g S \ 

(1) M kW0 ,0 ih

(2) vCn qy x¶

(3) e ksj kj th n slkbZ

(4) vV y  fcg kj h okti s;h

How many such pairs of letters are 

there in the word CONFIRM each 

of which has as many letters 

missing between them as there are 

in the English alphabet ? 

1 

2 

  6. ‘k Cn CONFIRM
; qXe g Sa f tue sa ls i zR ; sd ds c hp  mrus
g h v{ kj y qIr g Sa ftru s fd muds
c hp vaxzsth  o.kZe ky k e sa g ksrs g Sa
 

(1) 3 

(3) 4 

 

i z’u v kd`fr; k¡ % 

 

 

(2)

  

 

(4)

  

i z’u v kd`fr; k¡ % 

 

 

(2)

  

 

(4)

  

fe lkb y e Su ds u ke ls fdls tkuk 

i h0 ts0  vCnqy  dy ke 

¶ Qkj 

e ksjk jth nslk bZ 

v Vy  fcg kj h o ktis; h 

CONFIRM e sa ,sls f drus v { kj 
;qXe g Sa ftue sa ls i zR ;sd ds chp  mrus 
g h v { kj y qIr g Sa f tru s fd m uds 
ch p v axzsth o.kZe ky k e sa g k srs g Sa \ 

(2) 1 

(4) 2 
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7. In a sludge tank, the gas mainly 

produced, is : 

(1) Nitrogen 

(2) Hydrogen 

(3) Carbon dioxide 

(4) Oxygen 

Direction : (Question No. 8 and 9)

the following questions, some figures 

forming a series are given and from the

alternative, select one such figure

will continue the series. 

8. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

9. Question Figures : 

(1)

   

(2)

 

(3)

  

(4)

 

( 5 ) 

 

In a sludge tank, the gas mainly   7. , d dhpM + VSad e sa e q[; :i  ls 
m Ri k fnr xSl gk srh g S

(1) u kb Vªkstu 

(2) g kb Mªkstu 

(3) dkcZu Mkb vk WDlkbM

(4) vk WDlhtu 

Direction : (Question No. 8 and 9) In 

questions, some figures 

series are given and from the 

, select one such figure which 

  fun sZ’k % ¼i z’u la[; k fun sZ’k % ¼i z’u la[; k fun sZ’k % ¼i z’u la[; k fun sZ’k % ¼i z’u la[; k 
e sa , d Ü k à[ky k cu krh g qb Z
xb Z g Sa rF kk oSdfYi d v kd`fr; ksa e sa ls ,d 
,slh  vk d`fr dk p;u  dhft, ] tks bl
Ü ka`[ky k dks tkj h j [k saA

 

 

 

  8. i z’u v kd`fr;k¡

(1)

  

(3)

 

 

 

 

  9. i z’u v kd`fr;k¡

(1)

  

(3)

 

D 

P. T. O. 

, d dhpM + VSad e sa e q[ ; :i  ls 
mR i kf nr xSl gksrh g S % 

 

 

dk cZu M kb vkWD lkbM 

 

fun sZ’k  % ¼i z’u la[;k fun sZ’k  % ¼i z’u la[;k fun sZ’k  % ¼i z’u la[;k fun sZ’k  % ¼i z’u la[;k 8    , o, o, o, o aa aa     9½½½½ fu Eu i z’u ksa 
a[ky k cu krh g qbZ dqN vk d`fr;k ¡ nh 

o SdfYi d vk d`fr;k sa e sa ls , d 
vkd`fr dk p;u dh ft,] tks b l 

j [ksaA 

i z’u v kd`fr; k¡ % 

 

 

(2)

  

 

(4)

  

i z’u v kd`fr; k¡ % 

 

 

(2)

  

 

(4)
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10. In which direction Pole-star is 

always found ? 

(1) East (2) West 

(3) North (4) South 

  10. / kzqork jk g e s’k k f dl fn ’kk e sa g ksrk 
g S \ 

(1) i wo Z  (2) i f ’p e 

(3) mÙkj  (4) nf { k.k 

11. Where did Gandhi Ji break the 

Salt law ? 

(1) Dandi (2) Kattak 

(3) Delhi  (4) Assam 

  11. xk¡/ kh th  u s fdl L F kku i j tkdj 
ued dk uwu dk s rksM +k \ 

(1) M kaM h  (2) dVd 

(3) fn Yy h  (4) v le 

12. Match the flora/vegetation and 

fauna/animals : 

a. Bamboo (i) Vegetation 

b. Flowers (ii) Animals 

c. Yak (iii) Flora 

d. Wild goats (iv) Fauna 

(1) a-(iii), b-(i), c-(ii), d-(iv) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

  12. ouLi f r@i sM +-i kS/ ks vk Sj th o-tUrq@ 
tkuoj ksa dk f ey ku djsa % 

a. ckal  (i) i sM +-i kS/ ks 

b. Qwy  (ii) tkuoj ksa 

c. ;kd  (iii) ouLi f r 

d. taxy h cdfj;k¡ (iv) tho-tUr q 

(1) a-(iii), b-(i), c-(ii), d-(iv) 

(2) a-(ii), b-(iii), c-(i), d-(iv) 

(3) a-(iv), b-(iii), c-(i), d-(ii) 

(4) a-(iv), b-(ii), c-(i), d-(iii) 

13. Which instrument is used to 

measure the intensity of 

Earthquake ? 

(1) Seismograph 

(2) Odometer 

(3) Barometer 

(4) Thermometer 

  13. Hk wdai  dh rho zrk dk i r k y xk u s ds 
fy , f dl ;a= dk i z;ksx  fd;k tkrk 
g S \ 
(1) flL e ksx zkQ 
(2) vk sM kse h Vj 
(3) cSj ksehV j 
(4) F ke kZe hVj 

14. In which year was Dr. Bhimrao 

Ambedkar Born ? 

(1) 14 May, 1891 AD 

(2) 14 June, 1891 AD 

(3) 14 April, 1891 AD 

(4) 14 July, 1891 AD 

  14. M kW0 Hk hej ko v EcsMdj dk tUe f dl 
o”kZ g qv k \ 
(1) 14 e bZ] 1891 b Z0 
(2) 14 twu]  1891 bZ0 

(3) 14 v i zSy ] 1891 bZ0 
(4) 14 tqy k bZ] 1891 b Z0  
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Direction : (Question No. 

In each of the following figures

are written according to some patterns. 

One number is missing. Find the 

missing number that replace the 

question mark (?). 

15. 

 

(1) 36 (2) 27

(3) 26 (4) 32

16. 

 

(1) 15 (2) 19

(3) 4 (4) 18

17. Sohan leaves his house and start

walking towards East. After

walking some distance, he turns

right and starts walking. In which

direction is he going now

(1) North   

(2) West 

(3) South  

(4) East  

( 7 ) 

 

Direction : (Question No. 15 and 16) 

In each of the following figures number 

some patterns. 

missing. Find the 

that replace the 

  fun sZ’k %  ¼i z’u  la[;k  fun sZ’k %  ¼i z’u  la[;k  fun sZ’k %  ¼i z’u  la[;k  fun sZ’k %  ¼i z’u  la[;k  
xb Z i zR ;sd v kd`fr e sa , d fuf ’p r
v u qlkj dqN la[;k, ¡ fy [ kh x bZ
,d la[ ;k y qIr  g SA y qIr
tks i z’u fpg ~u ¼\ ½ 
g k sA 

27 

32 

  15. 

(1) 36 

(3) 26 

19 

18 

  16. 

(1) 15 

(3) 4 

Sohan leaves his house and start 

towards East. After 

walking some distance, he turns 

right and starts walking. In which 

direction is he going now ? 

  17. lk sg u vi u s ?k j ls fudy dj iwo Z dh
v ksj  py uk  i zk jaHk djrk g SA dqN n wj
p y us ds ck n og nk,¡ 
i zkaj Hk djrk g S
e sa tk jg k g S \

(1) mÙkj  

(2) i f’p e 

(3) nf{ k.k 

(4) i woZ 

D 

P. T. O. 

fun sZ’k  %  ¼i z’u la[ ;k fun sZ’k  %  ¼i z’u la[ ;k fun sZ’k  %  ¼i z’u la[ ;k fun sZ’k  %  ¼i z’u la[ ;k 15    , oa, oa, oa, oa     16½½½½  u hp s nh 
xb Z i zR ;sd vk d`fr e sa ,d f uf’pr Øe 
vu qlk j dqN la[;k ,¡ fy [kh xb Z g SaA buesa ls 

g SA y qI r la[;k Kkr dj sa] 
 ds LF kku i j mi ;qDr  

 

(2) 27 

(4) 32 

 

(2) 19 

(4) 18 

lksg u v iu s ?kj ls fudy dj iwoZ dh 
v ksj  py uk i zkjaHk djr k g SA dqN nwj 
p y us ds ckn og  nk ,¡ e qM +dj py u k 
i zkajHk dj rk g SA vc og f dl fn’kk 

\ 
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18. Select those things from the

following which can be dried and

preserved for a long time

Bread, Khichdi, Cereals, Ripe

Fruits, Pulses, Green 

Coriander and Chilies

(1) Roti, Khichdi, Green Spinach 

and Chilies 

(2) Cereals, Ripe Fruits

Green Spinach and Chilies

(3) Cereals, Pulses, Coriander

Chilies 

(4) Khichdi, Cereals,

and Coriander 

Direction : (Question No. 

the following question, which answer

figure complete the question figure

19. Question Figure : 

 

(1)

   

(2)

 

(3)

  

(4)

 

( 8 ) 

 

Select those things from the 

following which can be dried and 

preserved for a long time : 

, Cereals, Ripe 

, Pulses, Green Spinach, 

Coriander and Chilies 

Roti, Khichdi, Green Spinach 

Cereals, Ripe Fruits, Pulses, 

Green Spinach and Chilies 

Cereals, Pulses, Coriander and 

Khichdi, Cereals, Ripe Fruits 

  18. f uEu e sa ls mu p htksa 
f tUg sa lq[k kdj v f/kd le; rd
laj f{ kr fd; k tk ldrk g S

j ksV h] f [kp M +h] vu k t] i ds Qy ] n ky sa] 
g jk i ky d] / k fu;k v kSj fep Z
 

(1) jksV h] f[kp M +h] g j k i ky d vkSj 
fep Z 

(2) vu k t] i ds Qy ] n ky sa] g j k
i ky d vkSj

(3) vu k t] n ky sa] / kfu;k vkSj  fep Z
 

(4) f[k p M +h] vu kt] i ds Qy vk Sj
/ kfu;k 

Direction : (Question No. 19 to 21) In 

, which answer 

figure complete the question figure ? 

  fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k 
x,  i z’u ksa e sa dk Su&lh  m Ùk j vkd`fr i z’u
v kd`fr dks i w.k Z dj rh g S

 

 

  19. i z’u v kd`fr % 

(1)

  

(3)

 

 

fu Eu e sa ls mu p htk sa dks Nk ¡fV, 
ftUg sa lq[kkdj vf/kd le; rd 
laj f{ kr fd;k tk ldr k g S %  

j ksVh ] f[ kp M+h ] vu kt] i ds Qy ] nk y sa] 
g jk i k y d] / kfu;k vk Sj fep Z 

j ksV h] f [kp M +h] g jk  i ky d v kSj 

v u kt]  i ds Qy ] nk y sa] g jk 
i ky d v kSj  fepZ 

v u kt]  nky sa] / kfu;k  vkSj fep Z  

p M +h ] v ukt]  i ds Qy v kSj 

fun sZ’k  % ¼i z’u  la[;k  fun sZ’k  % ¼i z’u  la[;k  fun sZ’k  % ¼i z’u  la[;k  fun sZ’k  % ¼i z’u  la[;k  19    lslslsls     21½½½½ fuEu fn, 
x, i z’u k sa e sa dkSu&lh mÙkj  vkd`fr i z’u 

djrh g S \ 

 

 

 

(2)

  

 

(4)
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20. Question Figure : 

 

(1)

  

(2)

 

(3)

 

(4)

 
21. Question Figures : 

 

(1)

   

(2)

 

(3)

  

(4)

 

22. If Raghav is seventh from the back

in a row of 25 students. What will

be the Raghav’s position from the

front in the row ? 

(1) 19th (2) 18th

(3) 17th (4) 32

23. A person has 15 cows and some

chickens. If the number of legs

(cows and chickens) is 84. How

many chickens does he have

(1) 24 (2) 12

(3) 42  (4) 30

( 9 ) 

 

 

 

  20. i z’u v kd`fr % 

(1)

  

(3)

 

 

 

  21. i z’u v kd`fr % 

(1)

  

(3)

 

If Raghav is seventh from the back 

in a row of 25 students. What will 

be the Raghav’s position from the 

18th 

32nd 

  22. 25 Nk= k sa dh i afDr e sa j k?ko  dk i hNs
ls 7ok ¡ LF kku 
ls dkSu&lk LF k ku g ksx k
 
(1) 19ok¡ 
(3) 17ok¡ 

A person has 15 cows and some 

chickens. If the number of legs 

(cows and chickens) is 84. How 

many chickens does he have ? 

12 

30 

  23. , d O; fDr ds i kl 
e qxsZ g SaA ;fn i Sj ksa ¼x k;sa v kSj eqx sZ½ dh
la[ ;k 84 g S] rks mlds i k l
e qxsZ g Sa \ 
(1) 24 

(3) 42  

D 

P. T. O. 

 

 

(2)

  

(4)

  
 

 

 

(2)

  

 

(4)

  
N k= ksa dh iafD r e sa jk ?ko dk i h Ns 

 g S] r ks jk ?ko dk vkx s 
ls dk Su&lk L F kku  g ksxk \ 

(2) 18o k¡ 
(4) 32o k¡  

, d O;fDr ds i k l 15 xk;sa vk Sj dqN 
A ; fn i Sjk sa ¼xk; sa v kSj eqxsZ½ dh 

g S] rk s mlds i kl fdru s 

(2) 12 

(4) 30 
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24. National Dairy Research Institute 

is situated in which District of 

Haryana ? 

(1) Karnal (2) Kurukshetra 

(3) Bhiwani (4) Rohtak 

  24. jk” Vªh; M s;jh vu qla/ k ku laL F kku 
g fj ;k.kk ds f dl ftys e sa fL Fkr gS \ 
 

(1) dju ky (2) dq:{ ks= 

(3) fHko ku h (4) j ksgr d 

Direction : (Question No. 25 to 28) In 

these questions a number/letter series is 

given. In which one term is missing. 

Find the missing number/letter, which 

when placed at the place of question 

mark (?), will complete the series. 

  fu nsZ’k %  ¼i z’u la[; k fu nsZ’k %  ¼i z’u la[; k fu nsZ’k %  ¼i z’u la[; k fu nsZ’k %  ¼i z’u la[; k 25 ls ls ls ls 28½½½½  bu i z’u ksa 
e sa , d la[;k @v{ kj Ü k`a[k yk n h xbZ gS 
ftle sa ,d i n y qIr g SA y qIr la[ ;k@v {kj 
Kk r djsa] tks i z’u fpg ~u ¼\½ ds L Fkku i j 
j [ku s i j Ü k à[ ky k dks i w.k Z dj rk g ksA 

25. 8, 11, 15, 20, ? 

(1) 25 (2) 26 

(3) 27  (4) 23 

  25. 8, 11, 15, 20, ? 

(1) 25 (2) 26 

(3) 27  (4) 23 

26. 17, 22, 27, 32, ? 

(1) 35 (2) 36 

(3) 38  (4) 37 

  26. 17, 22, 27, 32, ? 

(1) 35 (2) 36 

(3) 38  (4) 37 

27. A, C, F, J, ? 

(1) N (2) O 

(3) M  (4) K 

  27. A, C, F, J, ? 

(1) N (2) O 

(3) M  (4) K 

28. EFG, IJK, MNO 

(1) RST (2) QSR 

(3) QRS  (4) PQR 

  28. EFG, IJK, MNO 

(1) RST (2) QSR 

(3) QRS  (4) PQR 

29. If 5th of a month is Friday, then 

what day of the week will it be on 

15th of that month ? 

(1) Tuesday  (2) Monday 

(3) Sunday (4) Wednesday 

  29. fdlh eg hu s dh 5 r kjh[k dks ‘kqØo kj 
g S] r ks ml eg hu s dh 15 rk jh[ k dks 
lIrkg  dk dkSu&lk fnu g ksxk \ 
(1) e axy okj (2) lkseo kj 
(3) jf ook j (4) cq/ ko kj 

30. If FARMER is written as 

REMRAF in a certain code 

language, how will TRACTOR be 

written in that code language ? 

(1) RTOCRAT (2) ROCTATR 

(3) ROTACTR (4) ROTCART 

  30. ;fn  f dlh  lk adsfrd Hk k”kk  esa 
FARMER dks REMRAF fy [ kk 
tk,] r ks mlh lkadsfrd Hkk ”kk e sa 
TRACTOR dks dSls fy [k k tk ,xk \ 
(1) RTOCRAT (2) ROCTATR 

(3) ROTACTR (4) ROTCART 
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31. What change do you feel in the

taste of a piece of bread when you

chew it excessively ? 

(1) The bread starts to taste a

little sour when chewed

excessively. 

(2) The bread stats to taste a little

sweet when chewed

excessively. 

(3) The bread starts to taste a

little bitter when chewed

excessively. 

(4) The bread becomes tasteless

when chewed excessively.

32. Observe the pattern and fill in the 

blank : 

(1) 19 (2) 21

(3) 25 (4) 33

33. Which place receives the highest 

rainfall in the world ? 

(1) Manali (2) Sikkim

(3) Shimla (4) Mawsynram

34. Who was the first women Astronaut 

in India ? 

(1) Kalpana Chawla 

(2) Bachhendri Pal 

(3) Sunita Williams  

(4) Geeta Phogat 

( 11 ) 

 

What change do you feel in the 

taste of a piece of bread when you 

The bread starts to taste a 

little sour when chewed 

stats to taste a little 

when chewed 

The bread starts to taste a 

when chewed 

The bread becomes tasteless 

chewed excessively. 

  31. , d jk sVh ds VqdM +s dks v f/ kd p c ku s 
i j mlds L ok n e s
e g lwl dj rs g Sa 

(1) vf /k d p ckus i j jksVh F kk sM +h 
[kV ~Vh y xu s
 

(2) vf /k d p ckus i j jksVh F kk sM +h 
e hB h yxu s
 

(3) vf /k d p ckus i j jksVh F kk sM +h 
dM +oh y xu s
 

(4) vf /k d p ckus i j jksVh F kk sM +h 
Qhdh y xu s

and fill in the 

 

21 

33 

  32. f n,  x , i SVu Z dks ns[kr s g q, fj Dr 
L F kk u Hkf j,  % 

(1) 19 

(3) 25 

Which place receives the highest 

 

Sikkim 

Mawsynram 

  33. f o’o e sa lcls vf/ k d o”k kZ dg k¡ g k srh 
g S \ 

(1) eu ky h 

(3) f’key k 

Who was the first women Astronaut 

 

 

  34. Hk kjr  n s’k  dh ig y h var fj{k  ;k =h 
dk Su F kh \ 

(1) dYi u k p koy k

(2) cNsanzh i ky

(3) lqu hrk fo fy ;E l

(4) xhr k Qksx kV

D 

P. T. O. 

, d jksV h ds VqdM +s dk s vf / kd p cku s 
i j m lds L okn e sa vki D ;k i fj or Zu 
eg lwl dj rs g Sa \ 

v f/ kd pck us i j jksV h F kksM +h 
[ kV~V h y xu s y xrh g SA 

v f/ kd pck us i j jksV h F kksM +h 
e hB h yxu s y xrh g SA 

v f/ kd pck us i j jksV h F kksM +h 
dM +o h y xu s yxrh g SA 

v f/ kd pck us i j jksV h F kksM +h 
Qh dh  yx u s y xr h g SA 

fn , x,  i SVu Z dks ns[ krs g q, fj Dr 
 

 
(2) 21 

(4) 33 

fo ’o e sa lcls v f/ kd o ”kkZ dg k¡ g ksrh 

(2) f lfDde 

(4) e kSfluj ke 

Hkk jr ns’k dh ig y h v arfj{ k ;k=h 

dYi u k p k oy k  

c Nsanzh ik y 

lqu hrk fofy ;E l 

xk V 
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35. Which plant can  be grown 

without seed ? 

(1) Potato (2) Orange

(3) Peas (4) Rice

Direction : (Question No. 

In the following Question, 

the given words options is correct in the 

order of the dictionary ? 

36. 1. Calm, 2. Calcium,

4. Cabe 

(1) 4, 3, 2, 1 (2) 4, 2, 3,

(3) 4, 2, 1, 3 (4) 4

37. 1. Exhaust, 2. Excuse, 3. Exhibit, 

4. Exempt  

(1) 4, 2, 3, 1 (2) 2

(3) 3, 4, 1, 2 (4) 2, 4, 3,

38. Which of the following is the main

reason behind Tsunami

(1) Volcano (2) Earthquake

(3) Cyclone (4) Anticyclone

39. How many cubes are there in the 

given figure ? 

(1) 24 (2) 46

(3) 48 (4) 28

( 12 ) 

 

Which plant can  be grown 

Orange 

Rice 

  35. b ue sa ls dkSu&
m xk; k tk ldrk g S

(1) vk y w 

(3) eVj  

Direction : (Question No. 36 and 37) 

 which one of 

options is correct in the 

  fun sZ’k %  ¼i z’u  la[ ;k fun sZ’k %  ¼i z’u  la[ ;k fun sZ’k %  ¼i z’u  la[ ;k fun sZ’k %  ¼i z’u  la[ ;k 
i z’u k sa e sa fn,  x , ‘kCn ksa ds
dkSu&lk fodYi ‘kCndk s”k e sa Øe ku qlkj gS

Calcium, 3. Calorie, 

4, 2, 3, 1  

4, 3, 1, 2 

  36. 1. Calm, 2. 

4. Cabe 

(1) 4, 3, 2, 1 

(3) 4, 2, 1, 3 

Excuse, 3. Exhibit, 

2, 4, 1, 3  

2, 4, 3, 1 

  37. 1. Exhaust, 2

4. Exempt  

(1) 4, 2, 3, 1 

(3) 3, 4, 1, 2 

Which of the following is the main 

reason behind Tsunami ? 

Earthquake 

Anticyclone 

  38. f uEufy f [kr  e sa ls lqu ke h dk  e q[; 
dk j.k dk Su&lk g S
(1) To ky ke q[kh 
(3) p Øokr 

How many cubes are there in the 

 

46 

28 

  39. n h xbZ vkd`fr esa f dru s ?ku gSa
 

(1) 24 

(3) 48 

 

&lk  i kS/ k k ch t ds fcuk 
mx k;k tk ldrk g S \ 

(2) lar jk 

(4) p k oy 

fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k 36    ,,,, oooo aa aa     37½½½½     fuEu 
i z’u ksa e sa fn , x,  ‘k Cnksa ds fo dYi ksa e sa ls 

‘k Cndks”k e sa Øe ku qlkj  g S \ 

 Calcium, 3. Calorie, 

 (2) 4, 2, 3, 1  

 (4) 4, 3, 1, 2 

1. Exhaust, 2. Excuse, 3. Exhibit, 

 (2) 2, 4, 1, 3  

 (4) 2, 4, 3, 1 

fu Eufy f[ kr e sa ls lqu ke h dk e q[; 
lk gS \ 

 (2) HkwdE i  
(4) i zfrp Øo kr 

n h x bZ vk d`f r e sa fdru s ?ku  g Sa \ 

 

(2) 46 

(4) 28 
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40. In which year Kalpana Chawla

was selected as an astronaut in

‘NASA’ ? 

(1) 1993  (2) 1994

(3) 1995  (4) 1996

41. In which country were the first 

Olympic games held ?

(1) Greece (2) France

(3) Germany (4) England

42. Each shape is made up of equal

squares. Area of each square is 

1 cm square. Observe the shapes

carefully and find which of the

statement written below is 

correct ? 

(1) Each shapes has area equal to

6 cm sq. 

(2) Each shape has perimeter

equal to 12 cm. 

(3) Shapes with equal areas have

equal perimeters. 

(4) Shapes with equal areas may

or may not 

perimeters. 

43. Who discovered the mosquito of 

Malaria ? 

(1) Ronald  Ross  

(2) Kalpana Chawala

(3) Bachendri Pal 

(4) Bhimrao Ambedkar

( 13 ) 

 

In which year Kalpana Chawla 

was selected as an astronaut in 

1994 

1996 

  40. dYi u k pk oy k dk 
; k= k ds f y , p ;u fdl o ”kZ g qvk
 
(1) 1993  

(3) 1995  

In which country were the first 

Olympic games held ? 

France 

England 

  41. i zF ke v ksy af i d [k sy ksa dk vk;kstu 
f dl n s’k  e sa g qv k F kk
(1) ;wu ku 
(3) te Zu h 

Each shape is made up of equal 

squares. Area of each square is 

cm square. Observe the shapes 

carefully and find which of the 

statement written below is 

 

Each shapes has area equal to 

Each shape has perimeter 

Shapes with equal areas have 

 

Shapes with equal areas may 

 have equal 

  42. u hp s nh x bZ vkd`fr le k u oxk s±
c u h gSA i zR;sd o xZ dk { ks=Qy  
lse h gSA v kd`fr ;ksa dks /; ku ls n s[ks
v kSj  Kkr djsa f d uh p s fy [ ks x,
dF ku ksa e sa ls dk Su
 

(1) i zR ;sd vkd`f r dk { ks=Qy 
lse h g SA 

(2) i zR ;sd vk d`f r dk i fj e ki  
lse h g SA 

(3) le ku {ks=Qy ok yh vkd`fr ;ksa ds 
i fj eki  le ku g ksrs gS

(4) le ku {ks=
i fj eki  le ku g ks Hkh ldrs gS
vk Sj ugha Hkh g ks

Who discovered the mosquito of 

Kalpana Chawala 

Bhimrao Ambedkar 

  43. e y sfj;k ds ePNj  dh [ kkst fdlus 
dh  F kh \ 

(1) jksu kYM j kWl

(2) dYi u k p koy k

(3) cNsanzh i ky

(4) Hk hej ko vEc sMdj

D 

P. T. O. 

dYi u k pko y k dk ^u klk* e sa v arfj{k 
;k = k ds fy , p ;u  fdl o”kZ gqv k \ 

(2) 1994 

(4) 1996 

i zFke v ksy afi d [ksy k sa dk v k;k stu 
fdl ns’k e sa g qvk F kk \ 

(2) Ýk al 
(4) b aXy SaM 

u h p s n h xb Z vkd`f r le ku ox ks± ls 
cu h g SA izR; sd oxZ dk {k s=Qy  1 oxZ 

gSA vk d`fr;ksa dks /;ku ls ns[ksa 
v kSj  Kkr  djsa fd uhp s fy [k s x, 
dF ku k sa e sa ls dkSu &lk lg hlg hlg hlg h gSa \ 

 
i zR ;sd v kd`fr dk { ks=Qy 6 ox Z 

i zR ;sd v kd`fr dk i fj e ki 12 

le ku { ks= Qy  okyh vk d`fr;k sa ds 
leku g ksrs gSaA 

le ku { ks= Qy okyh vk d`fr;k sa ds 
le k u g ks Hk h ldr s g Sa 

v kSj  ug ha Hk h g ks ldr sA 

ey sf j; k ds ePNj  dh [k kst f dlus 

j kWl 

dYi u k p k oy k 

c Nsanzh ik y 

Hkh ejk o vEcsM dj 



D  

MSMSS/6–2023 

Direction : (Question No. 

The given figure (x) is followed by four

figures (1), (2), (3) and (4) such that (x) is

embedded in one of them. Trace out the

correct alternative. 

44. 

 

         (x) 

(1)

   

(2)

 

(3)

  

(4)

 

45. 

 

       (x) 

(1)

   

(2)

 

(3)

  

(4)

 

( 14 ) 

 

Direction : (Question No. 44 and 45) 

The given figure (x) is followed by four 

figures (1), (2), (3) and (4) such that (x) is 

embedded in one of them. Trace out the 

  fun sZ’k %  ¼i z’u la[ ;k fun sZ’k %  ¼i z’u la[ ;k fun sZ’k %  ¼i z’u la[ ;k fun sZ’k %  ¼i z’u la[ ;k 

fp = (x) p k j fp= ksa (1), (2), (3)
ls ,d dk  i fj .k ke g S] tks fd bue sa ls
fdlh , d e sa fu fg r  g SA 

ig p ku djsaA 

 

 

  44. 

 

         (x) 

(1)

  

(3)

 

 

 

  45. 

 

       (x) 

(1)

  

(3)

 

 

fun sZ’k  %  ¼i z’u la[; k fun sZ’k  %  ¼i z’u la[; k fun sZ’k  %  ¼i z’u la[; k fun sZ’k  %  ¼i z’u la[; k 44    ,o,o,o,o aa aa     45½½½½ fn ;k x;k 

(1), (2), (3) v kSj  (4) e sa 
ls , d dk i f j.kke  g S] tk s f d bue sa ls 
fdlh ,d e sa fufg r g SA lg hlg hlg hlg h fo dYi  dh 

 

 

(2)

  

 

(4)

  

 

(2)

  

 

(4)
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46. How many triangles are in the 

given figure ? 

(1) 4 (2) 6

(3) 7 (4) 5

47. Reena is making 8 Necklaces by

stringing beads together. To make

one Necklace, she will repeat the

pattern of beads four times

(patterns is shown in the picture). 

How many black and white beads

will be needed to make all eight

Necklaces ? 

(1) Black 10 and white 4

(2) Black 40 and white 16

(3) Black 320 and white 128

(4) Black 100 and white 40

48. Who was the father of Green 

Revolution ? 

(1) C. V. Raman 

(2) A. P. J. Abdul Kalam

(3) Rakesh Sharma 

(4) M. S. Swaminathan

( 15 ) 

 

How many triangles are in the 

 

6 

5 

  46. n h xb Z v kd`fr e sa f =Hkqtksa dh la[ ;k 
f dru h g S \ 

(1) 4 

(3) 7 

Reena is making 8 Necklaces by 

stringing beads together. To make 

one Necklace, she will repeat the 

pattern of beads four times 

(patterns is shown in the picture).  

How many black and white beads 

will be needed to make all eight 

 

nd white 4 

Black 40 and white 16 

Black 320 and white 128 

Black 100 and white 40 

  47. j hu k e k srh fi j ks
c u k jg h gSA , d gkj c u kus ds fy ,
o g f p= esa f n[ kk, x, vu qlk j]
e ksfr;ksa ds i SV uZ dks pkj  ck j
n ksg jk, xhA lHkh v kB g kj 
f y , fdru s dky s v kSj lQsn eudks
dh  v ko’;dr k g ksxh
 

(1) dky s 10 vk Sj lQsn 

(2) dky s 240 

(3) dky s 320 

(4) dky s 100 

Who was the father of Green 

Abdul Kalam 

Swaminathan 

  48. g fj r Øk fUr ds tud dkSu F k s
 

(1) lh0  oh0 

(2) ,0  i h0  ts0

(3) jkds’k ‘ke kZ

(4) ,e0 ,l0

D 

P. T. O. 

n h xb Z vk d`fr e sa f= Hk qtk sa dh la[;k 

 

(2) 6 

(4) 5 

j hu k  e ksrh  fi jksdj e ksfr;k sa ds 8 g kj 
cu k jg h gSA ,d g kj cu k us ds fy , 
o g fp= esa fn [kk , x, vu qlkj ] 
e k sfr;k sa ds i SVuZ dks pk j ckj 

lHk h vkB g k j cu k u s ds 
fy , fdrus dky s v kSj lQsn eu dksa 
dh vk o’;drk g k sxh \ 

 

v kSj  lQsn  4  

 v kSj lQsn 96 

 v kSj lQsn 128 

 v kSj lQsn 40 

g fjr Økf Ur ds tud dkSu F ks \ 

 jeu  

ts0 v Cnqy dy ke 

j kds’k ‘k e kZ 

0 Lo ke hu kF ku 
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49. Amitoj and her three friends were

working with even and odd

numbers. They observed that

there are patterns when we add

even numbers or odd numbers.

They made the following claims

Rama : When we add two odd

numbers, we always get an odd

number.  

Amitoj : When we add

numbers, we may either

odd number or an even

 

Rakhi : When we add two odd

numbers, we always get an even

number. 

Shekhar : When we add two odd

numbers, we always get a prime

number. 

Whose claims is correct

(1) Rama’s (2) Amitoj’s

(3) Rakhi’s (4) Shekhar’s

50. Identify the insectivorous plant

given in the picture and choose the

appropriate option : 

 

(1) Pitcher Plant 

(2) Venus Flytrap 

(3) Amarbel 

(4) Lotus Flower 

( 16 ) 

 

Amitoj and her three friends were 

working with even and odd 

numbers. They observed that 

there are patterns when we add 

even numbers or odd numbers. 

They made the following claims : 

: When we add two odd 

numbers, we always get an odd 

Amitoj : When we add two odd 

numbers, we may either get an 

odd number or an even number. 

When we add two odd 

numbers, we always get an even 

Shekhar : When we add two odd 

numbers, we always get a prime 

correct ? 

Amitoj’s 

Shekhar’s 

  49. v fe rkst v kSj m lds rhu n ksL r le
v kSj  f o”ke  la[
dj  jg s F ksA mUg ksaus ns[ kk f d tc os
le  la[;k ,¡ ;k fo” ke la[ ;k, ¡ tksM +rs
g Sa] rks dqN i SV uZ fn[krs g S
f uEufy f [kr n kos fd,
j e k  % tc g e n ks f o”ke  la[; kvk sa dks
tk sM +rs g Sa] rks g es lnSo ,d fo ”ke
la[ ;k i zkIr g ksrh g SA
v fe rkst %  
la[ ;kv ksa dks tksM+r s g S
f o”ke la[;k ;k le la[ ;k i zkIr gks
ldr h g SA  
j k[ kh % tc g e nk s fo”ke
dk s tksM +r s g Sa] 
la[ ;k i zkIr g ksrh g SA
‘k s[ kj  % tc ge  nks fo”ke  la[ ;kv ksa
dk s tksM +rs g Sa
v HkkT; la[;k  i zkIr g k srh g SA
f dldk n kok lg hlg hlg hlg h
(1) je k  dk 
(3) jk[ kh dk 

Identify the insectivorous plant 

given in the picture and choose the 

 

  50. f p = esa fn;s x , dhV
i g p kudj mfp r fo dYi  p qu s
 

(1) ?kVi .k hZ 
(2) ohu l ¶y k bZV ªSi
(3) vej csy 
(4) dey dk Qwy

 

v fer kst vk Sj mlds rh u nksL r le 
v kSj  fo ”ke la[;k vk sa ds lk F k dke 
dj  jg s Fk sA m Ug ksau s ns[k k fd tc os 
le la[ ;k,¡ ;k f o”ke la[;k ,¡ tksM +r s 

r ks dqN i SVu Z fn[k rs g SaA mUg k asu s 
fu Eufy f[ kr nk os f d, %  
j e k % tc g e nk s fo ”ke la[;kv ksa dks 

] rks g es ln So ,d f o”ke 
la[ ;k i zkIr g ksrh g SA 
v fer kst % tc g e n ks f o”ke 
la[ ;kv ksa dks tksM+rs gSa] rks g esa ; k rk s 
fo ”ke la[ ;k ; k le la[; k izkI r gks 

j k[k h % tc ge n ks fo ”ke la[; kvksa 
 rks g e sa g es’kk  ,d le 

la[ ;k i zkIr g ksrh g SA 
‘ks[ kj %  tc  ge n ks fo ”ke la[;kvk sa 
dks tk sM +rs g Sa] rk s ge sa lnSo , d 
v HkkT; la[ ;k izk Ir g ksrh  g SA 

lg hlg hlg hlg h g S \ 
(2) v fer kst dk 

 (4) ‘ks[ kj  dk 

fp = e sa f n;s x, dh VHk{ kh i k S/ ks dks 
i g p ku dj m fp r fodYi p qu sa % 

 

o hul ¶y kb ZVªSi  

dey  dk Qwy 
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51. Where is Kalpana Chawla 

Planetarium situated 

(1) Hisar (2) Karnal

(3) Kurukshetra (4) Fatehabad

52. Mintu, the frog is hungry. Mintu

sitting on the 3rd step. Suddenly,

he saw Chintu, the grasshopper,

sitting on the 12th step. He

planned to eat the 

and started jumping three steps at

a time. Chintu was also alert. He

tried to avoid Mintu. So, he

started jumping two steps at a

time. At which step, Mintu can

catch Chintu ? 

(1) 24 (2) 20

(3) 16 (4) 14

53. In Braille language, with how

many dots, alphabets are formed

 

(1) Five (2) Six

(3) Eight (4) Four

54. Which Vitamin is present in

abundance in Amla ? 

(1) Vitamin A (2) Vitamin D

(3) Vitamin B (4) Vitamin C

( 17 ) 

 

Where is Kalpana Chawla 

 ? 

Karnal 

Fatehabad 

  51. dYi u k p k oy k Iy S
g S \ 

(1) fg lk j 

(3) dq:{ ks= 

Mintu, the frog is hungry. Mintu is 

sitting on the 3rd step. Suddenly, 

he saw Chintu, the grasshopper, 

sitting on the 12th step. He 

 grasshopper 

and started jumping three steps at 

a time. Chintu was also alert. He 

tried to avoid Mintu. So, he 

started jumping two steps at a 

time. At which step, Mintu can 

 

20 

14 

  52. f e aVw e sa<d dks Hkw[ k y xh gSA 
r hlj s [ kku s e sa cSB k g SA r Hk h mldh
u tj 12osa [ kkus i j cSB s f VM~M s i j
i M+hA mlu s fVM~M s dks [k ku s dh
; kstu k cu k bZ vk Sj rhu&rh u [ kku k sa dh
N y kax yx ku h ‘kq: dh A f p aVw Hkh
lp sr  Fkk  mlu s fe aVw 
f y ,] n ks&n ks [k ku k sa dh Ny kax y xk uh
‘k q: dh A b uesa 
i g q¡p dj f e aVw] fp aVw dk s i dM + ldrk
g S \ 

(1) 24 

(3) 16 

In Braille language, with how 

many dots, alphabets are formed ? 

Six 

Four 

  53. c zsy fyf i e sa fdru s fcan qv ksa }k jk o.kks± 
dh  vk d`f r;ksa dk  fue k Z.k  fd;k tk rk
g S \ 

(1) i k¡p   

(3) vk B 

Which Vitamin is present in 

 

Vitamin D 

Vitamin C 

  54. v k¡o y k e sa dk Su
e k= k esa i k; k tk rk g S

(1) foV kfeu A

(3) foV kfeu B

D 

P. T. O. 

dYi u k p koy k Iy Su sVsfj;e dg k¡ fL F kr 

(2) dj u ky 

(4) Qr sgkck n 

fe aVw e sa<d dks Hkw[k  y xh  g SA feaVw 
rh ljs [k ku s e sa cSB k g SA rHkh m ldh 

osa [kk us i j cSB s fVM ~M s i j 
i M+hA mlu s fVM ~M s dks [kk u s dh 
;k stu k cu kb Z v kSj rhu&rhu [kku ksa dh 
Ny k ax yxk u h ‘kq: dhA fp aVw Hkh 
lp sr Fkk mlu s f e aVw ls cp us ds 
fy ,] nk s&n ks [kku ksa dh Ny kax y xkuh 
‘kq: dhA bu esa ls dkSu&ls [kk u s i j 
i g q¡p dj fe aVw] fp aVw dks i dM + ldrk 

 

(2) 20 

(4) 14 

esa fdrus fcan qv ksa }kj k o .kk s± 
v kd`fr;ksa dk f ue kZ.k f d; k tkrk 

(2) N % 

(4) p k j 

oy k  e sa dkSu &lk foV kfeu i zpqj  
e k = k esa i k;k tkrk g S \  

A (2) f oVk feu D 

B (4) f oVk feu C 
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55. Najma’s mother used her own

method of multiplication to

multiply 18 by 5 and told 

broke 18 into 10 and 8. Now

multiplying 8 by 5, I got 40 and

10 × 5 = 50. Then I added 50 and

40 and got 90. 

Which of the following pictures 

represents the way she did it

(1)
   

(2)

  

(3)

  

(4)

  

Direction : (Question No. 

In the following questions 

are given which are in the given order. 

These words have to be arranged in a 

systematic order and then choose the 

correct option from given four options

which shows meaningful order of

56. a. Flower, b. Leaf, c

d. Root, e. Fruit 

(1) d→c→a→e→b 

(2) c→d→b→a→e 

(3) d→c→b→a→e 

(4) c→b→d→a→e 

( 18 ) 

 

Najma’s mother used her own 

method of multiplication to 

multiply 18 by 5 and told – “First I 

broke 18 into 10 and 8. Now 

multiplying 8 by 5, I got 40 and 

50. Then I added 50 and 

following pictures 

way she did it ? 

 

 

 

  55. utek dh ekrk th us 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 
ßigys eSaus 18 
vc 8 dks 5 
40 vkSj 10 ×

vkSj 40 dks tksM+ fn;k] rks 
b ue sa ls dkSu
f d;s x , rjh ds dks n’kkZ jg k gS

(1)
 

(2)

 

(3)

 

(4)

 

Direction : (Question No. 56 and 57) 

 some words 

the given order. 

to be arranged in a 

order and then choose the 

option from given four options, 

which shows meaningful order of words. 

  fun sZ’k %  ¼i z’u  la[ ;k fun sZ’k %  ¼i z’u  la[ ;k fun sZ’k %  ¼i z’u  la[ ;k fun sZ’k %  ¼i z’u  la[ ;k 
i z’u k sa e sa dqN ‘kCn g Sa tk s f d
Øe e sa g SaA bu ‘kCn ksa dks
ltku k  g S rF kk mlds c kn fn,  p kj  f odYi ksa 
e sa ls lg h fo dYi  dks p quu k g S] tks ‘k Cnksa
dk lkF kZd Øe n’kk Z,A

Leaf, c. Trunk,   56. a. Qwy ] b. i Ùkk
e. Qy  

(1) d→c→a→

(2) c→d→b→

(3) d→c→b→

(4) c→b→d→

 

utek dh ekrk th us 18 dks 5 ls 
xq.kk djus ds fy,] xq.kk djus dk 
viuk rjhdk viuk;k vkSj crk;k & 

 dks 10 vkSj 8 esa rksM+k 
 ls xq.kk fd;k] rks vk;k 
× 5 = 50, fQj eSaus 50 

dks tksM+ fn;k] rks 90 vk;kA  
b ue sa ls dkSu&lk fp= muds } kjk 
fd; s x,  rj hds dk s n ’k kZ jg k  g S \ 

  

 

 

 
fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k fun sZ’k  %  ¼i z’u la[;k 56    ,o a ,o a ,o a ,o a 57½½½½  fuE u 

‘k Cn g Sa tks fd vO ;ofL F kr 
A bu ‘kCn ksa dks O;o fL F kr Øe e sa 

m lds ckn  fn , p kj fodYi k sa 
lg h fodYi dks p quu k g S] tks ‘kCnksa 

dk lk Fk Zd Øe n’kkZ, A 

i Ùkk] c. ru k] d. tM +] 

→e→b 

→a→e 

→a→e 

→a→e 
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57. a. District, b. Village, c

d. State, e. City 

(1) b→e→a→d→c 

(2) d→c→a→b→e 

(3) b→a→d→e→c 

(4) b→a→e→d→c 

58. Shama has 5 coins with her. The

coins are either of ` 1, 
She has each type of the three 

coins denominations. What is the

amount of money that

have ? 

(1) ` 15  (2) ` 12  (3)  `

59. Which bird can rotate its head by 

360° ? 

(1) Peacock (2) Owl

(3) Sparrow (4) Parrot

60. Fill in the following blank by 

choosing the appropriate option

The Dolphin found in the ocean is 

a/an .............. . 

(1) Animal from reptile family

(2) Animal from fish family

(3) Child – bearing animal

(4) Animal from bird family

Direction : (Question No. 

Select the water image of the given 

figure/word. 

61. 

 

(1)

   

(2)

 

(3)

  

(4) 

( 19 ) 

 

Village, c. Country,   57. a. fty k ] b. 
e. ‘kg j 
(1) b→e→a→

(2) d→c→a→

(3) b→a→d→

(4) b→a→e→

Shama has 5 coins with her. The 

1, ` 2 or ` 5. 
has each type of the three 

denominations. What is the 

amount of money that she cannot 

` 10 (4)  ` 13 

  58. ‘k e k ds i k l 
# i ;s] 2 #i ;s ;k 
m lds i k l rhu ks
b ue s ls dk Su&lh j kf’k mlds i kl
u g ha g ks ldrh 
 
(1) ` 15  (2) `

Which bird can rotate its head by 

Owl 

Parrot 

  59. dk Su&lk  i{ kh vi u k flj  
? kqe k ldrk g S 
(1) e ksj  
(3) xkSj S;k 

Fill in the following blank by 

choosing the appropriate option : 

The Dolphin found in the ocean is 

Animal from reptile family 

Animal from fish family 

bearing animal 

Animal from bird family 

  60. f uEu [k ky h LF kk u dks mfp r fodY
p qu dj Hk jsa % 
le qnz e sa i k ;h tku s okyh  Mk
.............. g SA 
(1) ljhl`i  dh tkfr  dk tho
(2) eNfy; ksa dh tkfr dk tho
(3) cPp s i Snk dju s oky k th o
(4) i f{ k; ksa dh tkf r dk tho

Direction : (Question No. 61 and 62) 

Select the water image of the given 

  fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k 
v kd`fr@‘kCn  dk ty  i zfrf cac p qfu, A

 

 

  61. 

(1)

  

(3)

 

D 

P. T. O. 

 x k¡o] c. ns’k ] d. jk T; ] 

→d→c 

→b→e 

→e→c 

→d→c 
‘ke k  ds i kl 5 flD ds g SaA flDds 1 

#i ; s ; k 5 #i; s ds g SaA 
mlds i kl rhu k sa ewY; oky s flDds g SaA 
b ue s ls dkSu&lh jk f’k m lds i k l 

 \ 

` 12  (3)  ` 10 (4)  ` 13 
lk i {k h vi uk flj 360° rd 

?k qe k ldrk g S \ 
(2) m Yy w 
(4) r ksrk 

fu Eu [kk y h LF kku dks m fp r fo dYi  

n z esa i k; h tku s ok yh M kWfYQu , d 
 

lj hl`i  dh tkfr dk th o 
e Nfy;k sa dh tkfr dk th o 
c Pp s i Sn k dj u s oky k tho  
i f{ k;k sa dh tkfr dk tho 

fun sZ’k  % ¼i z’u la[;k  fun sZ’k  % ¼i z’u la[;k  fun sZ’k  % ¼i z’u la[;k  fun sZ’k  % ¼i z’u la[;k  61    ,o,o,o,o aa aa     62½½½½ n h xbZ 
vk d`f r@‘kCn dk ty  izf rfcac  p qfu ,A 

 

 

(2)

  

 

(4) 
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62. 

 

(1)
   

(2)
 

(3)
  

(4)
 

63. Egrets are solitary birds. Which of

the statement(s) is/are 

relation to Egrets ? 

i. They site on buffaloes and

picks out worms from

the hair on their

eating. 

ii. Hang around cattle and are 

very beneficial for cattle

farmers. 

iii. They sleep in water only.

(1) Only ii 

(2) Only i and ii 

(3) All i, ii, iii 

(4) Only ii and iii 

64. Who was the first Law Minister in 

Independent India ? 

(1) Bhimrao Ambedkar

(2) Sardar Vallabhbh

(3) Mani Shankar Aiyar 

(4) Maulana  Abul Kalam

( 20 ) 

 

 

 

  62. 

(1)
   

(3)
  

Egrets are solitary birds. Which of 

/are true in 

They site on buffaloes and 

worms from beneath 

the hair on their skin for 

Hang around cattle and are 

beneficial for cattle 

They sleep in water only. 

  63. , xzsV~l ,dkUr  e sa jg u s oky k  i {k h g SA 
, xzsV~l ds lac a/k e sa dkSu

lR ;lR ;lR ;lR ; g S \ 

i. os v dlj HkSalks
[kk u s ds 
cky k sa ds u hp s ls
g SaA 

ii. eosf’k ;ksa ds p kj ksa vks
i ’kqi ky dksa ds fy , cg qr Qk;n se an
g SaA 

iii. os i kuh  e sa g h lksrs g SaA

(1) dsoy ii 

(2) dsoy i vkSj

(3) lHk h i, ii, iii

(4) dsoy ii vkSj

Who was the first Law Minister in 

Bhimrao Ambedkar 

hai Patel 

Mani Shankar Aiyar  

Maulana  Abul Kalam 

  64. L o rU= Hkkj r ds i zFke dku wu eU= h 
dk Su F ks \ 

(1) Hk hej ko vEc sMdj

(2) ljn kj  oYy Hk Hk kb Z i V sy

(3) ef.k’kadj  v ¸;j

(4) e kSy ku k v cqy dy ke

 

 

 
(2)
 

 

 
(4)
  

~l , dkUr e sa jg u s o ky k i {kh g SA 
, xzsV~l ds laca/k  e sa dkSu&lk dF k u 

o s v dlj Hk Salk sa i j cSBrs g Sa vkSj 
 fy , mudh R op k i j 

c ky ksa ds u hps ls dhM+s fudkyrs 

e osf’k; ksa ds p k jksa vk sj ? kwers g Sa o 
i ’kqiky dk sa ds fy , cg qr Qk; nse an 

o s i kuh e sa g h lksrs g SaA 

v kSj ii 

i, ii, iii 

v kSj iii 

kjr  ds i zFk e dk u wu eU= h 

Hkh ejk o vEcsM dj 

lj nk j oYy Hk Hkk bZ i Vsy  

e f.k’kadj v¸; j 

e kSy ku k v cqy dy ke 
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65. Sahil took a bus at 7:40 a.m. from

Delhi. He reached Haridwar after 

6 hours 25 minutes. At what time

did he reach Haridwar

(1) 1:05 a.m.  

(2) 2:05 a.m. 

(3) 2:05 p.m.  

(4) 1:15 p.m. 

Direction : (Question No. 

the following questions a 

number is given. Select the 

resembles the mirror image

question figure/word/number.

66. 

 

(1)
   

(2)
 

(3)
  

(4)
 

67. 

 

(1)
   

(2)
  

(3)
  

(4)
  

( 21 ) 

 

Sahil took a bus at 7:40 a.m. from 

He reached Haridwar after 

hours 25 minutes. At what time 

did he reach Haridwar ? 

  65. lk fg y u s i zkr%  
c l y hA 6 ?kaVs 
g fj }kj ig q¡p kA og  fdr u s cts
g fj }kj i g q¡p k 

(1) 1:05 a.m. 

(2) 2:05 a.m. 

(3) 2:05 p.m. 

(4) 1:15 p.m. 

Direction : (Question No. 66 to 69) In 

 figure/word/ 

 option which 

resembles the mirror image of the 

question figure/word/number. 

  fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k fun sZ’k % ¼i z’u la[ ;k 
x,  i z’u ksa esa v kd`fr@
g SA vki  ml fodYi  dk p ;u dj sa tks iz’u
v kd`fr@‘kCn @la[;k ds niZ.k i zfrfcac
fn [kr k g SA 

 

 

  66. 

(1)
  

(3)
 

  67. 

(1)
  

(2)
 

(3)
 

(4)
 

D 

P. T. O. 

lkf g y us izk r%  7:40 i j fn Yy h ls 
?k aVs 25 feuV ds ckn og  

p k A og fdru s cts 
 \ 

  

 

  

 

fun sZ’k  % ¼i z’u  la[;k  fun sZ’k  % ¼i z’u  la[;k  fun sZ’k  % ¼i z’u  la[;k  fun sZ’k  % ¼i z’u  la[;k  66    lslslsls     69½½½½ fuEu fn, 
vk d`fr@ ’kCn@la[ ;k n h xb Z 

f odYi  dk  p;u djsa tks i z’u 
vk d`f r@‘kCn@la[ ;k ds niZ.k izfr fcac tSlk  

 

 
(2)
  

 
(4)
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68. 

 

(1)

   

(2)

 

(3)

  

(4)

 

69. 

 

(1)

   

(2)

 

(3)

  

(4)

 

70. Which disease is caused by 

polluted water ? 

(1) Hepatitis B 

(2) Lung Cancer 

(3) Asthma 

(4) Pneumonia 
 

( 22 ) 

 

 

 

  68. 

(1)

  

(3)

 

 

 

  69. 

(1)

  

(3)

 

Which disease is caused by   70. x ans i ku h ls g ksu s oky h c he kj h 
dk Su&lh  g S \ 

(1) g si sV kb fVl ch

(2) QsQM +ksa dk dSalj

(3) ne k 

(4) fue k sfu;k 

 

 

 

(2)

  

 

(4)

  

 

 

(2)

  

 

(4)

  

ls g k su s o ky h che kjh 
 

f Vl c h 

QsQM +k sa dk dSalj  



( 23 ) 

jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, / FOR ROUGH WORK 



  

    

5. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd 
uhps fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn 
mÙkj okys [kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk 
mÙkj xyr ekuk tk,xkA 

        5. Answers   to  questions  in answer sheet are  to  be  
given by darkening complete circle using black ball 
point pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as given 
below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z iz'u iqfLrdk esa bl iz;kstu ds fy, nh xbZ 
[kkyh txg ij gh djsaA 

        6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy mÙkj i=d (OMR) ij gh vafdr 
djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus 
gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

        7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, mÙkj i=d (OMR) ij dsoy ,d gh 
o`Ùk dks iwjh rjg dkys ckWy IokbaV iSu ls HkjsaA ,d 
ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk 
ldrk gSA 

        8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed 

to be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u 
tk,  ,oa ml ij dksbZ vU; fu’kku u yxk,¡A 
vH;FkhZ viuk vuqØekad mÙkj i=d esa fu/kkZfjr 
LFkku ds vfrfjDr vU;= u fy[ksaA 

        9. The candidate should ensure that the Answer Sheet is 

not folded. Do not make any stray mark on Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. iz'u iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] 
D;ksafd fdlh Hkh ifjfLFkfr esa ¼dsoy iz'u iqfLrdk ,oa 
mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ 
nwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhAnwljh iz'u iqfLrdk lSV miyC/k ugha djokbZ tk,xhA 

        10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of 

Test Booklet will not be provided. 

11. iz'u iqfLrdk@mÙkj i=d esa fn, x, Øekad dks 
vH;FkhZ lgh rjhds ls gkftjh i= esa fy[ksaA 

        11. The candidate will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds 
vfrfjDr fdlh izdkj dh ikB~; lkexzh] eqfnzr ;k 
gLrfyf[kr dkxt dh ifpZ;k¡] istj] eksckby Qksu] 
bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh 
dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

        12. Candidate is not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. fujh{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk 
izos’k&i= ¼jksy ua0½ fn[kk,¡A 

        13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k fujh{kd dh fo’ks"k vuqefr ds fcuk 
dksbZ vH;FkhZ viuk LFkku u NksMa+sA 

        14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA         15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa iz'u&iqfLrdk ,oa mÙkj&i=d dk dksbZ 
Hkkx vyx u djsaA 

        16. No part of test Booklet and Answer-sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ ijh{kk d{k@gkWy 
NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo’; 
lkSai nsaA vH;FkhZ vius lkFk iz'u iqfLrdk dks ys tk 
ldrs gSaA 

        17. On completion of the test, candidate must hand over the 

Answer Sheet to the Invigilator in the Room/Hall. The 

candidate is allowed to take away this Test Booklet with 

them. 
 

� � 
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